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1.

2.1

2.2

ABSTRACT
THIS PROGRAM TESTS THE LSI=11 BASIC INSTRUCTION SET

IN AL MODES. THE DIAGNOSTIC IS DESIGNED TO RUN UNDER
BOTH APT. AND ACT. SYSTEMS

REQUIREMENTS

EQUIPMENT

L>i=11 STANDARD COMPUTER
AND 4X OF MEMORY

STORAGE
PROGRAM STORAGE = THE ROUTINES USE MEMORY 0 - 17500

PREL IMINARY PROGRAMS
NONE

LOADING PROCEDURE
USE STANDARD PROCEDURL FOR ABS TAPES.

STARTING PROCEDURE

STARTING ADDRESS

AFTER LOADING THE PROGRAM IT SHOULD ALWAYS BE STARTED AT 200.

IF 1T IS DESIRED TO SAVE THE PASS COUNTER THEN CLEAR THE

LOCATION $TESTN [I1.E. LOCATION 102] AND RESTART FROM 450 OTHERWISE
THE PROGRAM CAN BE RESTARTED AT 200. IF IT IS DESIRED TO GO TO A TEST
QTHER THAN TEST # O THEN PLACE THE TEST NUMBER IN LOCATION STESTN
AND RESTART THE PROGRAM AT 450, IN WHICH CASE THF PROGRAM WILL HALT
AT LOCATION 464 AND wiLL WAIT FOR THE OPERATOR Tu PLACE THE

STARTING ADDRESS OF THE DESIRED TEST IN PC (R7) AND TYPE A P,

SEQ 0003
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PROGRAM AND/OR OPERATOR ACTION

1) PLACE LTC SWITCH IN OFF POSITION.

2) LOAD PROGRAM INTO MEMORY USING ABS LOADER.

3) TYPE 200G [ THERE ARE NO SWITCH SETTINGS AND THIS DIAGNOSTIC
DOES NOT USE SOF TWARE SWITCH LOCATION $SWREG J

4&) THE PROGRAM WILL LOOP AND ‘END PASS'‘ WILL BE TYPED AFTER
THE FIRST PASS AND THEN EVERY 377 PASSES. HOWEVER TYPE OUT
WILL BE SUPPRESSED IF BIT 5 OF LOCATION $ENVM [S HIGH

5) A MINIMUM OF TWO PASSES SHOULD ALWAYS BE RUN.

OPERATING PROCEDURE

OPERATING MODE :

AN 8 BIT BYTE $ENVM [I.E. LOCATIiON 117] HAS BEEN USED TO DEFINE
THE OPERATING MODE. ALL TYPEOUTS CAN BE SUPPRESSED BY MAKING
BIEA?IS& ?:gf $ENVM HIGH, IN OTHER WORDS BY PLACING A 20000 IN
LJ .

TRAP CATCHER
A ‘.+2"" = "HALT'' SEQUENCZ IS REPEATED FROM 0-776 TO CATCH

ANY UNEXPECTED TRAPS. THUS ANY UNEXPECTED TRAPS OR
INTERRUPTS WILL HALT AT THE VEZTOR +2.

ERRORS

ERROR REPORTING

ON FINDING AN ERROR THE PROCESSOR WILL COME TO A HALT AFTER
PLACING THE ERROR NUMBER IN LOCATION $FATAL [I.E. LOCATION 100].
IN MOST CASES THE COMMENTS BESIDES THE HALTS TELL WHAT_WAS BEING
CHECKED. IN SOME CASES THE TEST CAN GET TO A HALT VIA 2 WAYS:

1) WRONG TEST SEQUENCE
2) ERROR IN ACTUAL TEST

WHEN A HALT DOES OCCUR IT 15 RECOMMENDED THAT THE TEST SEQUENCE
LOCATION [I1.E. LOCATION 1027 BE CHECKED TO VERIFY THAT IT MATCHES
THE PRESENT TEST NUMBER. IF IT DOESN'T, THEN THE HALT OCCURED
BECAUSE THE TEST SEQUENCE WAS NOT CORRECT OTHERWISE THE HALT I5
DUE TO AN ERROR IN THE TEST.

SEQ 0004
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CVKAAC.P11 09-0(T-78 0B:58 SEQ 0005
38% 6.2 ERROR RECOVERY
é RESTART AT 200 OR 450 (SEE SEC 4.1)
Ts RESTRICTIONS
NONE
1
1
8. MISCELLANEOUS

8.1 EXECUTION TIME

EXECUTION TIME OF THE DIAGNOSTIC IS LESS THAN A SECOND, FIRST
“END PASS'* WILL BE TYPED OUT WITHIN A SECOND AND EVERY COSECUTIVE
"END PASS'' WILL BE TYPED OUT WITHIN 20 SECONDS (SEE SEC 4.2)

WHEN RUNNING UNDER APT IN A SCRIPT, THE FIRST PASS RUN TIME
AND SUBSEQUENT PASS RUN TIMES ARE ONE (1) SECOND.

NNNNNN—G.‘_L-Q-J_Q-J—a
O NP NS W) —=O00 NN W =O

MIRINUNUNU N NUN NITOND N NN PN NN PRI RUNONONINY

2

5 8.2 STACK POINTER

%0 STACK IS INITIALLY SET TC 450

3

3

%‘ 5.3 PASS COUNT

35 A 16 BI1 LOZATION "'$PASS'' (I1.E. LOCATION 104) IS USED TO KEEP
S%g PASS COUNT. IT CAN BE CLEARED BY RESTARTING THE PROGRAM AT 200
238

239
g:g 8.4 TEST NUMBER
242 A 16 BIT LOCATION "$TESTM'' (1.E. LOCATION 102) IS USED TO KEEP TRACK
243 OF THE TEST NUMBER, UPPER BYTE OF THIS _OCATION GIVES THE ITERATION
?2g NUMBER AND THE LOWER BYTE THE TEST THAT WAS BEING EXECUTED

L

227 8.5 POWER FAIL
S«g THE DIAGNOSTIC CAN BE POWER FAILED WITH NO ERRORS. TO USE,

250 START THE DJAGNOST:C AS USUAL AND POWER DOWN THEN UP AT ANY TIME.
291 THE PROGRAM SHOULD TYPE ‘POWER'' AND RESTART AT 450 WITH TEST # O
25¢ HOWEVER THE DIAGNOSTIC wiLL NOT RECOVER If IT IS STORED IN A

ggz MEMORY NOT CAPABLE OF HOLDING DATA WITH POWER DOWN

267 9, FROGRAM DESCRIPTION
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THIS PROGRAM TESTS ALL THE BASIC INSTRUCTIONS OF THE LSI=11 (EXCEPT
TRAP=TYPE) WHICH INCLUDES CONTROL CHIP, DATA CHIP, MICROMS, PLA,
AND OTHER CIRCUITRY ON THE LSI=-11 CPU MODULE. TRAP DIAGNOSTIC
SHOULD ALSO BE RUN 7O MAKE SURE THAT THE BASIC LSI=11 IS FUNCTIONAL
THiS DIAGNOSTIC DOES NOT MAKE A PASS WITH T-BIT SET.

SEQ 0006
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‘s LSI 1 MACRO INSTRUCTION EXERCISER
CNLIST MC,MD,CND
LIST ME

LTITLE CVKAAC

;«COPYRIGHT (C) 1975, 1978

:*DIGITAL EQUIPMENT CORP.
'MAYNARD MASS. 01754

'DROGRAM BY PERVEZ ZAK]

-YHIS PROGRAM WAS ASSEMBLED USING THE PDP=11 MAINDEC SYSMA(
'DAFKAGE (MAINDEC=11=DZQAC=C3), JAN 19, 1977.

iT:
$SwR=16000C -:ALT ON ERROR, LOOP ON TEST, INHIBIT ERROR TYPOUT
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CUKAAL P 0G=0r 1=78 0B:58 SEQ 0008
00000 .=0
291
s,;% ;:tttttQQtttttttttttttttttittttttﬁttt'tttttttttttttttt!tltt.tiltt
ggg : TRAP CATCHERS OF .+2 AND HALT IN LOCATIONS O THRU 776 [IT IS NLISTED]
529 LSBTTL ACT11 HOOKS
% ;.-ttttltttttttttttttlttttttttttittﬁltt!tttlitttt.tlt!ﬁﬁi&ltlttttt
:H00KS REQUIRED BY A(T11
Q01000 $SVP(=. :SAVE PC
1 00004 =46
% 000046 0473 $ENDAD ::1)SET LOC.46 TO ADDRESS OF S$END~D IN .SEOP
30 000052 .=5¢
000052 (C0CQ00 .WORD O ::2)SET LOC.52 TO ZERO
5 001900 .=$SV2(C ;2 RESTORE PC
7
308
309
210
211
312
213
314
315
316
317
318
219 000G76 =276
320 000000 RO =20
321 000001 R1 =31
322 000002 R2 =%X2
323 000003 R3 =%3
324, 000004 R& =%
325 000005 RS =%5
3246 000006 R6 =%6
%%7 000006 SP =%6
P{ 74
CLNZ =254
ERRNM =
NOP1 =260
SEVC =263
SENVC =273
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CVKAAC P11 09=0CT=78 0B:58 APT MA]LROX-ETABLE SEQ 0009
39 _SBTTL APT MAILBOX-ETABLE
is ;:tttttttttttttttttttttttttt'ttﬂtlttttlttttttttttttlQttt‘.‘.-.ttt'tttootnttn.
9 LEVEN
0 76 SMAIL : . :APT MAILBOX
1 76 000000 SMSGTY: .WORD AMSGTY ::MESSAGE TYPE CODE
§ 000183 888888 $FATAL: .WORD AFATAL ;:FATAL ERROR NUMBER
0001 S$TESTN: .WORD ATESTN ;;TEST NUMBER
4 104 888888 $PASS: .WORD APASS  ;;PASS COUNT
5 106 $DEVCT: .WORD ADEVCT ;;DEVICE COUNT
36 888110 000000 SUNIT: .WORD AUNIT  ;;1/0 UNIT NUMBER
7 112 000000 $MSGAD: .WORD AMSGAD ;;MESSAGE ADDRESS
8 000114 000000 $MSGLG: .WORD AMSGLG ;;MESSAGE LENGTH
9 000116 $E TABLE : . :APT ENVIRONMENT TABLE
350 000116 000 $ENV: .BYTE  AENV : :ENVIRONMENT BYTE
51 000117 000 SENVM: .BYTE AENVM  ;:ENVIRONMENT MODE BITS
S§ 000120 0Q000GO SSWREG: .WORD  ASWREG ;;APT SWITCH REGISTER
5 888152 000000 $USWR: .WORD AUSWR  ;;USER SWITCHES
54 124 000000 $CPUOP: .WORD  ACPUOP ;;CPU TYPE,OPTIONS
gss i BITS 15-11=CPU TYPE
56 T 11/04=01,11/05=02,11/20=03,11/40=04,11/45=05
%57 i 11/70=06,PD0=07,0=10
258 i BIT 10=REAL TIME CLOCK
ggg i BIT 9=FLOATING POINT PROCESSOR
i* BIT 8=MEMORY MANAGEENT
1 000126 $ETEND:
§ MEXIT
35 "SBTTL APT PARAMETER BLOCK
5 ;;tttttttttttltttlltttttttttttlttttt*wﬁtttttttttttttttltttttttttttlit.ttttt't
“SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
? ::tttttlttttttitttttttttttttititlttttttttttttttttttttttttttttttitQtitttt-tttt
000126 .$X=.  ::SAVE CURRENT LOCATION
9 000053 =2k <:SET POWER FAIL TO PQINT TO START OF PROGRAM
0 000026 0002 200 ::FOR APT START UP
000044 . =bb ::POINT TO APT INDIRECT ADDRESS PNTR.
000044 000126 $APTHDR ::POINT TO APT HEADER BLOCK
000126 .=.$X  ::RESET LOCATION COUNTER

':ittttti*tﬁﬁi..'tii.ﬁiIfli***ﬁ'i*tﬁ‘tltitilit!tt*'*tttt‘itt..!tttltttll""t

"SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC
*INTERFACE SPEC.

126 $APTHD :

126 888800 $HIBTS: .WORD O -:TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

130 76 SMBADR: _WORD SMAIL - -ADDRESS OF APT MAILBOX (BITS 0-15)

132 000001 $7STM: .WORD 1 “'RUN TIM GF LONGEST TEST

13 000001 $PASTM: .WORD | :SRUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)

13 000000 SUNITM: .WORD ZADDITIONA! RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
140 000014 "WORD  SETEND=SMAIL/? ::LENGTH MAILBOX~E TABLE (WORDS)
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CVKAAC P 09=0CT=78 08:58 APT PARAMETER BLOCK SEQ 0010
5 000126 .=SAPTHD
000126 ADR:
7 000130 .=ADR+2
000130 ADR1:
000132 .=ADR1+2
0001%2 ADRZ:
91 000134 .=ADR2+2
g 000134 DUMMY :
000136 .=DUMMY +?2
000136 TEMP:
95 000140 =TEMP+2
96 000140 TEMP1 :
97 000142 =TEMP1+2
000142 TEMP2:
399 000144 =TEMP2+2
400 000144 177564 TPS: 177564 : OUTPUT TTY STATUS REGISTER
401 146 177566 TPR: 177566 : OUTPUT BUFFER
40 150 006402 MARK?: MARK 2
40 000152 005015 042440 0Q4c11€ ENDPAS: JASCIZ  <15><12>"' END PASS''
28? 000160 050040 051501 000123 il
&4 888166 005015 047520 042527 POWER: .ASCIZ <15><12>/POWER/
40 174 000122
40 .EVEN
2?0 000176 000023 BLKW 19,
411 000020 .=
412 000020 Q17004 TYPE

413 000022 000000 0
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CVRAAC.P11 U9=-0CT~78 0B:58 STARTING OF THE PROGRAM SEQ 0011
417
418 :STARTING OF THE PROGRAM
619 :
4
421
4 § Q ;gg .=200 '
4 Spo 01 016754 000024 MOV #PWRDN , a#24 : SERVICE POWER DOWN ROUTINE ON ANY FUTURE POWER DOWN
424 Os 012700 000116 MOV #SETABLE ,RO
425 1 5049 2%: CLR -(R0O) :START CLEANING THE STACK
4 9 14 020 200076 CMP RO,A#SMAIL :FOR INITIALIZATION
4 000 go 101374 EBHI 2%
2 000222 000167 000222 JMP START
4
43
23; 000450 .=450
4 000450 012706 000450 START: MOV #START,SP : SET THE STACK POINTER
435 000454 012705 000102 MOV #$TESTN,RS : PLACE THE ADDRESS OF LOCATION $TESTN IN R5
4 000460 005715 TST (RS) : CHECK THE SEQUENCE COUNTER
437 000462 001407 REQ NOBIT : IF THIS IS THE STARTING OF THE TEST THEN
4 : GO TO NOBIT TEST
439 000464 000000 HALT : OTHERWISE HALT AND WAIT FOR THE OPERATOR
440 : TO START AT THE PROPER TEST NUMBER

>
l o
s
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TVKAAC.P1T 08-0CT=-78 08:58 10 CHECK BRANCH INSTRUCTIONS WITH ZERO CONDITION CODES SEQ 0012
“ :.'l'ttttttttttttltttttttttttttttttttiﬁt.ttttttttiltttlttitQ.ttttttttttttttttQ.
&4 :«TEST: O CHECK BRANCH INSTRUCTIONS WITH ZERO CONDITION CODES
“l‘ '-.-ttt*tttttttttttttttttt'tttttttttttit!ﬁttttttttttt.ttttﬁttttttttttttttt.'tt'
445
66 NOBIT: .
229 8882?3 021527 000000 cMP (RS) ,#0
L4L8 001017 BNE cco : IF IN WRONG SEQUENCE GO TO HALT AT END OF THE TEST
449 74 5215 1%: INC (RS)
450 76 257 ccC : ZERO CONDITION CODES, NZv(C=0000
451 103414 BCS cco
45 502 102413 BYS cco
L5 5 001412 BEQ cco
45¢ 5 100411 RM] cco
455 51 000260 NOP1 : CHECK NOP1 INSTRUCTION I.E. OP-CODE 260
4 000512 103407 BCS €co
4 514 102406 BVS cco
45 518 001405 BEQ co
45 5 100404 BMI] cCcO
460 522 88%203 BLT €co
461 524 02 BLE cco
(43 526 101401 BLOS cco
L6 5 101004 BHI ENDCCO
L6h 6532 CCO:
465 532 012745 000007 MOV #1,-(R5)
5 805245 INC -(RS)
467 0 543 00000 HALT : ONE OF THE ABOVE BRANCHES FAILED OR WRONG SEQUENCE
468 00054 102000 ENDCCO: BVC NBIT
:;tttttttttttttttt*ttttQt*tttttttti*ttttt*titttttttttttttttttﬁttt'ltttttttttt
;«TEST: 1 CHECK BRANCH INSRUCTIONS WITH N BIT SET
":tttttttttttt*a*ttt*tttttt*t*irttt*tttttttttt*ttttttttttttttttitttiittttﬁtttt
NBIT:
21527 000001 CMP (RS) ,#1
1012 BNE cC1 : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THETEST
5215 1%: INC (RS)
088550 SEN ; NBIT IS SET, NZv(=1000
1 7 BPL cc?
0014006 BEQ CCI
oogoos BGE cC1
003004 BGT cC1
103403 B(CS 1
101402 BLOS cC1
103401 BLO CC1
003404 ot EBLE ENDCCT
012745 00000C¢ MOV #2,-(RS)
005245 INC -(R5)
| 000 HALT : ONE OF THE ABOVE BRANCHES FAILED OR WRONG SEQUENCE
1000 ENDI(T: BNE VBRIT




e

N 1

CYy<AAC MACY! 411055) 09-0C7~78 08:59 PAGE 14
CVKAAC. P11 1-78 08:58 12 CHECK BRANCH INSRUCTIONS WITH NEV BITS SET SEQ 0013
‘93 ":ttttttttttttttttttttttt!tttttttttttlttttlttﬁ.ttttttttt'ttIQQtitttttttttllt'
494 :«TEST: 2 CHECK BRANCH INSRUCTIONS WITH NBV BITS SET
‘95 :.-tttttttttttttttttttttttttttttttttttttttttttttttttitttttttttttttt!tt.tttttt.
4
49 vBIT:
438 021527 000002 CMP (RS) ,#2
4 1014 BNE cc2 . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
5215 $: INC (R5)
1 70 SEN
i 68 SEV = V AND N BIT SET, N7VC = 1010
10201 BvC cce
1407 BEQ cce
505 1 BPL cce
509 103405 BCS cce
5 00;20& BLT cce
5 003403 BLE cce
g 101402 BLOS cid
10 103401 BLO cce
511 003004 BGT ENDCC2
51§ e
51 12745 000003 MOV #3,-'RS)
514 45 INC =(RS)
515 HAL T : ONE OF THE ABOVE BRANCHES FAILED OR WRONG SE JUENCE
519 002000 ENDCC2: BGE (BRIT
2]
518 ; :ttttttttt 22232333333 38 ttttttt**ttittttﬁtﬁttttttttttttitt*tﬁttttttttttttttt
0 :*TEST: 3 (HECK BRANCH INSRUCTIONS WITH N,VE(C BITS SET
1 :; (23 231 T 222232223232 3232233222232 2} tﬁtttitttttttttttt*tttttit*t*tttttttttﬁtttttt
i (BRIT:
4 021527 000003 CMP (RS) ,#3
525 1013 BNE cC2 . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
9 5215 1%: INC (R5®
70 SEN
g 6 SEV
2 ! SEC . (, V, AND N BITS ARE SET, NZVC=1011
5 9 1406 BEQ £C3
5 100005 BPL &
53§ 1 8v( cC3
5% 403 BLT €c3
534 ? 402 BLE CC3
sis 1881 BHI (C3
536 P4 8GE ZBIT
53/ cC3:
238 1§7LS 000004 MoV #4,-(RS)
3 45 INC -(R5!
540 0000 HAL T ; ONE OF THE ABOVE BRANCHES FAILED
561 : ORk WRONG SEQUENCE
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CVKAAC.P11  09-0CT-78 08:58 T4 CHECK BRANCH INSRUCTIONS WITH N,Z,VEC BITS SET SEQ 0014
Sl.i .-;tttt.tiﬁtttttttttttttttttttttttitttttﬁtQtttttt'*ttitttttttt.ttlttﬁt.tt.tttt
+TEST: 4 CHECK BRANCH INSRUCTIONS WITH N,Z,VEC BITS SET
.':ttttttttttttttttttttttttttttttttttttt'ttittlttttttttt't'ﬁittttt!tttttttt.tt
54
549 000724 IBIT:
54 724 021527 000004 MP (RS) 44
548 7 1015 BNE Ccé : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
549 005215 INC (RS)
550 0007 000270 SEN
551 000736 000262 SEV
SS; 740 000261 SEC
55 7642 000264 SEZ : ALL BITS SET, NZV(C=1111
554 7644 001007 BNE ccé
555 746 100006 8PL CC4
556 750 102005 Bv( CC4
6§57 000752 103004 B(C CC4
558 000754 002403 BLT "C4
559 000756 003002 BGT CCé
560 000760 101001 I CC4
561 000762 001404 BEQ YESCC
56% 000764 CL4:
563 000764 012745 000005 MOV #5,-(RS)
564 000770 005245 INC -(RS)
565 000772 000000 HAL T : ONE OF THE ABOVE BRANCHES FAILED
566 : OR WRONG SEQUENCE
%
569 :: - ttttt'tt!tt'ﬁttlttttt'tttitttttt‘ﬁttttiittttt.iiiititttttﬁtt.ttttttttt't't
570 2'e3T: S CHECK BRANCH INSRUCTIONS WITH ALL THE CONDITION CODES SET
571 ::tt'ttttttttttttl.itttttttt'ﬁtttttQ!tttttttttttttﬁtttt'*ttttttttttt't"'ﬁttt
57
§7% 000774 YESCC:
5§74 000774 021527 000C05 (MP (RS) ,#5
575 001000 001014 RNE (Ce : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
576 001002 005215 INC (RS)
577 881004 000277 SCC s NZVC=11TN
578 1006 100011 BPL €C6
579 C01010 001010 BNE £c6
580 001012 102007 Bv( €%
581 001014 103006 8C( CC5
Sgg 001016 000240 NOP : CHECK NOP INSTRUCTION
587 001020 100004 RPL (%
584 001022 001003 BNE (cé
585 001024 10%002 Byl ccé
gge 001026 103001 BC(C (6
7 8810. 0 101404 BLOS NCTCC
588 1032 (C6:
589 001032 012745 000006 MoV 6,='R5)
560 001036 Q05245 INC -{R5)
€61 001040 000000 HAL T : (0 DR A BRANCH FAILED, OR WRONG SEQUENCE
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(VRAAC P11 06=0( T=78 08:58 16 CLEAR THE CONDITION CODES SEQ 0015
59 '-‘-ttttt'ttttttiItttiﬁttiﬁﬁttt.I.tttlttttt*'ﬁtittllttttttiittt't'ﬁ'.'.t'tttttt
§G L*TEST: 6 CLEAR THE CONDITION CODES
5% ::ttttttttt‘t!ttttttttitt*tittttl..ittttiit.ttlQﬁ!‘t*“ttti.ttti..t..ﬁt'i'..t
595
596 001042 NOT(Z: .
597 001042 021527 000006 CMP (RS) 46
598 881046 001013 BNE ccs : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
599 1053 005215 INC (RS)
600 001052 000277 SCC : NZVC=111
601 001054 000241 cLC = NZVC=1110
60§ 001056 103407 BCS CCS
603 001060 000242 LV : NZvC=1100
604 001062 102405 BVS CCS
605 001064 000244 Lz : NZVC=1000
606 001066 001403 BEQ ccs
607 001070 000250 CLN : NZvC=0000
608 001072 100401 BM] 5
609 001074 101004 BHI ENDCCS
610 001076 CCS:
611 001076 012745 000007 MOV #7,-(RS)
61% 001102 005245 INC -(R5)
613 001106 000000 HAL T . ONE OF THE ABOVE CLEARS FAILED OR WRONG SEQUENCE
g;g 001106 100000 ENDCCS: BPL BRANCH
B |

618 ".'ttttﬁttﬁt'itttttttttti‘tt‘!'l.'Q.!tQtittititttttt&ﬁ!t..ttttttititﬁiﬁ!ﬁttt.ttit
619 c*TEST: 7 CHECK FORWARD AND BACKWARD BRANCHES.
&0 .'.-t'tﬁ‘it.ltltttttt‘tttﬁ*‘t'ittttttltt*t**tt'ﬁt*i“ti'tiittiitttt‘tﬁ"‘t't**t"

1
gSg 001110 BRANCH: b
625 001110 021527 0000G7 CMP (RS) 47 t
626 001114 001404 BEQ 1$ ; IF IN WRONG SEQUENCE GO TO HLT l
625 881116 012745 000010 MOV #10,-(RS) ‘
626 1122 005245 INC -(R5)

7 001124 000000 HALT

] 8811 ¢ 005215 1$: INC (RS)

1 000416 BR 4% : CHECK BRANCH FORWARD AND BACKWARD

630 001132 012745 000011 MOV #11,=(RS)
6%} 001136 005245 INC -(R5)
63¢ 001140 880000 HAL T : FORWARD BRANCH FAILED
633 881]““ 000404 2%: BR 3%
£34 001146 012745 000012 MOV #12,~(RS)
A58 201150 005245 INC -(R5)
o3~ 001152 000000 HAL T : FORWARD BRANCH FAILED
e3” 20'15¢ 000411 3%: BR 5%
628 J0115¢ 012745 000013 MOV #13,=(RS)
029 001162 005245 INC -(R5)
€. 001764 HAL T : FORWARD BRANCH FAILED
ohi 07106 O 65 4%: BR 2%
o4 001170 012745 000014 MOV 814 =(R5)
63 001:7« 005245 INC -(RE)
ras 8811?6 000000 HALT ; BACKWARD BRANCH FAILED
LS 1200 000400 €g: i =N
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CUKAAC MACY!T 304(1052) 09-0CT-78 08:59 PAGE 17

CVKAAC P11 09-0CT=78 08:58 T10 CHECK JMP INSTRUCTIONS FOR MODE 1 SEQ 0016
6{,6 ;:tt.tltttttttttttttﬁttitttitttttttttttﬁttttttt.tttttttittit'ttttﬁtttt"ttttt
647 -«TEST: 10 CHECK JMP INSTRUCTIONS FOR MODE 1
“8 .-.-tttttttttttttttttttttit'ttﬁitttittttttttttﬁittttttttittitttitttttttttt.i.ti
645
650 001202 JMP1 ;
651 001202 (0)815 7 000010 cme (RS) ,#10
652 001206 1032 p BNE ENDJP1 : IF IN WRONG SEQUENCE GO TO HALT AT THE END OF THE TEST
653 001210 005215 1%: INC (RS)
654 001512 012700 001232 MOV #2% RO : TEST JUMP INSTRUCTION MODE 1
655 001216 000277 SCC
656 001220 000110 JMP (RQ)
657 881 2 012745 000015 MoV #15,-(RS)
658 001226 005245 INC -(R5)
659 0012 000000 HALT : JUMP INSTRUCTION FAILED
660 001232 2%:
661 001232 100003 BPL 3%
66% 001234 001002 BNE 3%
663 001236 102001 BV( 1%
664 001240 103404 BCS 4%
665 001242 3%:
066 001242 012745 000016 MOV #16,-(R5)
667 001246 005245 INC -(R5)
668 001250 000000 HALT : WRONG CC
669 001252 020027 001232 4%: CMP RO, #2%
670 001256 001404 BEC 5% : CONTINUE IF RO IS OK
671 001260 012745 000017 MOV #17 ,-(RS)
672 001264 005245 INC -(R%)
673 001266 000000 HALT
674 001270 012700 001306 5¢: MOV #JMP2 ,RO = TEST JUMP INSTRUCTION MODE 1
675 001274 000110 JMP (RO)
676 001276 ENDJP1 :
677 001;76 012745 000020 MOV #20,-(R5’
678 001302 005245 INC -(R5)
ggg 001304 000000 HALT : JUMP INSTRUCTION FAILED OR WRONG SEQUENCE
681
682 ::Qttttttttttttttitttttttttit*t*lQ't!tttttttttttttttt*ttttttttttttttttttﬁﬁttt
683 s«TEST: N FHECK JMP INSTRUCTIONS FOR MODES 2 AND 3 '
w ;.-tttttt!t'lttitttttttttttt!tttttt.t!tttttttttiitlt'tt’ittttttitttittttttittt
685
686 001306 JMP2 :
687 001306 021527 000011 CMP (RS) ,#11
688 001312 001073 BNE ENDJP3 : IF IN WRONG SEQUENCE GO TO HALT AT THE END OF TEST
689 001314 005215 INC (R5)
690 001316 012 001336 MOV #3% R0 : TEST JUMP INSTRUCTION MODE 2
691 001322 000277 SCC
692 001324 000120 JMP (RO)+
693 0013§6 012745 000021 MOV #21,=-(RS5)
696 001332 005245 INC -(R5)
695 001334 000000 HALT : JUMP INSTRUCTION FAJLED
696 001336 3%:
697 001336 102003 BPL 4%
698 001340 001002 BNE 4%
699 00137 10200 BV’ 4%
700 00134 103404 B(S Ss
701 007'3%¢ 4%:
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001340
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001472
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001446
001466
000136

000025

000000
000026

001512
000136

000027

C9-0CT-78 08:59 PAGE
8:58 ™

000012

176442

ENDJP3:

18

E 2

CHECK JMP INSTRUCTIONS FOR MODES 2 AND 3

MOV
INC
HALT
CMP
BEQ
MOV
INC
HALT
MOV
JMP
MOV
INC
HALT

MOv
MOV
MOV
SCC
JMP
MoV
INC
HALT
CMP
BEQ
MCV
INC
HALT
MOV
MOV
JMP

MOV
INC
HALT

#22.-(RS)
-(RS)

WRONG CC
2%,#3542 : IS THERE AUTO INC.?
#23,-(R5)

-(R5)
: MODE 2 FAILED FOR JMP INSTRUCTION
133?3-R° * TEST JUMP INSTRUCTION MODE 2
+
#24 ,-(RS)
-(R5)
: JUMP INSTRUCTION FAILED

#3%,TEMP : TEST JUMP INSTRUCTION MODE 3
#4%, TEMP+?2 :
#TEMP,RO

A(R0)+ ;
#25,-(R5)
-(R5)

a(RO) ,4%
4%
#26,-(RS)
-(R5)

: JMP INSTRUCTION FAILED IN MODE 2
#JMP4 , TEMP > TEST JUMP INSTRUCTION MODE 3
#TEMP RO
a(RO)+

#27 .~(RS’
-(RE)

; JUMP INSTRUCTION FAILED
; 1S THERE AUTO INC.?

; JUMP ERROR OR WRONG SEQUENCE

SEQ 0017
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CVKAAC.P11  09=0CT=78 0B:58 112 TEST JUMP INSTRUCTION FOR MODE 4, S SEQ 0018
?? ":t'ttttttttttttt*‘ttttttttttttitlttﬁtﬁ'ttﬂttttttttiitttﬁttttttttttttttttt.ll
737 SATEST: 12 TEST JUMP INSTRUCTION FOR MODE &4, S
‘gg '-.'tttttttttttttttttttttttﬁ'it'lttlttttttttttﬁﬁltttltlttttttttttt't't.itt'tttt
740 001512 IMPG
741 001512 021527 000012 CMP (RS) ,#12
762 001516 001075 BNE ENDJPS : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
743 001520 005215 INC (RS)
764 001522 012700 001544 MOV #3%,R0 : TEST JUMP INSTRUCTION MODE 4
745 001526 000277 SCC
7646 001530 000140 JMP -(R0)
747 001532 012745 000030 MOV #30.-(R5)
748 001536 005245 INC -(R5)
7649 001540 000000 HALT : JUMP INSTRUCTION FAILED
750 001542 000404 BR 4% * JUMP SHOULD LAND HERE
751 001544 3%
752 001544 012745 000031 MOV #31,-(RS)
753 001550 005245 INC -(R5)
754 001552 000000 HAL T : NO AUTC DECREMENT FROM JMP4
755 001554 022700 001542 4%: CMP #3%-2,R0 > CHECK RO
756 001560 001404 BEQ 5%
757 001562 012745 000032 MOV #32,-(RS)
758 001566 005245 INC -(R5)
759 881570 000000 HAL T
760 001572 012700 001612 5%: MOV #JMPS5+2 RO . TEST JUMP INSTRUCTION MODE 4
761 001576 000140 IMP -(R0)
762 001600 012745 000033 MOV #33.-(RS)
763 001604 005245 INC -(R5)
;glg 001606 000000 HALT : JUMP INSTRUCTION FAILED
766 001610 012767 001642 176322 JMPS: MOV #3%,TEMPI : TEST JUMP INSTRUCTION MODC S
767 001616 012700 000140 MOV #TEMPT RO
768 oowg‘z) 012767 007652 176306 MOV #6$, TEMPT=2 :
769 001630 000150 JMP a-(R0)
770 001632 012745 000034 MOV #34,=(RS®
771 001636 005245 INC -(R5)
772 001640 000000 HAL T . JUMP INSTRUCTION FAILED
778 001642 i
7764 001642 012745 000035 MOV #35,-(RS5)
775 001646 005245 INC -(RS)
776 001650 000000 HALT : ERROR, NO AUTO DECREMENT
777 88"652 022700 000136 4$: CMP #TEMP1-2 R0 * (HECK RO
778 001656 001404 BEQ 5%
779 001660 012745 000036 MOV #36,-(R5)
780 001664 005245 INC -(RS)
781 00165 000000 HALT ; JUMP ONSTRUCTION FAILED IN MODE 5
782 001670 012767 001642 176242 S%: MOV #3%, TEMP1 * TEST JUMP INSTRUCTION MODE 5
783 001676 072700 000140 MOV #TEMPT RO
;sl. 001702 012767 001722 176226 MOV 8JI5P6, TEMPI=2
s 001710 150 JMP a=-(RO)
786 001712 ENDJPS :
787 001712 012745 000037 MCV #37 =(RS)
788 001716 005245 INC -(RS)
77209 001720 000000 HALT : JUMP ERROR OR WRONG SEQUENCE

791

":'...I‘Q'i't't"'t'iﬁﬁ....Il.t..ﬁvi..i‘...l.l"..'i."."'."....'i...i'."'.
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000013

001760
177772

200040

001760
000041

R

000010
000042

:

002024
000000
000043

:

000136
002050
000000
000044

:

002074
000132
000004
000045

i

002122

00 000136
7

000000
000046

176034

;*TEST:

JMP6 :

1%:

2%:

I%:

1%:

1%

END JPT7:

20

TEST JMP INSTRUCTION FOR MODE 6 AND 7

13

G 2

SEQ 0019

TEST JMP INSTRUCTION FOR MODE 6 AND 7

::i"tttt'tttttﬁt".i"tt'itt'tttﬁﬁ‘ﬁ"ﬁ'iti.i.ittt’tt'ﬁtttl"tttttti.t‘.".'

(RS) ,#13
ENDJP7
(RS)
#1%$+6,R3
-6(R3)
#40,-(RS5)
-(R5)

R3,4#18+6

2%
#41,-(R5)
-(R5)

3§-. -4 (PC)
#42.-(RS)
-(R5)

#TEMP,R3
#1$, (R3)
a(R%)
#44 - (RS}
-(R5)

#3$, (R3)
#TEMP-4 RO
@4 (RO)
#45,=(RS5)
-(RS)

#JSRTST, TEMP
#TEMP RO
a0 (RO}

#46,-(R5)
- (RS>

: IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

; JUMP INSTRUCTION FAILED
; CHECK R3

: WRONG VALUE IN REGISTER AFTER JUMP MODE 6
; OR JUMP INSTRUCTION FAILED IN MODE 6
; TEST JUMP INSTRUCTION MODE 6

: JUMP INSTRUCTION FAILED
; JUMP SHOULD LAND HERE

; JUMP INSTRUCTION FAIIED

: .TJU'P INSTRUCTION FAILED

EST JUMP INSTRUCTION MODE 7

; JUMP INSTRUCTION FAILED
; CONTINUE

: JUMP ERROR OR SEQUENCE ERRCR
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40 004767 000026
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? PAGE

21

H 2
CHECK JSR AND MARK INSTRUCTIONS

SEQ 0020

"IQ"........QI'Qtt.t'iitttti“i..Qﬁ...tﬁ.it‘iltiitt.l&'ﬁ.lt..'i'ti..t...'.'

CHECK JSR AND MARK INSTRUCTIONS

:;tttﬁ.t.tilttt.it.lﬁﬂlttt..tttﬁtii"ﬁl....ttiittt'tiltttl..t.ti.tttttt".'.‘

L*TEST:

JSRIST:

1%:

2%:

3%:

4%:

5%:

6%:

7%:

JSRM:

1%:

14

C

BAE
INC
MOV
SCC
JSR

MOV
INC
HALT
CMP
BEQ
MO
INC
HALT

JSR

HALT

(RS) 474

#START,SP
PC.3%

#47 ,-(RS)
-(RS)

#START ,SP

JSRM
#50,=(R5)
-(e5)

4%
L%
4%
5%

#51,-(R5)
-(R5)

6%
#52,-(RS5}
-(R5)

#1%, (SP)
7%
#53,-(R5)
-(R5)
#2%, (SP)

PC
#54 . -(R5)
-(R5)

R5,=(SP)

DUMMY ,~(SP)
DUMMY ,=(SP)

#55,=(R5}
-(R5)

: IF IN WRONG SEQUENCE GO TO HALT AT THE END OF THE TEST
; SET UP STACK POINTER.

: JSR INSTRUCTION FAILED
; HAS SP BEEN RESTORED?

: SP WAS NOT RESTORED BY RTS INSTRUCTION

; WRONG CC
; WAS THE SP EFFECTED?

: WRONG SP AFTER EXECUTION OF JSR INSTRUCTION
; IS THE RETURN ADDRESS =1%

; SP DID NOT HAVE CORRECT RETURN ADDRESS
: AFTER EXECUTION OF JSR INSTRUCTION
; SET 2% AS THE RETURN ADDRESS

; RTS INSTRUCTION FAILED
; MOV RS TO STA(K

: STORE MARK 2 ON THE STACK.
: SAVE K5 IN R3

; JSR INSTRUCTION FAILED
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CUKAAC MACY11 30A(1052) 09-0CT-78 08:59 PAGE 22
CVKAAC . P11 09-0CT-78 OB:58 114 CHECK JSR AND MARK INSTRUCTIONS SEQ 0021

895 0 100003 BPL 3$
894 883 2 001002 BNE 3%
897 002324 102001 Bv( 3%
898 002326 103404 BCS 48
899 00 3%:
900 330 012743 000056 MOV #56,-(R3)
901 005243 INC -(R%)
90% 36 000000 HAL T : WRONG CC
903 002340 022705 000102 4%: CMP #STESTN,RS
04 005344 001404 BEQ 5%
905 %6 012763 000057 MOV #57,-(R3)
90? 5352 005243 INC -(R%)
90 354 000070 HAL T . MARK INSRUCTION FAILED
908 882 56 02206 000450 5%: (MP #START,SP
909 002362 001404 BEQ 6%
910 00 012745 000060 MOV #60,-(RS)
911 002370 005245 INC -(R5)
91% 88 372 000000 HAL T : MARK INSTRUCTION FAILED
9 2374 012701 002502 £%: MOV #12%,R1 . PLACE THE ADDRESS OF 12% IN R1
914 002400 004011 JSR RO. (R1) > GO TO TAG 12%
915 002402 7%: _
916 002402 012745 000061 MOV #61,-(RS)

| 917 002406 005245 INC -(R5)
918 002410 000000 HAL T ; JSR INSTRUCTION FAILED
919 002412 012745 000062 MOV #62,-(RS)
920 002416 005242 INC -(R5)
3512 002420 000000 HALT 3 gli(?ROUGHT THE PROGRAM BACk IN WRONG
923 002422 022706 000450 8%: CMP #START,SP
924 002426 001443 BEQ REGS
925 002430 012745 000063 MOV #63,~(RS)

| 926 002434 005245 INC -(R5)
gsg 002436 000000 HAL T : STACK POINTER WAS NOT RESFT
929 002440 020427 002310 108: CMP R4, #1% : IS THE RETURN ADDRESS =1% ?
930 002444 001404 BEQ 1%
931 (002446 012745 000064 MOV #64 ,=(RS)
932 002452 005245 INC -(R5)
933 (002454 HAL T : WRONG RETURN ADDRESS IN UNKAGE REGISTER R4
93 002456 010605 11¢: MOV SP,RS
935 002460 005725 TST (R)+ : SET UP ADDRESS IN RS AT MARK 2 INSTRUCTION
93¢ 002462 012716 002320 MOV #2%, (SP) * SET RETURN ADDRESS =2%
937 002466 000277 SCC
938 002470 000205 RTS RS . RETURN USING RS AND IN-TURN USING MARK INSTRUCTION
939 (002472 012745 000065 MoV #65,~(RS)
940 002476 005245 INC -(R5?
g:; 002500 000000 HAL T : RTS INSTRUCTION FAILED
822 002502 02002 002402 12%: cMP RO,47% : DOES RO CONTAIN THE RETURN ADDRESS?
945 002506 001404 BEQ 13%
946 002510 012745 000066 MOV #66,-(RS)
%7 002514 005245 INC -(R5) )
98 516 HALT . WRONG RETURN ADDRESS IN i INKAGE REGISTER RO

%9 002520 012700 002422 H T MCV ggs.no : SET RETURN ADDRESS AT 8%
2 !
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000067

T
ENDJSR:

J 2

23
CHECK JSR AND MARK INSTRUCTIONS SEQ 0022
v #67 ,-(RS)
INC -(R5)
HAL T : RTS INSTRUCTION FAILED OR SEQUENCE ERROR
--ttttttttttt!tttttttttttttttt'Q!t.ittiiitttttttiﬁii‘.t!t.t.itt.t..ttt"t'.t.
15 CHECK REGISTER SELECTION

S*TEST:

::tttttttttlttttﬁ‘.ﬁt.iittttttﬁ'tﬁﬁ..'Q.!Il..iﬁ'tﬁ.'ﬁi'l"'i't.t..tlt.-...!QQ

REGS:

EREGS:

(RS) ,#15
EREGS
(RS)
#1.RO
#4 R1
#20,R2
#100,R3
#4500 R4
R6
RO,R%
R1.R6
R2.R6
R3.R6
R& .R6

RS ,R6
:gresrnﬁszs.nb
TEMP R6

1STRO

TEMP RE

#70,-(RS)
-(RE)

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

SAVE THE STACK POINTER
LOAD THE REGISTERS

ADD UP THE REGISTERS

CHECK IT

FAILED

RESTORE STACK POINTER
CONT INUE

RESTORE STACK POINTER

REGISTER SELECTION FAILURE OR SEQUENCE ERROR
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9 PAGE 24
CHECK BYTE INSTRUCTIONS, DESTINATION MODE O ONLY SEQ 0023

K 2

CHECK BYTE INSTRUCTIONS, DESTINATION MODE O ONLY

"!tt!ttttt&tll*tttittitt*tItﬁ**t**ttttltiititti"t'titttlttittttt'tﬁt'tttttt

NEW INSTRUCTIONS USED IN THIS SECTION ARE TSTB, CLRB, MOVB

SeTEST: 16

;:t**tittttttttt*ttitttttttilititﬁit*t.*tlitttttit.t*ﬁ**ttttitttiitttittit"t

TSTRO:

2%:

CMP
BEQ
MoV
INC
HALT
INC
SCC
CLRB
JSR
TSTR
JSR
MOVB
JSR
1STB
JSR

(RS) ,#16
$

2
#71,-(RS)
-(R5)
(RS)

RO
PC,a#8(C4
RC

;
PC.a#$CC10

PR A TTEA TR TR EB N

: IF IN WRONG SEQUENCE GO TO HLT BELOW

; PROGRAM IS IN WRONG SEQUENCE

CLEAR THE REGISTER
CHECK FOR CC = 4
CHECK IT

CHECK FOR CC = 4
LOAD THE REGISTER
CHECK FOR CC = 10
CHECK IT

CHECK FOR (C = 10

"itttt"tttiitttttiitﬁ*!'*‘Qtﬁﬂiiiﬁﬁiiit.iitttﬁ'ttttttittttt*til‘tli'tttittt

LATEST: 17

(MPBQ :

1%:

2%:

3%:

cMP
BNE
INC
SCC
BISA
JSR
CMPB
BEOQ
MOV
INC

NEW INSTRUCTIONS USED IN THIS SECTION ARE (MPB, BISB

;:t!tttt.ttitt**t.ttttt'itttiiitt*ﬁQﬁ!‘tl‘*titititttlﬁtttti*it'ttlitt'tttt'ﬁt

3
#73,-(RS)
-(R5)

R2.RO
4%

#74 - ()
-(R5)

8277 ,R2
#377 ,R2

LR A T

: IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD REGISTER
CHECK FOR CC = 11
CHECK COMPARE
CONTINUE IF OK

: BISB OR CMPB INSTRUCTION FAILED

; CHECK IT AGAIN
; CONTINUE IF Ok

; CMPB INSTRUCTION FAILED [WRONG (C]
; ONCE MORE
; CONTINUE IF OK

: (MPB INSTRUCTION FAILED C[WRONG (1
: LOAD REGISTER, SIGN EXTEND
; CHECK [F BYTE INSTRUCTION
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CUKAAC P11 og-ocr-‘r' 08:58 117 NEW INSTRUCTIONS USED IN THIS SECTION ARE (MPB, BISB SEG 0024
-.oaq 83%8 & 0014064 BEQ 5% : CONTINUE IF OK
104 6 012745 000075 MOV #75.-(R5)
1064 003032 005245 INC -(R5)
1045 00 000000 HALT : CMPB BECAME (MP INSTRUCTION
1046 00 112702 000377 >b: MOVR  #377,R2 * LOAD REGISTER, SIGN EXTEND
1047 003042 120227 000377 (MPB  R2, 4377 * CHECK IF BYTE INSTRUCTION
1048 003046 001406 BEG BICRO * CONTINUE IF OK
1049 003050 ECMPRO :
1050 003050 012745 000076 MOV #76,-(RS)
1051 003054 005245 INC -(R5)
1052 003056 00CCO0 HALT : WRONG CC OR WRONG SEQUENCE




m 2
(VKAAC MACY!1 304(1052) 09-0CT=-78 08:59 PAGE 26
CVKAAC P11 09=0( =78 08:58 120 NEW INSTRUCTIONS USED IN THIS SECTION ARE BI(B, BITB SEQ 0025
]053 ;.-tttttttttttttttttttttttttttttt*ﬁtttttttttttttltttttttttttttttttttttit'ttttt
1054 S*TEST: 20 NEW INSTRUCTIONS USED IN THIS SECTION ARE BICB, BITB
1055 ::tuttttttttttttIvtttttttt*ttttttttttttttttttttttttlttttttttttttittttt'ttlt.tt
10
1 00 BICRO:
1058 003060 021527 000020 CMP (RS) ,#20
1059 83 001404 BEQ 2% : IF IN WRONG SEQUENCE GO TO HLT BELOW
1060 003066 o1§74s 000077 MOV #77 ,~(RS)
1061 883072 005245 INC -(R5)
1oo§ 3074 ooogoo HAL T . PROGRAM IS IN WRONG SEQUENCE
106 003076 005215 2%: INC (RS)
1064 883100 113703 000377 MOVB  #377.R3 : LOAD REGISTER
1065 003106 112700 000252 MOVB  #252.R0 * PLACE #252 IN RO
1066 003110 000277 SCC
1067 003112 140003 BICB  RO,.R3 : CLEAR EVERY OTHER BIT
1068 003114 004737 017066 JSR PC.a#$CC1 " CHECK FOR CC = 1
1099 00312u 130003 RITR  RO.R3 : CHECK IT
1070 003122 001304 8E0 48 % CONTINUE IF OK
1071 003124 012745 000100 MOV #100,~(RS)
107 8831 005245 INC -(RS)
107 3132 0%0000 HALT : BICB OR BITB INSTRUCTION FAILED
1074 003134 132703 000125 (%: BITB #125,.R3 : CHECK IT
1075 003140 004737 017066 JSR PC,a#8CC1 * CHECK FOR CC = 1
1076 003144 150003 BISB  RO.R3 * SET THE BITS THAT WERE CLEARED
1077 003146 100404 BM] 6%
1078 883150 012745 000101 MOV #101,=(R5)
1079 003154 005245 INC -(RS)
1080 003156 000000 HALT : BISB INSTRUCTION FAILED
1081 003160 142703 000177 6%: BICB #177 ,R3 : CLEAR ALL THE BITS EXCEPT FOR SIGN
1082 003164 004737 017256 JSR PC,a#$CC11 > CHECK FOR CC = 11
1832 003170 132703 000377 BITB  #377.R3 : CHECK IT
}oas 003174 004737 017256 JSR PC,a¥8CC11 * CHECK FOR CC = 11
18
1088 ;:attttittttttttt.tlttttttttttlﬁtttttttt*ttttiittttttttttiltttittttittttttttt
1089 ;xTEST: 21 NEW INSTRUCTIONS USED IN THIS SECTION ARE INCB, DECB
10% :;*tt*tttt't*tttttttttttt‘iittttttttttttﬁ**ttttthttttttttt*ttt.tittttttttt'tt
1091
109; oosgoo INCBO:
1093 003200 021527 000021 cMP (RS) ,#21
1094 883204 001404 BEQ 1% : IF IN WRONG SEQUENCE GO TO HL i
1095 003206 012745 000102 MOV #102,=(R5)
1096 883212 005245 INC -(R5)
1097 003214 000000 HAL T . PROGRAM IS IN WRONG SEQUENCE
1ggg 003216 005215 1%: INC (RS)
1 00%220 112704 000177 MOVR 8177 .R4 : RG = 177
1100 003224 000261 SEC
1101 003226 105204 INCB R4 : ADD ONES INTO REG. 4
118§ 8832§2 004737 017320 JSR PC,a#$CC13 * CHECv FOR CC = 13
1 1127064 000376 MOVB  #376.R4
1106 003240 105204 INCB R4
1105 3242 004737 017256 JSR PC,a#8C(1 : (HECK FOR CC = 11
1109 3246 105204 INCB R4
10 3350 004737 U17172 JSR FC,aw8CC5 . (HECK FOR CC = 5
1108 003254 105204 INCB *TA
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CUKAAC MACYTY 30A(1052) 09-0CT=78 08:59 PAGE 27 NCB, DECB SEQ 0026
cSKAaf.p11 09-0C =78 08:58 121 NEW INSTRUCTIONS USED IN THIS SE:;;O:CARE1I

) cC ; CHECK =

1109 56 004737 017066 JSR PC.,ans : CHECK FO

Y g e oo e n ;RN 1 o

111; 88 270 o1g745 000103 Tﬁ! :}ggs-(RS) A

H}l- 88 2;2 %0(2)33 HALT : INCB INSTRUCTION FAILED

e & iOO ?8g 8 o SEEB R4 : SUBTRACT ONES FROM REG. 4

H}? 88 ggz 004737 017172 JSFE'3 SE.MSCCS : CHECK FOR CC = 5

”‘}g 88 3}(2) (1)82;%{;’ r17256 3§R PC,a#$CC11 : CHECK FOR CC = N

1150 88 ;16 012704 000200 ggga ;gbo.na

”2% 00; ig 682;% 017124 5?88 SE.MS(CZ» : CHECK FOR CC = 3

112% 003 105304 E ¢ _ s

1124 003332 004727 017066 ;SR PC,aasCC1 . CHECK FOR CC




i

09-0(CT=7

CVKAAC MACY11 30A(1052) 09-0CT-78 08:59_ PAGE 2
CVKAAC.P11 08:58 122

1125

1126

1127

;} S 003336

1 88 36 021527 000022
13 2 001404

1" g 003344 012745 000104
1 88 50 005245

1 52 000000

1135 003354 005;15

1136 003356 112703 000252
1137 003 000277

113% 00; 105103

113 88 004737 017066
1140 g 72 122703 000125
1147 003376 001404

114% 002200 012745 000105
i B e

1145 883410 000277

1146 %212 105103

1147 003414 004737 01725
1148 003420 122703 000252
1149 003424 001404

1150 0034%6 012745 000106
il B8

115% 003436 012703 000377
1154 003442 000277

1155 003444 105103

1156 003446 004737 017172
1157

1158

1159

1160

1161

116%

;}84 003452

1165 003452 021527 000023
1166 003456 001025

1167 003460 005215

1168 003462 112700 000001
1169 883466 105400

1170 3270 004737 017256
n~n 74 122700 000377
T17§ 3500 001404

1?7 3502 012745 000107
1174 883506 005245

1175 3510 000000

1176 003512 012700 000200
1177 883516 1054

1178 3520 004737 017320
1176 003524 122700 000200
1180 003530 001404

{

B 3
8
NEW INSTRUCTION IN THIS SECTION IS COMB

SEQ 0027

"ttttﬁiltttt.ttttt*t'ﬁt"iﬁiﬁﬁtﬁliiﬁtt*tt“tt..t'itttttQtt'ttQﬁ.t..itt.ttit.

NEW INSTRUCTION IN THIS SECTION IS COMB

::tttttttﬁtt*i.t'tttttttt*‘ttﬁﬁttﬁ‘Q.iiiﬁtttit‘..lt"t..tt.ttttttttt‘.tttt.it

S*TEST: 22

COMBO0:
CMP
BEQ
MOV
INC
HALT
1%: INC
MOVR
SCC
COMB
JSR
CMPR
BEQ
MOV
INC
HALT
2%: SCC
cOMB
JSR
CMPS
BEQ
MOV
INC
HALT
3%: MOV
SCC
cCOMB
JSR

(RS) 422

1%
#104,-(R5)
-(R5)

(R5)
#252.R3
R3
PC,a#$CC1
#125.R3

’$
#105,-(R5)
-(RS)

R3
PC,a#$CC11
gzéz.ns

$
#106,-(RS5)
-(R5)

#377 ,R3

R3
PC,a¥8$C(5

IF IN WRONG SEQUENCE GO TO HLT

PROGRAM IS IN WRONG SEQUENCE
LOAD EVERY OTHER BIT

1'S COMPLEMENT
CHECK FOR CC = 1
CHECK IT
CONTINUE IF OK

COMB INSTRUCTION FAILED
COMPLEMENT BA(CK
CHECK FOR CC = M

CHECK IT
CONTINUE IF OK

COMB INSTRUCTION FAILED

; CHECK FOR CC = 5

"tttttttittt*t*t.iﬁt.it""iitt.t!tﬁtittttttt.‘*ﬁﬁtItii*ﬁttﬁ‘tt‘.it..ltttt"

NEW INSTRUCTION IN THIS SECTION IS NEGB

;:tttittt&tt'tttﬁ'itttttt'titt'*.iQ'ttttt'ittttQiﬁ.'.'i'i“ltltittitﬁ"".t'.

S*TEST: 23

NEGBO:
CMP
BNE

1%: INC
MOVB
NEGB
JSR
(MPR
BEQ
MOV
INC
HALT

Ps I MOV
NEGB
JSR
CMPR
BEG

(RS) ,#423
ENEGBO
(RS)
#1,R0

RO
PC,aa$CC1T
#377 RO

%
#107,=-(RS"
=(RS)

#200,R0
RO
PC,aa8C(13

#2420, R0
rOLRC

IR TR R T

IFA TR TR

IF IN WRONG SEQUENCE GO TO HLT AT THF END OF THE TEST

LOAD THE REGISTER
2'S COMPLEMENT
(HECK FOR CC = 11
(HECK 1T

CONTINUE [F Ok

NEGB INSTRUCTION FAILED

2'S COMPLEMENT
(HECK FOR (C = 13
CHECK [T

CONTINUE [F Ok
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CVKAAC MACY!M? 30A(1055) 09-0(7=-78 08:59 PAGE 29
CVKAAC P 09=-0(T=78 08:58 123 NEW INSTRUCTION IN THIS SECTION IS NEGB SEQ 0028
1187 0035 3 ENEGBO:
1 0035 015745 000110 MOV #110,-(RS)
1183 0035 005245 INC ~(RS)
1184 00%%40 000000 HALT : WRONG RESULT IN RO OR WRONG SEQUENCE
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CUKAAC MACY!1 30A(1052) 09-0CT-78 08:59 PAGE 30
CYKAAC P (V= $ T W INSTRU N TH S L
1 09=0 78 08:58 24 NEW INSTRUCTION IN THIS SECTION IS ROLB SEQ 0029

1188 ::tttttttlttttttttttttttttttttttttttttttttttt.tttttittttttttttttt.ttitttttttt
1186 s*TEST: 264 NEW INSTRUCTION IN THIS SECTION IS ROLB
1187 ::tttttttIQtttttttttttittttt'ttttttttttttlﬁttt.ttltttttttttttlﬁtit't.tttttttt
1
1188 003542 ROLBO:
1190 0035¢ 021527 000024 CMP (RS) ,#24
119 % 546 001026 BNE EROLBO : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
1 19% 550 005215 INC (R5)
1193 003552 112701 000040 MOVB #40,R1 : LOAD REGISTER
1194 00;556 000257 ccc : CLEAR FLAGS
1195 003560 106101 ROLB R1 : SHIFT
1199 00;562 106101 ROLB R1 :
1197 003564 0047%7 017300 JSR PC,a#8CC12 : CHECK FOR CC = 12
1198 003570 122701 000200 (mPe #200,R1 : CHECK IT
1199 00%574 001404 BEOQ 1% : CONTINUE IF OK
1200 003576 012745 0007111 MOV #111,-(RS)
1201 3602 005245 INC -(RS)
1%8% 000000 HALT : ROLB INSTRUCTION FAILED
1 106101 1%: ROLB R1 : SHIFT
1204 003610 004737 017214 JSR PC,a#$CC7 : CHECK FOR CC = 7
1205 00;214 106101 ROLB R1 : SHIFT
1589 88 16 122701 000001 CMPR #1,R1 : CHECK IT
1 0 3652 001404 BEQ RORBO ; CONTINUE IF OK
1208 3624 EROLBO:
1 36%4 012745 000172 MOV #112,-(R5)
1210 3630 005245 INC -(R5)
]'S'%lg 003632 000000 HALT : WRONG RESULT IN R1 OR WRONG SEQUENCE
121
1214 ::tlttttttttttnt'ttttttitttittttﬁ‘titttttttttttttttﬁ‘*tttttttittttitttttttttt
1215 :«TEST: 25 NEW INSTRUCTION IN THIS SECTION IS RORB
1 19 ":ttt!tttttttttttttttttttltt'tititttittttttitittttttttttttttttttttttttttttttt
121
1218 003634 RORRBO :
1%19 003634 021527 000025 CMP (RS) 425
1220 003640 001026 BNE ERORBC : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
1221 003642 005215 INC (R5)
12 § 3644 112702 000004 MOVB #4 R2 : LCAD REGISTER
12 3650 000257 CCC : CLEAR FLAGS
1231. 3652 106002 RORB R2 ; SHIFT
1225 003654 103002 RORB RZ :
12 883656 122702 000001 CMPB #1,R2 : CHECK IT
1227 3662 001404 BEQ 1% : CONTINUE IF OK
15 00;264 012745 000113 MOV #113,=(R5S)
1 003670 005245 INC -(RS5)
12! 883672 000000 HALT : RORB INSTRUCTION FAJLED
1231 3674 106002 1%: RORR R2 : SHIFT
15 883676 004737 017214 JSR PC,a#8C(C7 ; CHECK FOR (C = 7
1 g‘ 3702 1 2 RORR R2 ; SHIFT
12 883704 004737 017300 JSR PC,a#$((7 : CHECY FOR (C = 12
1235 003710 122702 000200 cmee #200,R2 : CHECK IT
1239 003714 001404 BEQ ASLRD * CONTINUE IF Ok
153 883716 ERORRB( :
! 3716 012745 0001174 MoV #114,=(RS)
1239 003722 Q005245 INC -.n5)
12640 003724 000000 wA T




CVEAAC MACYTT 30A(10;%)

CVKAAC . P11

1261
%i
[AA

NN
ol
~NON

Y
SR

Voo vILAL

22
g

X

il ol sl sl sl il wanll il vl wald il il sl sl el o) il il sl sl sl sl el i e
&’&J PRI NN
~

—
VR
-'008
i%

—

o

wlb i
~N N
wWho

— b —d s —

NS

EERENE
?

SETSREFERE ST RE
2

PRRRRR

no
VOO N WN =000 3
3 8388
N
~ ~N~
vn
~

g
222
=

004100

B s, T

\ra-a_1?<>
OO

09=-0CT=

YEERsss

S5
PR

228
oA

e — o
NRR RO
AURINST

28
RONE N
SHARR

2eRes
RYRS

\l§

-l
L\ ]
N~

OW

09-0(T7-78 08:59 PAGE 31
NEW INSTRUCTION IN THIS SECTION IS ASLB

".t'ittttttll.tt!'tﬁtttt'i'tti'tﬁ'tﬁﬁ'...itt'ﬁ.i'ttittﬁttt't..t.titttt.t....

NEW INSTRUCTION IN THIS SECTION IS ASLB

::tﬁttittttﬁtttt..tttitt.'*t‘iitttﬁit'tﬁ...ﬁ...tﬁ.t.iti.ttt‘ﬁ".t!'tttt...'ti

08:58

00002¢
000115

00004C

017300
000200

000116

017214
017150

000027
000004

000001
000117

017214

017150
000202

017256
000340

Q00120

126
E;TEST:

ASLBO:

2%:

(%

26

BEQ
MOV
INC
HALT
INC
MOvVB
cCC
ASLB
ASLRB
JSR
CMPR
BEQ
MOV
INC
HALT
ASLB
JSR
ASLB
JSR

g 3

(RS) ,#26
$

2
#115,-(RS)
-(RS)

(RS)
#40,R3

R3

R3
PC,a#$CC12
:gbo.ns

4
#116,-(R5)
-(RS)

R3
PC.a#s$CC7
R3
PC,a#8CC4

IF IN WRONG SEQUENCE GO TO HLT BELOW

PROGRAM™ IS IN WRONG SEQUENCE

LOAD REGISTER
CLEAR FLAGS
SHIFT

CHECK FOR CC = 12
CHECK IT
CONTINUE IF OK

ASLB INSTRUCTION FAILED
SHIFT

CHECK FOR CC = 7

SHIFT

(HECK FOR CC = 4

"tQ"tt‘tttittiittﬁ.tﬁﬁiQt‘ttt..tittﬁtttﬁ*t‘*t.l.’.i‘t.ttttitttttﬁ't.ttttttt

NEW INSTRUCTION IN THIS SECTION IS ASRB

:;.tttttt*ttttt‘Qﬁtt‘ﬂitiit'tttt*ttﬁ‘Qli'tt'ititittittﬁﬁ.t*‘i't.'ittiitittﬁ't

E;TEST:
ASRBO:

1%:

2% :

FEASRRO:

14

(MP
BNE
INC
MOVR
(CC
ASRB
ASRB
(MPR
BEQ
MOV
INC
HAL T
ASRB
JSR
ASRB
J5R
MOVR
ASRB
ASRE
JSR
CMPS
BFQ
MOV
INI

(RS) ,#27
EASRBO
(RS’

#4 R4

R4
Ré
#1,.R4

2%
#117 ,~(R5)
-(RS)

R4
PC,aNsc(7
R&
PC,aNsCC4
#202 ,R3
R3

R3
PC,aa8C( 1
#340,R3
ADCBO

#.20,-(R5)
-(R5)

[ TETEIE TR T AR TR A N T )

SEQ 0030

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD REGISTER
CLEAR FLAGS
SHIFT

CHECK IT
CONTINUE IF OK

ASRB INSTRUCTION FAILED
SHIFT

CHECK FOR (C = 7

SHIFT

C(HECK FOR CC = &

LOAD REGISTER

SHIFT

CHECK FOR CC = 11
CHECK [T
CONTINUE IF Ok




CyKAAC MACYM
CYKAAC P11

1297 004722

304105

2)
09-0C =78 08:58

200000

09-0(7-78 08:59_ PAGE 32
$ 127 NEW INSTRUCTION IN THIS SCCTION IS ASRB

HALT

F 3

SEQ 0037
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CVKAAC MACY?1 30A(1052) 09=0CT=-78 08:59 PAGE 33
CVKAAC.P11  09=-0CT=-78 08:58 130 NEW INSTRUCTION iN THIS SECTION IS ADCB SEQ 0032

'| 8 ""ttttttttttttQlitttttttttttttt.t!tﬁ'ltttttttttitt.tt!lttttttttttttiittttttt'
1§§8 T*TEST: 30 NEW INSTRUCTION IN THIS SECTION IS ADCB
1 ::ttttttttttttttttttttttttttttttiQttttttttititttt!ttitltttttQtii'ttttttttﬁt.i
1301
1%82 004124 ADCRO:
1303 004124 021527 000030 CMP (RS) ,#30
1304 004130 001404 BEQ 2% . IF IN WRONG SEQUENCE GO TO HLT BELOW
1305 004132 012745 000121 MOV #121,=(RS)
1306 004136 005245 INC -(RS)
1307 004140 000000 HALT : PROGRAM IS IN WRONG SEQUENCE
1308 004142 005215 2%: INC (RS)
1309 004144 105000 CLRB RO : CLEAR THE REGISTER
1310 004146 000257 ccc * CLEAR FLAGS
1311 004150 105500 ADCB RO : ADD C BIT = 0
131; 004152 004737 017150 JSR PC,a#$CC4 * CHECK FOR CC = 4
1313 004156 000261 SEC : C=1
1314 004160 105500 ADCB RO > ADD C BIT=1
1315 004162 000261 SEC - C=1
1316 004164 105500 ADCB RO * AGAIN
1317 004166 004737 017046 JSR PC.,a#$CCo * CHECK FOR CC = 0
1318 004172 122700 000002 C(MPB  #2.RD : CHECK IT
1319 004176 001404 BEQ 48” * CONTINUE IF OK
1320 004200 012745 000122 MOV £ ~7,=(RS)
1321 004204 005245 INC -(K5)
1322 004206 000000 HALT : ADCB INSTRUCTION FAILED
1323 004210 112700 000177 4$: MOVB  #177.R0O * LOAD LARGEST POSITVE NUMBER
1324 004214 000261 SEC s =1
1325 004216 105500 ADCB RO * ADD C BIT=1
1326 004220 004737 017300 JSR PC,a#$CC12 * CHECK FOR CC = 12
1327 0042%3 122700 000200 PR #200,R0 . CHECK IT
1328 004230 001404 BEQ 6% * CONTINUE IF OK
1353 004232 012745 000123 MOV #123,=(RS)
1330 004236 005245 INC -(R5)
1331 004240 000000 HALT : ADCB INSTRUCTION FAILED
133; 004242 112700 000377 6%: MOVB  #377.R0 * LOAD =i
1333 004246 000261 SEC ;=1
133, 004250 105500 ADCB RO * ADD C BIT=1
}ggz 0046252 004737 017172 JSR PC,aN$CCs * CHECK FOR CC = 5
1337
1338

1 1339 ::ttttttttttttttttttttttttitttttﬁﬁ*tttttitttttttttt**ttittttttttttiittiittt!t
130 ;*TEST: 31 NEW INSTRUCTION IN THIS SECTION IS SB(B
1341 ::tttttttﬁttitttttttttttitttttttttt'ttittt*ﬁtQtttttﬁttittttitttttttttt'tttt-t
13%
134% 004256 SRCBO:
134 004256 021527 000031 CMP (RS) 431
1345 004262 001404 BEQ 1% ;: IF IN WRONG SEQUENCF GO TO HLT BELOW
1346 004564 012745 000124 MOV #124,-(R5)
1347 004270 005245 INC -(RS)
138 004272 000000 HALT : PROGRAM IS IN WRONG SEQUENCE
1349 004274 005215 1%: INC (RS) * TEST IS IN WRONG SEQUENCE
1350 004556 112701 000003 MOVB  #3.R1 * LOAD REGISTER
1351 004302 000257 cCC * CLEAR FLAGS
1352 004304 105601 SBCR K * SUBTRACT C BIT=0
1353 006306 004737 017046 ISR PC,a#$( 0 * THECK FOR CC = 0
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CVKAAC MACY11 30A(1052) 09-0CT-78 08:59 PAGE 34
CVKAAC.P11  09-0(T-78 08:58 131

135 004312 122701 000003 CMPR
1385 Q0iiE offaoe 80
1356 004320 012745 000125 MOV
1357 Q0udor 00824s INC
1538 000000 HAL T
1359 004330 000261 B 1N
1 2 105601 SB(B
1361 261 SEC
1362 004336 105601 SB(B
1 0 004777 017046 ISR
1 1221 000007 (MPB
1365 52 001404 BEQ
1 50 012745 000126 MOV
1367 004356 005245 INC
1368 004360 000000 HALT
1399 362 000261 3$: SEC
1370 004364 105601 SB(B
1371 004737 017150 JSR
1372 Q032 000261 SEC
1373 003k 105601 SB(B
1376 Q0376 00473r 017256 JSR
1375 004402 122701 000377 CMPB
1376 004406 001404 BEQ
1377 Q0ul0 Q12765 000127 MOV
1378 004414 005245 INC
1379 004416 000000 HAL T
1380 004420 112701 000200 4$:  MOVB
1381 004424 000261 SEC
1382 004426 105601 SB(B
1383 004430 004737 017106 JSR

H 3
NEW INSTRUCTION IN THIS

#3.P1

2%
#125,-(RS)
-(RS)

R1

R1
PC.a#$CC0
#1,R1

3$
#126.,-(RS)
-(RS)

R1
PC,a#$CC4
R1
PC,a$CC1"
#377 .R1

4%
#127 ,-(RS)
-(R5)

#200 R

R1
PC,aa8CC2

SECTION IS SB(B

CHECK IT
CONTINUE IF OK

SB(B INSTRUCTION FAILED

c=1
gt?TRACT ¢ BIT=1

CHECK FOR CC = 0
CHECK IT
CONTINUE IF OK

S@%B INSTRUCTION FAILED

(=
SUBTRACT C BIT=1
CHECK FOR CC = 4

c=1

SUBTRACT C BIT
CHECK FOR CC =
CHECK IT
CONTINUE IF OK

-_

SBCB INSTRUCTION FAILED
LOAD R1

=1
SUBTRACT C BI

=1
CHECK FOR CC = 2

SEQ 0033
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CVKAAC MACY11 30A(1052) 09-0CT-78 08:59 PAGE 35

CVKAAC P11 09-0CT=78 08:58 CHECK WORD INSTRUCTIONS, DESTINATION MODE O ONLY SEQ 0034

1384
;385
1 7 ; CHECK WORD INSTRUCTIONS, DESTINATION MODE O ONLY
:
s
1 9% ;:tttttttttttttttttttttitttttttttttﬁtttt!tt'tttttttttttttttt.t‘Iﬁtttttttttttt
139 TRTEST: 32 NEW INSTRUCTIONS USED IN THIS SECTION ARE TST, CLR, MOV
13% '-:tttttttttttttttttttttttttt*tt-ttttl’iltitttttt!tttﬁtitttt*ttttttI!'i.ﬁtttttt
1395
1396 004434 TSTO:
1397 00443 021527 000032 CMP (RS) ,#32
1398 00«440 001406 BEQ 1% : IF IN WRONG SEQUENCE GO TO HLT
1399 004442 012745 000130 MOV #130,~(RS5)
1600 004446 005245 INC -(RS)
1407 004450 000000 HAL T . TEST IS IN WRONG SEQUENCE
1405 004452 005215 1%: INC (R5)
1403 004454 000277 SCC
1404 004456 005000 CLR RO : CLEAR THE REGISTER
1405 004460 004737 017150 JSR PC,a#$CC4 * CHECK FOR CC = &

| 1406 004464 005700 ST RO : CHECK IT
1407 466 004737 017150 JSR PC,aN$CC4 * CHECK FOR (C = 4
1408 004472 012706 177777 MOV 8177777 R4 * LCAD THE REGISTER
1409 004476 010401 MOV R4 ,R1
1410 004500 004737 017236 JSR PC.a#$CC10 : CHECK FOR CC = 10
1411 004506 005701 ST R * CHECK IT
1412 ooasog 004737 017236 JSR PC,a#$CC10 : CHECK FOR CC = 10
1413 004512 (020401 (MP R4 R : CHECK R1 TO CONTAIN PROPER DATA
1414 004514 001404 BEQ 2%
1415 004516 012745 000131 MOV #131,=(RS)
1416 006522 005245 INC -(RS)
1417 004524 HALT
1418 0045%6 000263 2%: SEV( : SET V & C BITS
1419 004530 010000 MOV RO,R0
}25? 004532 004767 01243 JSR PC.$CC5
1492
1423
16264 :;ttnttttttititt.itttttttt*t‘it'tQttttlttﬁtttttttitttttttttltt*ttt.ittttttttt
1425 S*TEST: 33 NEW INSTRUCTIONS USED IN THIS SECTION ARE CMP, BIS
1426 ;:tttttttttttttttttttttt‘titttttt!ttittttittttittt*ttt'tttttttttttttttttﬁtttt
1427
1428 004536 CMPQ:
1429 004536 021527 000033 CMP (RS) ,#33
1430 004542 001726 BNE ECMPO : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
1431 004544 005215 1%: INC (RS)
143; 004546 012700 177777 MOV #177777 R0 : LOAD REGISTER
1433 004552 050002 BIS RO,R2 . CHECY THE BIS INSTRUCTION
1643, 004554 004737 017236 JSR PC.a#$CC10 * CHECK FOR CC = 10
1435 004560 022002 CMP RO,R2 * CHECK COMPARE
1436 88:562 001404 BEQ 2% * CONTINUE IF Ok
1437 §64 012745 000132 MOV #132,-(RS)
1438 004570 005245 INC - ("5}
1439 004572 000000 HAL T : BIS OR CMP INSTRUCTION FAILED




CVEKAA

MACY11 SOA(1052) 09;0(7-78 08:?33 PAGE 36

CVKAAC,.P11 09-0C1-78 08:5

1440
1441
144
144
14644
1445
14646
14647

i

1450

004574 982702 000077

2 012745 700133
805265

000000
004612 (20227 000077
100604

006 012745 000734
88:6 005245
626 000000

2%:

3%:

ECMPO:

J 3

NEW INSTRUCTIONS USED IN THIS SECTION ARE (MP, BIS

477 .R2 : CHECK IT AGAIN
3 : CONTINUE IF Ok
'}3?5"“5’
: CMP INSTRUCTION FAILED [WRONG (CJ
R2,477 = ONCE MORE
BICO * CONTINUE IF OK
#134.-(RS)
-(RS)

; WRONG CC OR WRONG SEQUENCE

SEQ 0035




CVKAAC

1451
1452
1453
1454
1455

=== E——

K 3
MACY11 30A(1052) 09-0CT-78 08:59 PAGE 37
78 08:58 134 NEW INSTRUCTIONS USED IN THIS SECTION ARE BIC, BIT

::ttttttlttttttitittlttt.tttltittttﬁttlﬁtﬁ..tt'ttittliitii!itttt'tttttttitttt
TRTEST: 34 NEW INSTRUCTIONS USED IN THIS SECTION ARE BIC, BIT
:;tttttttttﬁtﬁ*tttttttI.‘l‘ltﬁttttitittt!.tit.&ﬁ!ﬁtttﬁﬁitt.ttlItt!ttt.Itttltt"
0046 BICO:
004630 021527 000034 cMP (RS) 434
63 001053 BNE eBICO . IF IN WRONG SEQUENCE GO TO HLT ABOVE
636 005;15 INC (RS)
640 012703 177777 MOV #177777 .R3 : LOAD REGISTER
64t 012700 000136 MOV #TEMP R * PLACE THE ADDRESS OF LOCATION TEMP IN RO
004650 012710 125252 MOV #125252. (RO) * SET (RO)
004654 277 SCC
004656 041003 BIC (RO) ,R3 : CLEAR EVERY OTHER BIT
660 004737 017066 JSR PC,aNsCC1 * CHECK FOR CC = 1
664 031003 BIT (RO) ,R3 * CHECK IT
001404 BEC 1% * CONTINUE IF OK
004670 012745 000135 MOV #135,-(R5)
004674 005245 INC -(R5)
004976 ogogog HAL T : BIC OR BIT INSTRUCTION FAILED
004700 032703 052525 1$: BIT #52525,R3 * CHECK IT
4704 004737 017066 JSR PC,a8CC1 * CHECK FOR CC = 1
710 052703 125252 BIS #125252.R3 * SET THE BITS THAT WERE CLEARED
004714 100404 BM] 2% * CONTINUE IF OK
716 o1g745 000136 MOV #136,=(R5)
722 005245 INC -(R5)
004724 000000 HALT : : BIT OR BIS INSTRUCTION FAILED
8827 6 042703 077777 2%: BIC #77777 .R3 * CLEAR ALL THE BITS EXCEPT FOR SIGN
732 004737 017256 JSR PC,a#$(C11 * CHECK FOR CC = 11
004736 012700 177777 MOV #177777 RO
004742 030603 BIT RO,R3 : CHECK IT
004744 004737 017256 JSR PC.a#$CCT * CHE(K FOR CC = 11
004750 000263 SEV( P SET V& CBITS
004752 oaoogo BIC RO,RO
004754 004737 017172 JSR PC,8((S : CHECK CC = 5
004760 005700 ST RO * CHECK RO TO CONTAIN O
004762 001404 BEQ INCO
004764 ERICO:
004764 012745 000137 MOV #137,-(RS)
004770 005245 INC -(RS)
004772 (0G000C HALT : BIC FAILED OR SEQUENCE ERROR

SEQ 0036




L 3

CUKAAC MACYTY 30401052) 09-0(T-78 08:59 PAGE 38
CYKAAC ,PT 09=0(T=78 (08:58 134 NEW INSTRUCTIONS USED IN THIS SECTION ARE BIC, BIT SEQ 0037
1697




—

M3

(VKAAC MACY!? 30A(1o;g) 09=0CT=-78 08:59 PAGE 39
CVKAAC .P11 06=-0CT=78 08:58 134 NEW INSTRUCTIONS USED IN THIS SECTION ARE BIC, BIT SEQ 0038
{282 :'-litttittttttttiltttttttttt'tt.ltl.ttltttlttﬁtttl"tttt.ttitttttttttttt.'tt.t
1495 SSTEST: 35 NEW INSTRUCTIONS USED IN THIS SECTION ARE INC, DEC
1[.% ":tttttttttl'tttttttttittttittttttﬁttitttttttlttt!ttltt.lt‘tttt..ltttttttttt't
1497 :
1498 004774 INCO:
16499 004774 021527 000035 CMP (R5) , 435
1500 005 001404 BEQ 2% : IF IN WRONG SEQUENCE GO TO HLT BELOW
1501 005002 012745 000140 MOV #140,~(RS)
1502 005006 005245 INC -(RS)
1503 005010 000600 HAL T : PROGRAM IS IN WRONG SEQUENCE
1506 005012 005;15 2%: INC (RS)
1505 00501 012704 077777 MOV 877777 R4 . R4=77777




CVKAAC MACY11 30A(1052)

CVKAAC.P11 09-0CT~7

00502
005022 005204
004737

BR3R
2

828
VIR =)

v

o

~

~n

sxg
N

LS N T S L e T e B
~
W
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3
S
o
BN Eoros
RIRRIR

— i D el D ) e o ) D — — ] o -}
o
v

i Ay oo

8885552
FRRFSER

~
N
~

09-0CT-78 08:59 PAGE 40
08:58 T35 NEW

217320
177776

017256
017172

017066
000001

000141

017172

017256
100000

017126
017066

L%:

SEC
INC
JSR
MOV
INC
JSR
INC
JSR
INC
JSR
(MP
BEQ
MOV
INC
HALT
SEC
DEC
JSR
DEC
JSR
MOV
DEC
JSR
DEC
JSR

N 3
INSTRUCTIONS USED IN THIS SECTION ARE INC, DEC

R4
PC,a#$CC13
8177776 R4

R4
PC.a#$CC11
R&4
PC,a#8CC5
R4
PC.a#$CC1
#1,R4

4%
#141,-(R5)
-(RS)

R4
PC,a#8C(5
R4
PC,a#$(C11
#100000C ., R4
R4
PC,a#8CC3
R4

C.ansCC1

. CHECK FOR CC
. CHECK FOR CC
. CHECK FOR CC

: CHECK IT
; FAILED

* CHECK FOR CC
" CHECK FOR CC

: ADD ONES INTO R
: CHECK FOR CC

n

i

"

EG. 4
13

1
5
1

; INC INSTRUCTION FAILED

; SUBTRACT CNES FROM REG. 4
; CHECK FOR CC = 5

; CHECK FOR CC

1

3
1

SEQ 0039




vV
Vi
2SS
n
§§§§

~

~

VDWW =

23833832833838323338383338333338

737 017256
022703 125252

CVKAAC.P11 09=0C T~
3
15
15
t o ——
15%9 126 001404
1538 140 012745 000142
1539 144 005245
1540 146 000000
1541 150 005215
154% 152 012703 125252
154 156 000277
1544 160 005103
1545 162 004737 017004
1546 166 02270% 052°.°¢
1547 172 001404
1548 174 01§745 000142
;548 200 005245
,
|
|
1
1

LYY L W N N N VI L LV IV DV TV LV TV LV DN LV LV WL LV LV Y
ASLST SN S LVLS

10

5 14

5 20

1556 2 012745 000144
1557 6 005245

1558 000000

1559 32 012703 177777
1560 236 000277

1501 240 005103

156% 242 004737 017172
156

1564

1565
1566

1567

1568

1569

1570 005246

1571 005246 021527 000037
157% 005252 001025

1573 005254 005215

1574 005256 012700 (00001
1575 005262 005400

1576 005 004737 01725€
1577 005270 022700 177777
1578 005276 001404

1579 005;56 012745 000145
1530 005302 005245

1581 005304 000000

158% 005306 012700 100000
1583 005312 005400

1584 005314 004737 017320
1585 005320¢ 02270C 100000
1586 005324 001404

(VKAAC MACY11 30A(1052) 09-0CT=78 08:59 PAGE
78 08:58 136

41

B &
NEW INSTRUCTION IN THIS SECTION IS CCM

SEQ 0040

"tt'tttliitttttt*ttt.l‘..ttttittlt*ﬁt**i...tli"'tttittﬁtt'i!.itt.ittii..t'l

NEW INSTRUCTION IN THIS SECTION IS COM

S*TEST: 36

::tﬁt*itttitttti**t*‘ttiit..ittittﬁtlt**i'.ﬁ.ilitttﬁttllﬁ!"tiQ‘t.tttitttt.i‘

COMO:

1%:

°%:

3%:

JSR

(RS) 436

1%
#142,-(R5)
-(RS)

(RS)
#125252,R3

R3
PC ansC?
.ﬁﬁggq.gz
s
"l.<.— 1

-:f,ﬁ'l

R3
PC,a#8CC11
#125252,R3

3%
#144 ,-(RS)
-(R5)

8177777 ,R3

R3
PC,a#$CC5

; IF IN WRONG SEQUENCE GO TO HLT BELOW

TEST IS IN WRONG SFQUENCE
LOAD EVERY OTHER BIT

1'5 COMPLEMENT /
CHECK FOR (C = 1

(HECK 17T

T INGE TE e

D UM OINSTROCT DR T A

LIS LI

COMPLEMENT BA(K
(HECK FOR CC = 11
CHECK IT
CONTINUE IF OK

COM INSTRUCTION FAILED

CHECK FOR CC = 5

'-tttiit'ﬁt*tﬁi*ttitiii‘i*'t‘.".'tt.tt**tt‘tﬂﬁ.ﬁi.t*tt*iitiitiitt.tttt'it".

TRTEST: 37

NEGO:

1%:

CMP
BNE
INC
MOV
NEG
JSR
CMP
BEO
MOV
INC
HALT
MOV
NEG
JSR
(MP
BEG

NEW INSTRUCTION IN THIS SECTION IS NEG

:;'itttl.tttttﬁ*t‘*.""i't'tttQtt.&t&tttiitt'titiﬁ!ﬁtﬁﬁ*‘ﬁ"‘i‘..ti.i'.'t't.

(RS) 437
ENEGO

RO
PC,ao8CC11
81727777 RO

28
#145,=(RS}
=-(RS)

#100000,R0
RO
PC,aN80(13

#°AC000,RC
ROLO

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD THE REGISTER
2'S COMPLEMENT
CHECK FOR (C = 11
CHECK 17

CONTINUE IF OK

; NEG INSTRUCTION FAILED

2'S COMPLEMENT
(HECK FOR (C = 13
CHECK [T

CONTINUE 1F OF




C 4
CVKAAC MACY1T 30A(1052) 09-0CT-78 08:597 PAGE 42

CVKAAC.PTT 09-0CT=78 0B:58 13 NEW INSTRUCTION IN THIS SECTION IS NEG SEQ 0047
1587 005326 ENEGO:
1538 005%;3 012745 000146 MOV #146,-(RS)
1589 005 005245 INC -(RS)

1590 00533« 000000 HALT ; ‘WRONG RESULT IN RO OR WRONG SEQUENCE
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CUKAAC MACY11 30A(1052) 09=-GCT-78 08:59 PAGE 43
CVKAAC.P11  09=0CT-78 08:58 140 NEW INSTRUCTION IN THIS SECTION IS ROL SEQ 0042
1591 ;;tttttttttttttttttttttttttttttttitttttttttitt'tttitttttﬁtlttttt'ttt'ttttttti
1592 :«TEST: 4C NEW INSTRUCTION IN THIS SECTION IS ROL

1593 .-:ttttttﬁtttttttttttttttttntttttttttlttttttttttttttttttttttttttttttttttttttti
1594,

1595 005336 ROLO:

1596 005336 021527 000040 (RS) ,#40

1597 005342 001026 BNE EROLb : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
1598 005344 005215 INC (RS)

1599 005346 012701 020000 MOV #20000,R1 : LOAD REGISTER

1600 005352 000257 ccc : CLEAR FLAGS

1601 885354 006101 ROL R1 ; SHIFT

wog 5356 006101 ROL R1 :

160 005360 004737 017300 JSR PC.,a#$CC1e2 : CHECK FOR CC = 12

1604 005364 022701 100000 CMP #100000,R1 . CHECK IT

1605 002370 001404 BEQ 1% : CONTINUE IF OK

1606 005372 012745 000147 MOV #147,-(R5)

1607 005376 005245 INC -(R5)

1608 005400 000000 HALT : ROL INSTRUCTION FAILED

1609 005402 006101 1%: ROL R1 : SHIFT

1610 005404 004737 017214 JSR PC,a#8CC7 : CHECK FOR CC = 7

1611 005410 006101 ROL R1 L SHIFT

1612 005412 022701 000001 CMP #1,R1 * CHECK IT

1613 005416 001404 BEQ RORO * CONTINUE IF OK

1614 005420 EROLO: .

1615 005420 012745 000150 MOV #150,~(RS)

1616 005424 005245 INC -(RS)

12}; 005426 000000 HALT : WRONG RESULT IN R1 OR WRONG SEQUENCE

e

1621 .-‘-ttttttttttt*ttlltttttittttttttlt*t*ttltttttttttttttttt*ttttt*titttttittittt
12%; :*TEST: 41 NEW INSTRUCTION IN THIS SECTION IS ROR

1 ::tttttttttttttttt*ttttttttttttttk*tittttttttttttttttttttittttttttttttttttitt
1624

1335 005430 RORO :

1626 005430 021527 000041 CMP (RS) ,#41

1627 005434 001026 BNE ERORO : 1F IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
1628 005436 005215 INC (RS)

1629 005440 012702 000004 MOV #4 R2 : LOAD REGISTER

1630 005444 000257 CCC : CLEAR FLAGS

1631 005446 006002 ROR R2 : SHIFT

163§ 005450 002 ROR R2 ;

1633 005452 022702 000001 CMP #1,R2 * CHECK IT

1634 005456 001404 BEQ 1% * CONTINUE IF OK

1635 005460 012745 000151 MOV #151,~(RS)

1636 005464 005245 INC - (RS’

1637 005466 HAL T : ROR INSTRUCTION FAILED

1638 005470 006002 1%. ROR R2 ; SHIFT

1639 005472 004737 017214 JSR PC,aN$C(7 * CHECK FOR CC = 7

1640 005476 006002 ROR R2 L SHIFT )

1641 005500 004737 017300 JSR PC,a#$C(C12 * CHECK FOR CC = 12

1642 005504 022702 100000 CMP #100000,R2 * CHECK IT

1643 005510 001404 BEQ ASLO * CONTINUE IF Ok

1644 005512 ERORO

1665 005512 012745 000152 r?ﬂv t‘._;gs-(RS)

(] i -




E 4

CUKAAL  MACY'T 304(1052) 09=-0(T=78 08:59 PAGE 44
CVRAAC P 09=0( T=78 08:58 141 NEW INSTRUCTION IN THIS SECTION IS ROR SEQ 0043

16? 005520 000GO0 HALT ; WRONG RESULT IN R2 OR WRONG SEQUENCE




CvKAAC MACY11 30A(1052)
CVKAAC.P11 09-0CT=7

viuoauhuanuonnuh
S S C Y
(] o
— —
OO WNINY) =2
N

RN S S

%
o
v i v

822222323223222223222238
223

3538
388

) el e ) e ) D i sl
2333323323
3@\!0\”4‘\:‘1\)—'

B3LRERERE
3
v

004737
022703
005706 001404

012745
005245

LD ROD RO
SR80R0 00008

ERE
.
3

000042
000153

020000

017300
100000

000154

017214
017150

000043

000004

000001
000155

017214

017150
100002

017256
160000

000156

09§0CT-78 08:52 PAGE

142

45

F o4
NEW INSTRUCTION IN THIS SECTION IS ASL

SEQ 0044

"ttttttltlt.ititttittt*tttﬁiﬁ‘t*tﬁiiiitﬁﬁt!tt‘*ittttttttiitt't*tﬁﬁ‘itﬁtt‘itt

NEW INSTRUCTION IN THIS SECTION IS ASL

::itttttttttttﬁiiittttﬁﬁitttltﬁti*t*i‘*itlt'ﬁttl*i*i‘ﬁ*'ttiitiittltt'*ttttttt

L*TEST:

ASLO:

2%:

4%:

42

BEQ
MOV
INC
HALT
INC
MOV
CcCC
ASL
ASL
JSR
CMP
BEQ
MOV
INC
HALT
ASL
JSR
ASL
JSR

(R5) 442

2%
#153,-(R5)
-(R5)

(R5)
#20000,R3

R3

R3
PC,aN$CC12
#100000,R3
4%
#154,-(RS)
-(R5)

R3
PC,a#8CC7
R3
PC,a#8CC4

.
L
.
L]
-
.
-
L
-
L

IF IN WRONG SEQUENCE GO TO HLT BELOW

PROGRA™ IS IN WRONG SEQUENCE

LOAD REGISTER
CLEAR FLAGS
SHIFT

CHECK FOR CC = 12
CHECK IT
CONTINUE IF OK

ASL INSTRUCTION FAILED
SHIFT

CHECK FOR CC = 7

SHIFT

CHECK FOR CC = 4

"itttttﬁt**ttittttittti'itt"*tt*ttttt**ittt*ﬁ***t'.i.tttititli.tttl.lt.ttit

NEW INSTRUCTION IN THIS SECTION IS ASR

::tttttt't*titttﬁttttt*ﬁ.t.'t*tttiittttttttﬁﬁ‘Qtttt‘ttiitiitttt*l‘..l.ttt.it.

LATEST:
ASRO:

1%:

°%:

EASRO:

43

CMP
BNE
INC
MOV
cCcC
ASR
ASR
CMP
BEQ
MOV
INC
HALT
ASR
J3R
ASR
JSR
MOV
ASR
ASR
JSR
CMP
BEQ

MOV
INC

(RS) 443
EASRD

#155,-(R5)
=(R5)

R4
PC,ans0C7
R4
PC,aN$CC4
;}boooz.ns

R3
PC,a#$C(1]
#160000,R3
ADCO

#.56,-(RS)
-(R5)

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD REGISTER
CLEAR FLAGS
SHIFT

CHECK IT
CONTINUE IF OK

ASR INSTRUCTION FAILED
SHIFT

CHECK FOR CC = 7

SHIFT

CHECK FOR CC = &

LOAD REGISTER

SHIFT

CHECK FOR CC = 11
CHECK 1T
CONTINUE IF Ok
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CVKAAC MACY11 30A(1052) 09-0CT-78 08:59 PAGE 46 '
CVKAAC.PTT 09-0( 1=-78 Q8:58 143 NEW INSTRUCTION IN THIS SECTION IS ASR SEQ 0045 |

1704 005776 Q0 HALT : WRONG RESULT IN R3 OR WRONG SEQUENCE




H &
CVKAAC MACY11 30A(1052) 09-0(T-78 08:59 PAGE 47
8:58 T44

CVKAAC.P11  09-0CT=78 0 NEW INSTRUCTION IN THIS SECTION IS ADC SEQ 0046
1708 ::tttttttttttttltt.ttttttttttttttlttttttttttttttlttl'tttt'!ﬁ'tttttttttttttttt
1706 TATEST: 44 NEW INSTRUCTION IN THIS SECTION IS ADC
1707 ;;tttttttttttttttttﬁ'ttt'tttQttttttttttttttttttttitttittttttttﬁttﬁttnt'ttttit
1708
1709 005720 ADCO:

1710 005720 021527 000044 (MP (RS) ,#44

1711 005724 001404 BEQ 2% : IF IN WRONG SEQUENCE GO TO HLT BELOW
1712 005726 012745 000157 MOV #157,-(R5)

1713 005732 005245 INC -(RS)

1714 005734 000000 HALT : PROGRAM IS IN WRONG SEQUENCE
1715 005736 005215 2%: INC (RS)

1719 005740 005000 CLR RO : CLEAR THE REGISTER

1717 005742 000257 cCC ; CLEAR FLAGS

1718 005744 005500 ADC RO : ADD C BIT = 0

1719 005746 004737 017150 JSR PC,a#$CC4 : CHECK FOR CC = 4

1720 005752 000261 SEC : C=1

1721 005754 005500 ADC R0 ; ADD C BIT=1

1722 005756 000261 SEC ;s C=1

1723 005760 005500 ADC RC ; AGAIN

1724 005762 004737 017046 JSR PC.,a#$(C0 : CHECK FOR CC = 0

1725 005766 022700 000002 CMP #2,RO ; CHECK IT

1726 005772 001404 BEQ 4% ; CONTINUE IF OK

1727 005774 012745 000160 MOV #160,-(RS)

1728 006000 005245 INC =(RS)

1729 006002 000000 HALT : ADC INSTRUCTION FAILED

1730 006004 012700 077777 4%: MOV #77777 ,RO : LOAD LARGEST POSITVE NUMBER
1731 006010 000261 SEC : C=1

1732 006012 005500 ADC RO ; ADD ( BIT=1

1733 006014 004737 017300 JSR PC,a#$CC12 : CHECK FOR CC = 12

173 006020 022700 100000 CMP #100000,RO : CHECK IT

1735 006024 001404 BEQ 68 : FAILED

1736 006026 012745 000161 MOV #161,-(RS)

1737 006032 005245 INC =(RS)

1738 006034 000000 HALT : ADC INSTRUCTION FAILED

1739 006036 012700 177777 0$: MOV #-1,R0 ; LOAD =i

1740 006042 000261 SEC ; (=1

1741 006044 005500 ADC RO : ADD C BIT=1

};2% 006046 004737 017172 JSR PC,a#8C(5 : CHECK FOR CC =5

1744

1745

1746 ;:tt*ttt*t*tt*tltitt**ttt*t*tttttQttttttttti*tttitﬁittttttttttttttitt!iﬁ&tttt
1747 ;*TEST: 45 NEW INSTRUCTION IN THIS SECTION IS SBC

1748 ;:ttttttwttttittiit*ttttttttttttttttttttt**tttttttttttttittttﬁt'ttttttttttttc
1749

1750 006052 SBCO:

1751 052 021527 000045 CMP (RS) , 445

175% 056 001404 BEQ 1% ; IF IN WRONG SEQUENCE GO TO HLT
175 012745 000162 MOV #1¢62,-(RS?

1754 005245 INC =(RS)

1755 006066 000000 HALT : TEST IS IN WRONG SEQUENCE
1756 006070 005215 1%: INC (RS)

1757 006072 012701 000003 MOV #3,R1 ; LOAD REGISTER

1758 00776 000257 (CC : CLEAR FLAGS

1759 006100 005601 SB( K’ : SUBTRACT C BIT=0

1760 006102 004737 017046 ISR PC,a#$((0 ; (HECK FOR CC =0
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CVKAAC MACYTT 30A<1osg) 09-0CT-78 08:59 PAGE 48
CVKAAC.P1T 09-0CT-78 08:58 T45 NEW INSTRUCTION IN THIS SECTION IS SBC SEQ 0047
1761 006106 022701 000003 CMP #3.R1 ; CHECK IT
17 006112 1404 BEQ 2% : CONTINUE IF OK
1763 006114 012745 7200163 MOV #163,-(RS)
1764 88215g 005245 INC -(R5) :
1765 1 000000 HALT ; SBC INSTRUCTION FAILED
1766 006124 000261 2%: SEC : C=1
1767 006126 005601 SBC R1 : SUBTRACT C BIT=1
1768 8821 000261 SEC : C=1
1769 132 005601 SBC R1 :
1770 006134 004737 017046 JSR PC,a#$CCO : CHECK FOR CC = 0
1771 006140 022701 0C0001 {MP #1,R1 : CHECK IT
177§ 882144 001404 BEQ 3% ; CONTINUE IF OK
177 146 012745 000164 MOV #164 ,~(RS)
1774 006152 005245 INC -(RS)
1775 006154 000000 HALT : SBC INSTRUCTION FAILED
1776 006156 000261 3%: SEC : C=1
1777 006160 005601 SBC R1 : SUBTRACT C BIT=1
1778 006162 004737 017150 JSR PC,a#8CC4 : CHECK FOR CC = 4
1779 006166 000261 SEC : C=1
1780 006170 005601 SBC R1 : SUBTRACT C BIT =1
1781 006172 004737 01725¢ JSR PC,a#$CC1" : CHECK FOR CC = 11
1782 006176 022701 177777 CMP #-1,R1 : CHECK IT
178% 006202 001404 BEQ 4% ; CONTINUE IF F OK
1784 006204 012745 000165 MOV #165,-(RS)
1785 006210 005245 INC -(R5)
1786 006212 000000 HALT : SBC INSTRUCTION FAILED
1787 006214 012701 100000 4%: MOV #100000,R1 ; LOAD R1
1788 006220 000261 SEC : =1
1789 006222 0Qu5601 SR( R1 ; SUBTRACT  BIT =1
1790 006224 004737 017106 JSR PC,a#8CC2 : CHECK FOR (C = 2
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49

J &
NEW INSTRUCTION IN THIS SECTION IS SXT

SEQ 0048

"tttttt'tttttttﬁtt**ﬁ"'.i'itti.ttt‘!ti.Q..tttttiltt"tﬁtﬁ"t'ﬁtQti'iltttiit

NEW INSTRUCTION IN THIS SECTION IS SXT

;:tttttttﬁ*'*'ﬁttt**ttttti‘iﬁﬁt.*t.tittﬁtttt'itﬁ..ﬁﬁ.tiIiltttttttﬁti'ﬂtt.ttil

LATEST:
SXTO:

1%:

2%:

ESXTO:

46

BNE
INC

SENVC
SXT
JSR
CMP
BEQ

MOV
INC
HALT

(RS) ,#46
EsxTO
(R5)

R2

R2
PC,a#$CC5
R

2%
#166,-(R5)
-(R5)

R2
PC,a#$CC17
#-1,R2
SWABQ

#167,-(R5)
-(R5)

(TR TPETE SRR L]

: IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

CLEAR REGISTER

SIGN EXTEND

CHECK FOR CC = 5

REG. 2 SHOULD STILL BE 0
CONTINUE IF OK

SXT INSTRUCTION FAILED
SET N, V & C BITS

SIGN EXTEND

CHECK FOR CC = 11

REG. 2 SHOULD NOW HAVE -1
CONTINUE IF OK

WRONG RESULT IN R2 OR WRONG SEQUENCE

"ttttt*tit'tttit*t'tttQ!ttit.i..tt*ﬁ!!ﬁ**t!ﬁ!titttiitﬁttt.'ttﬁ**ittitiittttt

NEW INSTRUCTION IN THIS SECTION IS SWAB

::ttlttttitttttt‘i'ttl!ttlttit*lttt*ﬂ‘*'t*itﬁ'tttitttﬁtt*tttt*tttttttttt*ﬁlit

LRTEST:

SWAROQ :

1%:

FSWARQ :

47

(MP
BNE
INC
MOV
SCC
CLN
SWAB
JSR
CMP
BEQ
MOV
INC
HALT
MOV
SCC
cLZ
SWAB
JSR
(MP
BEQ

(R5) 447
E SWABO

(R5)
#125125.R3

R3
PC,a#8CC10C
qgéasz.ns

#170,-(R5)
-(R5?

#37°7 ,R3

R3
PC,an$(C4
#177600,R3
xc”0

: IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST

LOAD BIT PATTERN INTO REGISTER

SWAP BYTES OF REGISTER
CHECK FOR CC = 10
CHECK IT

CONTINUE IF OK

SWAB INSTRUCTION FAILED

; CHE(K FOR CC = &
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CYKAAC.P11 09-0CT1-78 0 NEW INSTRUCTION IN THIS SECTION IS SWAB SEQ 0049
1847 006406 012745 000171 MOV #171,-(R3)
1848 006412 005245 INC -(R5)

1849 006414 00C000 HALT ; WRONG RESULT IN R3 OR WRONG SEQUENCE
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CUKAAC. P11 06-0C1-78 08:58 NEW INSTRUCTION IN THIS SECTION IS XOR SEQ 0050
1850 ::ttttt.tttttittttttttttttttitttttt‘ttttttitttitt!!lttttttttﬁtttittttttt!tttl
1851 S*TEST: SO NEW INSTRUCTION IN THIS SECTION IS XOR
185 _-;tttttlt-ttittttttttttttttttttttttﬁttttttlltitttitttlttt'ttttttittittttﬁtttt
185
1854 006416 XORO :

1855 006416 (021527 000050 cMP (RS) ,#50

1856 006422 001034 BNE EXORO . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
1857 006424 005215 INC (RS)

1858 006426 015704 177777 MOV #-1,R4 : LOAD REGISTERS

1859 006432 012703 177777 MOV #-1,R3 :

1860 006436 000277 5CC

1861 882240 o74&gs XOR R4 ,R3 : SHOULD PRODUCE Q'S IN REG. 3

1 42 004737 017172 JSR PC,a#$CC5 > CHECK FOR CC = §

1863 006446 012703 077777 MOV 877777 .R3

1864 006452 010400 MOV R4 ,RO : PLACE A =1 IN RO

1865 006454 000263 SEVC “ SET v & C BITS

1866 006456 000244 L2

1867 006460 074003 XOR RO,R3

1868 006462 004737 017256 JSR PC,a#8CC11 : CHECK FOR CC = 11

1869 882266 012702 125252 MOV #125252,.R2 > LOAD REGISTERS

1870 72 0127064 052525 MOV #52525 ,R4 .

1871 006476 000277 SCC

13;% 006500 074204 XOR R2,.R4 : SHOULD PRODUCE ALL 1'S IN REG. 4

1873 006502 004737 017256 JSR PC.,a#$CC11 : CHECK FOR (C = N

1874 006506 022704 177777 CMP #-1,R4 : CHECK IT

1875 006512 0014064 BEQ ADDO - CONTINUE IF OK

1876 882514 EXORO:

1877 514 012745 000172 MOV #172,-(RS)

1878 006520 005245 INC -(R5)

13;3 006522 000GC00 HAL T : WRONG RESULT IN R4 OR WRONG SEQUENCE
1885

1%3 :'-tttttttttttttt*tQtttttttttttttﬁtﬁttiti!ttttiitttt'tt*tittttttt'ttittttitttt
1884 “*TEST: 51 NEW INSTRUCTION IN THIS SECTION IS ADD

1885 '-:ttﬁttttttttttttttttﬁttttttttttttttttttttttttttttttttttﬁ*ﬁt&ttttttttttttttit
1886

1887 006524 ADDOQ:

1888 006524 021527 000051 CMP (RS) ,#51

1889 0065 001055 BNE EADDO . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
1890 006532 005215 INC (RS)

1891 882534 012707 021421 MOV #21421,R1 : LOAD REGISTERS

189; 540 060101 ADD R1,R1 : ADD

189 542 og4737 017046 JSR PC,a#$CC0 * CHECK FOR CC = 0

1894 543 802?01 043042 CMP #4%042 ,R1 . CHECK IT

1895 55 1404 BEQ 1% * CONTINUE IF Ok

1896 §54 012745 000173 MOV #173,-(R5)

1897 006560 005245 INC -(R5)

1898 006562 000000 HALT : ADD INSTRUCTION FAILED

1899 882594 012700 156357 1%: MOV #-21421,R0 . LOAD REGISTERS

1900 570 ADD RO,RC : ADD

1901 006572 737 017256 JSR PC,a#$CC11 * CHECK FOR CC = 17

190; 576 022700 134736 (MP #-43042,R0 : CHECK 1T

190 0014 BEQ 2% : CONTINUE If Ok

1904 012745 000174 MOV 874 ,-(R5)

1905 006610 005245 INC -(RS)
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CVKAAC P11 09-0CT=-78 08:58 NEW INSTRUCTION IN THIS SECTION IS ADD SEQ 0051
1906 006612 HAL T : ADD INSTRUCTION FAILED
1907 006614 012702 100000 2%: MOV #100000,R2 : LOAD REGISTERS
1908 0 ;o; ADD R2.R2 * ADD SHOULD RESULT AS 0'S
1909 2 004737 Q17214 JSR PC.aNsCC? “CHECK FOR CC = 7
1910 006626 015704 021421 MOV #21421 R4 * LOAD REGISTERS
1911 006632 012701 156357 MOV #-21421,R1 p
191§ 006636 060401 ADD R4 ,R1 * ADD SHOULD RESULT AS 0'S
191 %o 001404 BEQ 3% > CONTINUE IF OK
1914 2 012745 000175 MOV #175,=(RS)
1915 006646 005245 INC -(R5)
1916 006650 000000 HAL T : ADD INSTRUCTION FAILED
1917 006652 005404 3% NEG R4 * SWITCH SOURCE AND DESTINATION
1918 006654 012707 021421 MOV #21421,R1 :
1919 006660 060104 ADD R1,Ré4 * SHOULD RESULT AS 0'S
1920 006662 001404 BEQ SURO - CONTINUE IF OK
1921 006664 £ADDO :
192§ 006664 012745 000176 MOV #176,=(RS)
1923 006670 005245 INC -(R5)
1924 006672 000000 HAL T : WRONG RESULT IN R1 OR WRONG SEQUENCE
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CVKAAC.P11 NEW INSTRUCTION IN THIS SECTION IS SUB SEQ 0052
1925 ::ttttttttttttt*ttttlttittttttwﬁtttttt*tlttltttttttﬁttﬁtttttttttttttt!ttttt.t
1924 T*TEST: 52 NEW INSTRUCTION IN THIS SECTION IS SUB
19 7 .-;ttttttttttttttttttttttttttttttttttttttttitt.tttttittttttttttttttttttttttttt
1928
1929 006674 SUBO:

1930 006674 021527 000052 rMP (RS) ,#52

1931 006700 001404 BEQ 2% : IF IN WRONG SEQUENCE GO TO HLT BELOW
19 882702 012745 000177 MOV #177,=(RS)

19 706 005245 INC =-(RS5)

1934 - 006710 000000 HAL T : PROGRAM IS IN WRONG SEQUENCE

1935 006712 005215 2%: INC (RS)

1939 006714 o1g7o§ 021421 MOV #21421,R2 : LOAD REGISTERS

1937 006720 012703 156357 MOV #-21421,R3 :

19§g 006724 160203 SUB R2,R3 * RESULT SHOULD==43042

1939 006726 004737 017236 JSR PC.a#$CC10 * CHECK FOR CC = 10

1940 006732 022703 134736 CMP #-43042 ,R3 : CHECK IT

1941 006736 001404 BEQ 4% > CONTINUE IF OK

19&5 006740 012745 000200 MOV #200,~(RS)

19643 006744 005245 INC -(RS5)

1944 006746 000000 HALT : SUB INSTRUCTION FAILED

1945 750 012703 021421 4%: MOV #21421,R3 * LOAD REGISTER

1946 754 010204 MOV R2,R4 * NOW R4 = #21421

1947 006756 160403 SUR R4 ,R3 * RESULT SHOULD=0

1948 760 001404 BEQ 6%

1949 762 012745 000201 MOV #201,-(RS)

1950 766 005245 INC -(RS)

1951 770 000000 HAL T : SUB NSTRUCTION FAILED

195§ 006772 012703 177777 6% MOV #-1,R3 > LOAD REGISTERS

195 776 012702 077777 MOV 877777 ,R2 . LOAD REGISTERS

1954 007002 160302 SUB R3,R2 * RESULT SHOULD BE 100000 AND OVERFLOW
1955 007004 004737 017320 JSR PC.a#$CC13 > CHECK FOR CC = 13

1959 007010 022702 100000 CMP #100000,R2 * CHECK IT

1957 007014 001404 BEQ 8% * CONTINUE IF OK

1958 007016 012745 000202 MOV #202,=(RS)

1959 7022 005245 INC -(R5)

1960 007024 000 HAL T . SUB INSTRUCTION FAILED

1961 7026 012706 177777 2$: MOV #-1,R4

19o§ 7032 160304 SUB R3,R4

}gg‘ 004737 017150 JSR PC.aAN$CC4 . CHECK FOR CC = 4

1965

1% ;.-tttttttttttttttttttttttt*'tttttttttttt*ﬁtttttt*ttttttittﬁtttttttttttttititt
1967 L*TEST: 53 NEW INSTRUTTIONS IN THARE SECTION IS MTPS & MFPS

1968 ;;tttttttt*ttttt**tttttttttxttttttattttttt*ttttt*t*tntttttt*ttt-ttttwﬁtwttt-t
19¢9

1970 007040 PSW:

1971 7040 021527 000053 CMP (RS) ,#53

197 ma&wa BNE EPSW : IF IN WRONG SEQUENCE THEN GO TO HLT AT THE END OF THE
197 7046 5;15 1%: INC (R3)

1974 go 88% 01 177777 MOV #177777 .R1

1975 4 000 CLR RO

197 56 MTPS RO ; SET PSW TC 0

197 106429 JWORD  106400!..C

19 7 0047 017046 JSR PC,a#8(C0O : CHECK FOR €C = ©

19 7064 MF PS R : MOVE PSW TO R1

1980 (007064 106701 WORD  106700!..C
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FPCw:

B 5
54
NEW INSTRUCTIONS IN THARE

BEQ 2%

MOV #203,-(RS)
INC -(R5)

HAL T

JSR PC,aW$CC4
MOV ggfr.ao

.WORD  106400!..C
JSR PC.a#8CC17

R1
.WORD  106700!..C
JSR PC, a#$CC11 :

CMP #177757 .R1 .
BEQ MODEOQ

MOV #204 ,-(RS)

INC -(RS)

HAL T :

SECTION IS MTPS & MFPS SEQ 0053

: CONTINUE IF BIT 8 OF PSW WAS EXTENDED IN R1

; MTPS OR MFPS INSTRUCTION FAILED

CHECK FOR CC = 4
SET PSW TO 357 SINCE MTPS DOES NOT SET T BIT

CHECK FOR CC = 17
MOVE PSW TO R1

CHECK FOR CC

=1
CHECK TO SEE IF

$C BIT SHOULD NOT BE EFFECTED BY MFP

1
BIT 8 OF PSW WAS EXTENDED THRU R1

: MTPS OR MFPS INSTRUCTION FAILED OR WRONG SEQUENCE
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CVYKAAC P11 09=0CT=78 0B:58 LSI=11 INSTRUCTIONS NOT MODE 0 SEQ 0054
1999
5883 2 LSI-11 INSTRUCTIONS NOT MODE 0
200 )
200
004 :'-tttttttttt*tttttttttttttttttttttttttttttﬁﬁﬁtitttltittltlttttt"!ttttttttttt
5 -«TEST: 54 CHECK MODES O € 1 USING THE MOVB AND MOV INSTRUCTIONS
::tttttttttﬁtttttt*ttitttttttttttttttttt*ttttﬁtlittttttttt'ititttl'tttttttttt
2008 007142 MODEQ:
007142 021527 000054 (MP (R5) ,#54
010 007146 001063 BN EMODEO : IF IN WRONG 3EQUENCE GO TO HLT AT THE END OF THE TEST
2011 007150 005;15 INC (RS)
201§ 007152 112700 000252 MoVB #252,R0 : LOAD REGISTERS
201 007156 110001 MOVR RO,.R1 F
2014 007160 110102 MOVR R1,R2 :
2015 007162 122702 000252 (MPB #252.R2 : CHECK IT
2016 007166 001404 BEQ 1% : Ok, CONTINUE
2017 007170 012745 000205 MOV #295,-(RS)
2018 007174 005245 INC -(RS)
2019 007176 000000 HAL T : MOV INSTRUCTION FAILED IN MODE O
2020 7200 012700 125252 1%: MOV #125252 ,RC : LOAD REGISTERS
2021 7204 010001 MOV RO,R1 :
20% 007206 010102 MOV R1,R2 :
007210 022702 125252 CMP #125252,R2 * CHECK IT
2024 007214 001404 BEQ MODE 1 : 0K, CONTINUE
2025 007216 012745 000206 MOV #206,=(RS)
2026 007222 005245 INC -(R5)
20%; 007224 000000 HALT : MOV INSTRUCTION FAILED IN MODE O
007226 012700 000136 MODE1: MOV #TEMP RO : LOAD ADDRESSES INTO REGS.
007232 012701 000140 MOV #TEMPT,R] :
2031 72% 012702 000142 MOV #TEMPZ ,RZ2 -
2032 007242 005067 170674 CLR TEMP?2 : START CLEAN
2033 007246 112710 000125 MOVR #125, (RO : LOAD THE LOCATIONS
2034 007252 11101 MOVR (RO), (R1) : TEMP ===> TEMP1
2035 007254 111112 MOVR (R1), (R2) : TEMP1 ===> TEMP2
2036 007256 122767 000125 170656 CMPR #125,TEMP2 : CHECK IT
2037 007264 001404 BEQ 1% : 0K, CONTINUE
2038 0072 012745 000207 MOV #207 ,-(R5)
2039 007272 005245 INC -(RS5)
2040 7274 000000 HALT : MOV INSTRUCTION FAILED IN MODE 1
2041 7276 012710 05252¢ 1%: MOV #52525., (RO) : LOAD THE LOCATIONS
2065 007%85 0110M MOV (RO),(R1) : TEMP ===> TEMPI1
204 7 011112 MOV (R1),(R2) : TEMP1 ===> TEMP?
2064 007306 022767 052525 170626 CMP #52525,TEMP2  : CHECK IT
2045 7314 001404 BEQ MODE 2 : 0K, CONTINUE
6 007316 EMODEOQ:
2047 007316 012745 000210 MOV #2:0,-(RS
2048 007322 005245 INC -(RS)
2049 007324 000000 HAL T : MOV INSTRUCTION FAILED IN MODE 1
2050 : OR WRONG SEQUENCE
205
205%
205°
205‘. .-.-Qt.tttt'ttttttttttttﬁ.lt"!‘ilttt'tttt".ttttitttt".tti.ttt.itttttt.tt'tn‘
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CVKAAC.P11 09-0C1=-78 08:58 155 CHECK MODE 2 USING THE MOVB AND MOV INSTRUCTIONS SEQ 0055
2055 s«TEST: 55 CHECK MODE 2 USING THE MOVB AND MOV INSTRUCTIONS
2056 ":ttttltttttttttti.ttttttti!tttQtitttit.ttiitﬁtt‘tt.t'tti'tltlttttttt"ﬁtltit
57
%58 007326 MODE2: .
§9 007326 021527 000055 cMP (RS) ,#55
2060 007332 001050 BNE EMODE 2 : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
2061 007334 005;15 INC (RS)
206§ 007336 015 00 000136 MOV #TEMP,RO : LOAD ADDRESSES
2063 00732 012701 000140 MOV #TEMP1,R1 :
2064 007%46 012702 200142 MOV #TEMPZ2 ,R2
2065 887 52 105022 {LRB (R2) + : START CLEAN
2069 7354 112710 000252 MOVB  #252.(R0O) : LOAD THE LOCATIONS
206 7360 112021 MOVR (RO)+,(R1)+ . TEMP ===> TEMP]
2068 007362 105201 INCB  RI1 : MAKE IT EVEN
2069 007364 111167 170546 MOVR (R1) ,TEMP > MORE 0'S INTO TEMP
2070 007370 105200 INCB RO : MAKE IT EVEN
2071 7372 112021 " MOVR (RO)+, (R1)+ P TEMP1 ===> TEMP2
207§ 73764 1264227 000252 (MPB  =(R2) #4252 : CHECK IT
207 7600 001003 BNE 1% : FAILED
2074 007402 105767 170530 TSTR TEMP : CHECK IT
2075 007406 001404 8EQ 2% : 0K, CONTINUE
2076 007410 1%:
2077 007410 012745 000211 MOV #211,=-(RS)
2078 007414 005245 INC -(RS)
2079 007416 000000 HAL T : INSTRUCTIONS FAILED IN MODE 2
2081 007420 005741 2%: TST -(R1)
2082 007422 005022 CLR -~ (R2)+ : START CLEAN
2083 007424 012740 125252 MOV #125252.,-(R0) : LOAD LCCATIONS
<084 0074 012620 MOV (RO)+, (RO) + : TEMP ===> TEMP1
2085 007432 011067 170500 MOV (RO) , TEMP . 0 ===> TEMP
2086 007436 012121 3 MOV (R1)+,(R1)+ : 125252 ===> TEMP?
2087 007440 024227 125252 CMP -(R2) ,#125252 ; CHECK IT
2088 007444 001003 BNE EMODE 2 * FAILED
2089 007446 005767 170464 TST TEMP ; CHECK T
2090 007452 001404 BEQ MODE 3 : 0K, CONTINUE
2091 007454 EMODE2: 3
209; 7454 012745 000212 MOV #212,-(R5)
209 7460 005245 INC -(RS)
2094 007462 000000 HAL T : INSTRUCTIONS FAILED IN MODE 2
2095 : OR WRONG SEQUENCE
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CVKAAC.P11 09-C(T-78 08:58 156 CHECK MODE 3 USING THE MOVB AND MOV INSTRUCTIONS SEQ 0056

2096 ;;-t--tttttttttttttttttttwtttttttttttttta«twntttttttttutqtnm\n--a--a-------t
2097 :=TEST: 56 CHECK MODE 3 USING THE MOVB AND MOV INSTRUCTIONS
2098 :_-t--nm\nntttttttttttttttttttttttttttttt-tﬂmtnttttttttttttt-ﬂnnqtnm.t-ttto
2099
2100 007464 MODE 3:
2101 007464 021527 000056 CMP (R5) ,#56
S10§ 007470 001066 BNE EMODE3 : IF IN WRONG SEQUENCE GO TO HLT ABOVE
103 007472 005215 INC (RS)
2104 007474 012767 000136 170424 MOV #TEMP ,ADR : LOAD ADDRESSES
2105 007502 012767 000140 170420 MOV #TEMP1,ADR1 p
2106 007510 012767 000142 170414 MOV #TEMP2 ,ADR2 3
2107 007516 012700 000126 MOV #ADR R0 : LOAD ADDRESSES OF ADDRESSES
2108 007522 012701 000130 MOV #ADR1,R1 :
2109 007526 105067 170410 CLRB TEMP2 : START CLEAN
2110 0075 112767 000125 1170376 MOVR #125,TEMP 3
2111 007540 113031 MOVB a(RO)+,a(R1)+ : TEMP ===> TEMP1
2112 007542 113167 170370 MOVR a(R1)+,TEMP ; TEMP2 --=> TEMP
2113 007546 113030 3 MOvB a(RO)+,a(RO)+ ; TEMP1 ===> TEMP?2
2114 007550 122767 000125 170364 CMPB #125,TEMP2 ; CHECK IT
2115 007556 001003 BNE 1% : FAILED
2116 007560 105767 170352 TSTR TEMP ; CHECK IT
2117 007564 001404 BEQ 2% : OK, CONTIMUE
2118 566 1%:
2119 007566 012745 000213 MOV #213,-(RS)
2120 007572 005245 INC ={RS5)
2121 007574 000000 HALT : INSTRUCTIONS FAILED IN MODE 3
2122 007576 005067 170340 2%: CLR TEMP2 : START CLEAN
2123 007602 012767 052525 170326 MOV #52525,TEMP : LOAD LOCATIONS
2124 007610 012700 000126 MOV #ADR RO : LOAD ADDRESSES OF ADDRESSES
2125 007614 012701 000130 MOV #ADR1,R1 [
2126 007620 013030 MOV a(R0) +,a(RO) + : TEMP ===> TEMPI
2127 007622 013067 170310 MOV a(R0) +,TEMP ; TEMP2 -==> TEMP
2128 007626 013131 MOV a(R1)+,a(R1)+ : TEMP1 ===> TEMP?
007630 022767 052525 170304 cMP 852525, TEMP?2 : CHECK IT
007636 001003 BNE EMODE 3 ; FAILED
007640 005767 170272 TST TEMP ; CHECK IT7
007644 001404 BEQ MODE 4 ; OK, CONTINUE
007646 EMODE 3:
007646 012745 000274 MOV #214 ,~(R5)
007652 Cu5245 INC -(R5)
007654 000000 HALT : INSTRUCTIONS FAILED IN MODE 3

2
2
2
2
P
4
2
P4
é
2
é
e
2
P4
l
e
2
¢
e
2
é
4
2

--tttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt.qt-t'.tttt

—n-a_a:—a-n_.-a—a—t_a—a—a—a_n
SALSBIFRRIAN 28T

s*TEST: §7 CHECK MODE 4 USING THE MOVB AND MOV INSTRUCTIONS
;;tttttttttttttttttt*tttt*tttttttt'ttttttttttttttitttt-ttt.tttttt-ttttttnttot

144 007656 MODE4:

145 007656 021527 000057 CMP (R5) 457

146 007662 001120 BNE EMODE & : IF IN WRONG SEQUENCE GO TO WLT AT THE END OF THE TEST

147 007664 005215 INC (RS)

148 007666 105067 170244 _ CLRB TEMP ; START CLEAN

149 007672 012700 000136 MOY #TEMP,RO : L OAD ADDRESSES

150 007676 012701 000140 MOV #7EMP1,R1T :

151 007702 012702 000142 MOV #TEMP2 R? 3
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170136

170022

1%:

2%:

3%:

4%:

5%:

EMODE4 :

58

F 5

CHECK MODE &4 USING THE MOVB AND MOV INSTRUCTIONS

INC
CMP
BEQ
MOV
INC
HALT
MOvB
INC
INC
mMovB
INC

R2
(R2) ,TEMP2+1

1%
#215,-(R5)
-(R5)

#252,-(R2)
R1

R2
-(R2) ,~(R1)
RO

R2
-(R0O) ,-(R2)
RO
(RO) ,TEMP+1

2%
#216,-(R5)
-(R5)

R1
-(R1),=(R0O)
#252,TEMP
3%

TEMP2
4%

#217 ,-(R5)

-{R5)

TEMP
#TEMP,RO
#TEMP] R
#TEMP? ,R2
(R2) +

(R2) ,TEMP2+2

5%
#220,=(R5)
-(RS)

#125252.,-(R2)
(R1)+

(R2)+
-(R2),=(R1)
(RO) +

(R2) +

-(R0O) ,=(R2)
(RO)+

(R1)+

-(R1) ,=-(RO)
#125252, TEMP
EMODE 4

TEMP?2

MODE 5

#221,-(RS)
-(R5)

; ADJUST THE POINTER

INSTRUCTIONS FAILED IN MODE 4
LOAD TEMP?
ADJUST THE POINTERS

TEMP2 ---> TEMP1
ADJUST THE POINTERS

TEMP =-=> TEMP2
ADJUST THE POINTERS

(TE T A TR TETE TR TR T )

INSTRUCTIONS FAILED IN MODE 4

TEMP1 =-=-=> TEMP
CHECK IT

FAILED

CHECK IT

; 0K, CONTINUE

INSTRUCTIONS FAILED IN MODE 4
START CLEAN
LOAD ADDRESSES

ADJUST THE POINTER

INSTRUCTIONS FAILED IN MODE 4
LOAD TEMP2
ADJUST THE POINTERS

TEMP2 --=> TEMP1
ADJUST POINTERS

TEMP ===> TEMP?2
ADJUST THE POINTERS

TEMP1 ===> TEMP
CHECY IT

FAILED

CHECK IT

Ok, CONTINUE

I A TEA TR R I N N

(PR TETETE TR R R Y

SEQ 0057
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CHECK MODE & USING THE MOVB AND MOV INSTRUCTIONS

HALT

; INSTRUCTIONS FAILED IN MODE 4
; OR WRONG SEQUENCE

SEQ 0058
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CVKAAC.P11 08-0CT-78 08:58 CHECK MODE 5 USING THE MOVB AND MOV INSTRUCTIONS SEG 0059
510 ;:ttttttttttttttttttttttﬁIttttttttﬁtttttﬁﬁ‘tt‘ttttttiitttﬁtﬁtttttttttttttittl
g 1" :=TEST: 60 CHECK MODE S5 USING THE MOVB AND MOV INSTRUCTIONS
1§ ::tttttttttttttt!t*ttttttﬁttlttlttttttttttttttttttttttttttttttttttttttttttttt
221
2214 010134 MOVES:
2215 010134 (021527 000u60 CMP (RS) ,#60
2 1? 010140 001105 BNE EMODE 5 . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
g 1 010142 005215 INC (RS)
18 010144 105067 167766 CLRB TEMP ; START CLEAN
5219 010150 012767 0200136 167750 MOV #TEMP ,ADR : LOAD ADDRESSES
220 010156 012767 000140 167744 MOV #TEMP1,ADR1 :
sg 1 010164 012767 000142 167740 MOV #TEMP2 ,ADR2 :
§ 010172 012700 000126 MOV #ADR RO * LOAD ADDRESSES OF ADDRESSES
2223 010176 012701 000130 MOV #ADR1 ,R1 :
224 010202 012702 000132 MOV #ADRZ2 ,R2 :
5 5 010%06 005722 TST (R2) + : ADJUST THE POINTER
6 010210 112752 000125 MOVB #125,a-(R2) ; LOAD TEMP2
22%7 010214 022122 CMP (R1)+,(R2)+ : ADJUST THE POINTERS
22 010216 115251 MOvVB a-(R2) ,a=(R1) : TEMP2 ===> TEMPI
22 010520 022022 CMP (RO)+,(R2)+ : ADJUST THE POINTERS
22 010222 115052 MOVB a-(RD) ,a=(R2) : TEMP ===> TEMP?
2531 010224 022022 CMP (RO)+,(R2)+ : ADJUST THE POINTERS
2 3§ 010258 125052 CMPS a-(R0O) ,@-(R2)  ;CHECK IT
2233 0102 001404 BEQ 1%
22;4 010232 012745 000222 MOV #222,-(R5)
2235 010%36 005245 INC -(RS)
2236 010240 000000 HALT
2237 010242 022120 %: CMP (R1)+,(R0O)+ : ADJUST THE POINTERS
2238 010244 115150 MOVB a=(R1) ,a-(R0O) : TEMP1 ===> TEMP
2239 010246 122767 000125 167662 CMPR #125,TEMP ; CHECK IT
2240 010254 001003 BNE 2% ; FAILED
541 010256 105767 167660 TSTB TEMP?2 ; CHECK IT
42 010262 001404 BEQ 3% ; 0K, CONTINUE
263 010264 2%:
2244 010264 012745 000223 MOV #223,-(R5)
2245 010270 005245 INC =(R5)
2246 010272 002000 HALT : INSTRUCTIONS FAILED IN MODE 5
2247 (010274 005067 167636 3%: CLR TEMP : START CLEAN
2248 010300 012700 000126 MOV #ADR RO : LOAD ADDRESSES OF ADDRESSES
2249 010304 012701 000130 MOV #ADR1 ,R1 3
2250 010310 012702 000132 MOV #ADRZ ,R2 :
251 010314 005722 TST (R2)+ : ADJUST THE POINTEF
25 010313 012752 05252° MOV #52525,8=-(R2) ; LOAD TEMPZ
225 0105 0221;2 cMP (R1)+,(R2)+ : ADJUST THE POINTERS
2254 010326 015251 MOV a-(R2) ,a=(R1) : TEMP2 ===> TEMP1
2255 010326 022022 CMP (RO)+,(R2)+ : ADJUST THE POINTERS
2256 0103 015052 MOV a-(R0) ,@-(R2) ; TEMP --=> TEMP2
2257 010332 022021 cMP (RO)+,(R1)+ ; ADJUST THE POINTERS
2258 10334 015150 MOV a=R1),a=(R0O) : TEMP1 =-=-=> TEMP
2259 010336 022767 052525 167572 CMP #52525,TEMP ; CHECX IT
2520 010344 001003 BNE EMODE 5 : FAILED
2261 010346 005767 167570 TST TEMP? ; CHECK I7
226% 010352 001404 BFQ MODE6 : 0K, CONTINUE
2263 010354 1 EMODES :
2264 010354 012745 000224 MOV #2246 ,-(RS)
2265 010360 005245 INC -(R5)
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CVKAAC.PTT 09-0(T7~-78 08:58 CHECK MODE 5 USING THE MOVB AND MOV INSTRUCTIONS SEQ 0060
2566 010362 000000 HALT ; INSTRUCTIONS FAILED IN MODE 5
2267 : OR WRONG SEQUENCE
g 70 ;;tt-t-ttntttt-t-t-ttttw*ttwttttttittttnntttttttttttttt-ta-ttautunt.ttntt-tt-
2271 ;*TEST: 61 CHECK MODE 6 USING THE MOVB AND MOV INSTRUCTIONS
2§72 ;;ttttttttttttt*ttttttttttttttttttttttttttttttttttt't'tttttttttttttttttttQttt
73
g 76 010364 MODEG:
5275 010364 021527 2000&7 CMP (RS) ,#61
276 010370 0C1055 BNE EMODE6 : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
277 010372 005215 | INC (R5)
278 010374 005067 167542 CLR TEMP2 ; START CLEAN
279 010400 012700 000136 MOV #TEMP,RO ; LOAD ADDRESSES
280 010404 012701 000140 MOv #TEMP1 ,R1 :
2281 010410 012702 000142 MOV #TEMP2 ,R2 :
2282 010414 112760 000252 000000 MOVB #252,0(R0O) ; LOAD TEMP (LOW BYTE)
8 0104%8 112760 000252 000001 MOVB  #252,1(R0) ; LOAD TEMP (HIGH BYTE)
84 010430 022767 125252 167500 (MP  #125252,TEMP  : CHECK IT
285 010436 001012 BNE 1% ; FAILED
286 010440 116062 000001 000000 MOvB 1(RO? ,0(R2) ; TEMP(H) ===> TEMP2(L)
287 010446 116160 000002 000005 MOvVB 2(R1) ,5(R0) ; TEMP2(L) ===> TEMP2(H)
2288 010454 022767 125252 167460 (MP #125252,TEMP2  : CHECK IT
5289 010462 001404 BEQ 2% ; 0K, CONTINUE
290 010464 1%:
%531 010464 012745 000225 MoV #225,.=(R3)
; 010470 005245 INC =(R5)
2293 010472 000000 HALT ; INSTRUCTIONS FAILED IN MODE 6
2294 010474 005067 167440 2%: CLR TEMP1 ; START CLEAN
2295 010500 012760 052525 000000 MOV #52525,0(RO) : LOAD TEMP
5296 010506 016260 177774 000002 MOV -4 (R2) ,2(RO) : TENP ——> TEMP1
297 010514 022767 052525 167416 CMP #52525, TEMP1 ; CHECK IT
2298 010522 001404 ~ BEQ MODE7 ; OK, CONTINUE
2299 010524 EMODEE:
2300 0105_254 012745 000226 MOV #226,~(R5)
2301 010530 005245 INC =(R5)
2302 010532 000000 HALT ; INSTRUCTIONS FAILED IN MODE 6
2303 ; OR WRONG SEQUENCE
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CVKAAC.P11 09=-0C1-78 08:58 162 CHECK MODE 7 USING THE MOVB AND MOV INSTRUCTIONS SEQ 0061

2 .-:ttttttttttttttttttttttttttttttttﬁtttttttltttttttilttt‘ttttttttitttttttt'tt-
g 5 TATEST: 62 CHECK MODE 7 USING THE MOVB AND MOV INSTRUCTIONS
m .-‘-ttttttttttttttttttttt.t‘tttttttttttﬁttttttttﬁttttttttttttttﬁtttﬁttttittt.t.
307
2308 010534 MODE 7 :
2 010534 021527 000062 CMP (RS) , 462
2210 01851.0 001052 BNE EMOPE7 . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
2311 010542 005215 INC (RS)
31§ 010544 005067 167370 CLR TEMP1 : START CLEAN
213 010550 012767 770136 167350 MOV #TEMP,ADR * LOAD ADDRESSES
314 010556 012767 000140 167344 MOV #TEMPT,ADR1 .
315 010564 015767 000142 167340 MOV #TEMP2 . ADR2 :
216 010572 012700 000126 MOV #ADR R6 : LOAD ADDRESSES OF ADDRESSES
%17 010576 012701 000130 MOV #ADR1,R1 .
2318 010602 012702 C€oo132 MOV #ADR2.R2 :
2319 010606 112770 000 000000 MOVB  #252.a0(R0O) * LOAD TEMP
320 010614 117270 177774 000002 MOVBE  @~4(R2).a2(R0) : TEMP ===> TEMP1
321 010622 122767 000252 167310 CMPB  #252,TEMP1 * CHECK IT
325 010630 001404 BEQ 1% * OK, CONTINUE
232 o1oe_;§ 012745 000227 MOV #227 ,~(R5)
2324 010636 005245 INC -(RS)
zgss 010640 000000 HALT . MODE 7 IS FAILING
2306 010642 012770 125252 000000 1%: MOV #125252,20(R0) - LOAD TEMP
5327 010650 017270 177774 000002 MOV @4 (R2).@2(R0) : TEMP =-=> TEMP1
8 010656 022767 125252 167254 CMP #125252.TEMP1  : CHECK IT
l 010664 001404 BEQ TSTR1 : 0Ok, CONTINUE
2330 010666 EMODE 7:
2331 010666 012745 000230 MOV #230,=(RS)
2332 010672 005245 INC -(RS)
2333 010674 000600 HALT : INSTRUCTIONS FAILED IN MODE 7
233 : OR WRONG SEQUENE
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CVKAAC.F 11 09=-0CT=78 OR:S8 CHECK BYTE INSTRUCTIONS, NOT DESTINATION MODE 0 SEQ 0062

2335

%igg : CHECK BYTE INSTRUCTIONS, NOT DESTINATION MODE 0

2 ga ’
2339
5320
2 1 ;:ttttttttttttttttttttttttttttttttttttttttttttttttttIttt*ttttttttitttttttttit
§§%§ SATEST: 63 NEW INSTRUCTIONS USED IN THIS SECTION ARE TSTB, CLRB, MOVB

'-.-ttttttttttttttttttttttttit!tttttlttttttttttttt*tttttttttttttttttttttttttttt

Ul
2%5 010676 TSTB1:
2;29 010676 021527 000063 CMP (RS) ,#63
2 010702 001045 BNE ETSTRI : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF TEST
238 0107064 00521 2%: INC (R5)
2%9 010706 012700 000136 MOV #TEMP RO : LOAD ADDRESSES
2350 010712 012701 000140 MOV #TEMPT,R1 :
2351 010716 000277 SCC
2%5% 010720 105010 CLRB (RO) : CLEAR THE LOCATION
2353 010722 004737 017150 JSR PC,aNsCC4 * CHECK FOR CC = 4
2354 010726 105710 1sTR  (RO) . CHECK IT
2365 010730 004737 017150 JSR PC,a#$CC4 * CHECK FOR CC = 4
2356 010734 112711 000377 MOVB  #377.(R1) * LOAD THE LOCATION
2357 010740 004737 017236 JSR PC.a#$CC10 > CHECK FOR CC = 10
2358 010744 105711 TSTB (R1) ; CHECK IT
2359 010746 004737 017236 JSR PC,a#$CC10 * CHECK FOR CC = 10
3 10752 010002 MOV RO R2 * R2 IS NOW POINTING TO LOCATION TEMP

1 010754 112762 000200 000000 move  #200,0(R2) * PLACE #200 IN LOCATION TEMP
% 010762 112241 MOVB  (R2)+,=-(R1) * MOVE #200 TO LOCATION TEMP+1
3 010794 026127 177777 100200 CMP =1(R1) ,#100200 : CHECK THE DATA IN LOCATION TEMP

2 010772 001404 BEQ A 3
235 010774 012745 000231 MOV #231,~(RS)
2366 011002 005245 INC -(RS)
237 011002 000000 HALT : MOVB INSTRUCTION FAILED
2%8 011004 020102 4%: CMP R1,R2 : CHECK THE REGISTERS FOR PROPER VALUE
2;69 011006 001404 BEQ CMPR1
2370 011810 ETSTRT:
2;71 011010 012745 000232 MOV #232,~(RS)
2372 C11014 005245 INC -(R5) :
%%;2 01101€¢ 000000 HALT : MOVR INSTRUCTION FAILED OR WRONG SEQUENCE
237
el T <
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CVKAAC P11 09-0cT-78 08:58 T64 NEW INSTRUCTIONS USED IN THIS SECTION ARE CMPB, BISB SEQ 0063
5;77 ::tttttttttt'tttttttttttttttttttttititttttttttt*ttttittlttttttt.ttttttt..t..t
78 SATEST: 64 NEW INSTRUCTIONS USED IN THIS SECTION ARE (MPB, BISB
2379 ;.'ttlttttt'ttttttttttttttitttttitttﬁltttlttttttttt'tttttﬁ'tttﬂtttttitti!t!ﬁtt
2
2381 011020 CMPB1 :
2 011020 021527 000064 CMP (RS) ,#64
2 011026 001032 BNE ECMPR1 : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
g 011026 005215 1$: INC (RS)
5 011030 012701 000142 MOV #TEMP2 R1
2 011034 012702 900136 MOV #TEMP ,R2 . LOAD ADDRESS
2387 0110640 012711 000077 MOV #77.(R1) * PLACE 77 IN LOCATION TEMP2
5388 011044 112704 000377 MOVB  #377.Ré4 " R4 SHOULD CONTAIN #177777
2389 011050 150412 BISB  R&,(R2) : LOAD LOCATION
2390 011052 004737 017236 JSR PC.a#$CC10 * CHECK FOR CC = 10
2;91 011056 120412 (MPB  R&.(R2) * CHECK COMPARE
2 9; 011060 001404 8EQ 2% > CONTINUE IF OK
2;9 011062 012745 000233 MOV #233,-(RS5)
2394 011066 005245 INC -(R5)
2395 011070 000000 HAL T . BISB OR CMPB INSTRUCTION FAILED
2396 011072 121112 2%: (MPB  (R1),(R2) * CHECK IT AGAIN
2397 011076 100004 BPL 3% * CONTINUE IF OK
2398 011076 012745 000234 MOV #234 ,-(RS)
2399 011102 005245 INC -(RS)
26400 011106 000000 HAL T : CMPB INSTRUCTION FAILED [WRONG CCJ
26401 011106 121211 3% (MPB  (R2),(R1) : ONCE MORE
2402 011110 100404 BM] BI(R1 * CONTINUE IF OK
2403 011112 ECMPRI :
2404 011112 012745 000235 MOV #235,-(RS)
2405 011116 005245 INC -(R5)
2406 011120 000C00 HALT
2407
2408
2409
2410 :;i'ttltttttttttttwttttttttittt*tttttﬁtﬁlttttittiitittttttttttttttttttttttﬁtt
2411 “%TEST: 65 NEW INSTRUCTIONS USED IN THIS SECTION ARE BICB, BITB
2412 ;:ttt'ttt*ttttttt*ttttttttitttﬁttttttttttttttttttt*tttttttttttttttttttt'ttttt
t 613
414 011122 BICB1:
2415 011122 021527 000065 (MP (R5) ,#65
616 011126 001404 BEQ 2% : IF IN WRONG SEQUENCE GO TC HLT BELOW
417 011130 012745 000236 MOV #236,-(RS)
418 011134 005245 INC -(RS5)
2419 011136 000000 HAL T : PROGRAM IS IN WRONG SEQUENCE
2420 011140 005215 2% : INC (RS)
2621 011142 012703 000136 MOV #TEMP,R3 : LOAD ADDRESS
24 i 011143 112713 000377 MOVB  #377.(R3) : LOAD LOCATION
24 11152 012700 000140 MOV #TEMP1,RO “PLACE THE ADDRESS OF LOCATION TEMP1 IN RO
2426 011156 010001 MoV RO R1 ;AND R1
2425 011160 112721 000252 MOVB  #252,(R1)+ " PLACE #252 IN TEMP1
24 11164 000277 SCC
2427 011166 146013 000000 BICB  O(R0),(R3) : CLEAR EVERY OTHEK BIT
2428 (011172 004737 017066 JSR PC,aadCC] * CHECK FOR (C = 1
2429 011176 136113 177777 BITB  =1(R1),(R3 : CHECK IT
2430 011202 001404 BEQ 4% © CONTINUE IF OK
263 0115 012745 000237 MOV #2327 ,=(R5)
26432 011210 005245 INC =-(R5)
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CVKAAC.P11 09-0CT-78 08:58 NEW INSTRUCTIONS USED IN THIS SECTION ARE BICB, BITB SEQ 0064
%4 3 011%12 000000 HAL T ; BICB OR BITB INSTRUCTION FAILED
43, 011214 132713 000125 4%: BITB  #125,(R3) : CHECK IT
435 011220 004737 917066 JSR PC,a#$CC1 : CHECK FOR CC = 1
4 0115 6 154113 BISB  =(R1),(R3) * SET THE BITS THAT WERE CLEARED
4 811 6 100404 BMI 6$ : CONTINUE IF OK
4 115 012745 000240 MOV #240,-(R5)
4 011234 005245 INC -(RS)
440 811536 000000 HAL T ; BITB OR BISB INSTRUCTION FAILED
461 011240 012746 000177 6%: MOV #177 ,~(SP) * STORE #177 ON THE STACK
2642 011044 142613 BICB  (SP)+,(R3) * CLEAR ALL THE BITS EXCEPT SIGN BIT
24k 011546 og4737 017256 JSR PC,a#$CC11 : CHECK FOR CC = 11
G 011252 132713 000377 BITB  #377,(R3) : CHECK IT
445 011256 004737 017256 JSR PC,a#$CC11 : CHECK FOR CC = 11
2446 011262 010300 MOV R3,R0 * PLACE THE ADDRESS OF LOCATION TEMP IN RO
2647 011264 012710 000140 MOV ATEMP1, (RO) * PLACE THE ADDRESS OF LOCATION TEMP1 IN TEMP
26448 011270 012730 000377 MOV #377,2(RO) + * WRITE A 377 IN LOCATION TEMP1
2649 0112764 000263 SEVC : SET vV & C BITS
2450 011276 145070 000000 BICB  @-(R0D),@(RO)  : BIT CLEAR THE CONTENTS
2451 : OF TEMP1 TO THE CONTENTS OF TEMP?
2452 011302 004737 017172 JSR PC,a#$C(5 * CHECK FOR CC = 5
2453 011306 022027 000140 CMP (RO)+ #TEMP1  : MAKE SURE THAT (RO) IS POINTING TO LOCATION TEMP1
26454 011312 001404 BEQ 8%
2455 011314 012745 000241 MOV #2461 ,-(R5)
26456 011320 005245 INC - (RS)
2457 011322 000000 HALT : BICB OR CMP INSTRUCTION FAILED IN THE SPECIFIC MODE
2458 011324 005750 8%: TST a=(R0O) : TEST LOCATION TEMP1
2459 011326 001404 BEQ 10%
2460 011330 012745 000242 MOV #242 ,-(RS)
2461 011334 005245 INC - (R5)
2462 011336 00 E HAL T ; BICB INSTRUCTION FAILED
26463 011340 000257 108:  CCC
2464 011342 141010 BI(B  (RO),(RO: : CLEAR THE LOCATION TEMP
2665 011344 004737 017750 ISR PC,a#$CC4  CHECK FOR CC = &
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CVAAAC.P11  09-0(T-78 08:58 166 NEW INSTRUCTIONS USED IN THIS SECTION ARE INCB, DECB SEQ 0065
2(,66 ::ttttttﬁttttttttttttttttttttttttttttttttttlttttt‘ttttttttttttt!tttttitttttlt
oL67 TATEST: 66 NEW INSTRUCTIONS USED IN THIS SECTION ARE INCB, DE(CB
2"68 :.-tttttttttﬁtttittttttttttttttttttttitttttttttttttittttttttttttttttttttttitti
2469
2470 011350 INCB1:

2671 011350 021527 000066 (RS) ,#66
2472 011§sa 001067 BNE E INCB1 . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
247% 011356 005215 1%: INC (R5)
2674 011360 012704 000136 MOV #TEMP R4 . LOAD ADDRESS
26475 011364 112714 000177 MOVB  #177.(R&4) * TEMP LCCATION=177
2476 011370 000261 SEC
2477 011372 105214 INCB  (R&) : ADD ONES INTO LOCATION
2478 011374 004737 017320 JSR PC,a#$CC13 * CHECK FOR CC = 13
2479 011400 012714 000374 MOV #376, (R4)
2480 011406 012700 017256 MOV #$CC11.R0 . MAKE RO POINT TO CHECKING ROUTINE FOR CC = 11
2481 011410 105224 INCR  (R&)+ :
2482 011412 004720 JSR oC, (RO) + * CHECK FOR CC = 11
2483 011414 105744 ISTB  =(R4) * DECREMENT R4 BY 1
2484 011416 005746 TST -(SP) : AND SP BY 2
2485 011420 010426 MOV R4, (SP)+ * PLACE THE ADDRESS OF TEMP ON THE STACX
2486 011422 000241 cLC * CLEAR C BIT
2487 011424 105256 INCB  @-(SP) * INCREMENT THE CONTENTS OF LOCATION TEMP
2488 011426 004737 017150 JSR PC,a#$CC4 * CHECK FOR CC = 4
2489 011432 123634 (MPB  @(SP)+,.a(R&)+ - RESTORE STACK POINTER
2490 011434 000261 SEC * SET C BIT
2491 011436 105264 177777 INCB  =1(R&)
2492 011442 004737 017066 JSR PC,a#$CCT : CHECK FOR CC = 1
2493 011446 124427 000001 CMPB  -(R4) 41 * CHECK IT
2494 011452 001404 BEQ 2% * CONTINUE IF OK
2495 011454 012745 000243 MOV #243,-(RS)
2496 011460 005245 INC -(R5)
2497 011462 000000 HALT : INCB INSTRUCTION FAILED
2498 011464 000261 2% : SEC
2499 011466 105314 DECB  (R&) : SUBTRACT ONES FROM LOCATION
gsoo 011470 004737 017172 JSR PC,a#$CC5 * CHECK FOR CC = §
§01 011474 105324 DECB  (R&)+
502 011476 004740 JSR PC,-(RO) : CHECK FOR CC = 11
50 811500 112764 000200 177777 Move  #200,-1(R&)
2504 011506 105344 DECB  =(R&4) .
2505 011510 004760 177650 JSR PC,$CC3-8$CC1T1(ROY; CHECK FOR CC = 3
2506 011514 105364 000000 DECB  0(R&4) :
2507 011520 004737 017066 JSR PC,a#sCC1 * CHECK FOR CC = 1
2583 o11s§4 126427 000000 000176 (MPB  O(R/) 4176
2509 (11532 001404 BEQ COMB1
2510 011534 EINCR1:
2611 01153 862745 000244 MOV #244 ,~(RS)
2512 011540 005245 INC -(R5) _
%212 ihie HAL T . DECR INSTRUCTION FAILED OR SEQUENCE ERROR
2614
2516
2817
D518
2814
2520
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C'/KAAC.P11 09-0CT-78 08:58 166 NEW INSTRUCTIONS USED IN THIS SECTION ARE INCB, DECB SEQ 0066

23 %

NININJN
VIVivau
(o IV ¥

'-ttttttttttttttti*tﬁtii'iit..llii'ﬁﬁ't'tittt.ii.l*I*t**Qﬁitti'tt.ﬁtttttt"‘Q

NEW INSTRUCTION IN THIS SECTION IS COMB

::tt.ttttlttitttt*t'ttt'ltitiiliiiﬁ.'ﬁﬁtt.t*tti...tititttﬁ‘ﬁ!ttlt...'t.t.tt't

LeTEST: 67

527 011544 , COMB1 :
508 011544 021527 000067 CMP (RS) , 467
509 011550 001404 BEQ 1% - IF IN WRONG SEQUENCE GO TO HLT
530 011552 012745 000245 MOV #245,=(RS)
5531 011556 005245 INC -(R5)
53§ 011560 000000 HALT - TEST IS IN WRONG SEQUENCE
Ssg‘ 011562 005;15 1%: INC (RS)
53, 011564 012703 000136 MOV #TEMP R3 . LOAD ADDRESS
gsss 011570 012704 000140 MOV #TEMPT R4
539 011574 012714 000252 MOV #252, (R4)
2537 011600 112413 MOVB  (R&)+,(R3) . LOAD EVERY OTHER BIT
2538 011602 000277 SCC
2539 011604 105113 COMB  (R3) . 1'S COMPLEMENT
sSIoO 011606 004737 017066 JSR PC,a#$C(1 + CHECK FOR C = 1
541 011612 122713 000125 (MPB  #125, (R3) - CHECK IT
254; 011616 001404 BEQ 2% - CONTINUE IF OK
2543 011620 012745 000246 MOV #246,=(RS)
gst.t. 011624 005245 INC -(13)
545 116;8 000000 HALT  COMB INSTRUCTION FAILED
2546 011630 000277 2% SCC
547 mgz 105113 oM  (R®) . COMPLEMENT BACK
548 011634 004737 017256 JSR PC,aasCC1 - CHECK FOR CC = 11
549 011640 010400 MOV R4 -RO
2550 011642 126013 177777 (MPB  =1(R0), (RY) . CHECK IT
2551 011646 001404 BEQ 3$ * CONTINUE IF OK
zssg 11650 012745 000247 MOV #247,-(R5)
2553 011654 005245 INC -(RS)
554 11656 000900 HALT - COMB INSTRUCTION FAILED
555 011660 112724 000377 3$: MOVB  #377,(R4)+
559 011664 114413 MOVB  =(R&4),(R3) - PLACE #377 IN (R®)
557 011666 000277 SCT
2568 (011670 105113 (OM8 (R
2569 (11672 004737 017172 JSR PC,aa$( (s . CHECK FOR CC = 5
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CVKAAC P 09-0c1=78 08:58 170 NEW INSTRUCTION IN THIS SECTION IS NEGB SEQ 0067
SS& ::tttttttQttltttﬁtttttttt!ttttttttttttttﬁtttttttttttitt.Qt.ttttttttttiltttt..
561 :«TEST: 70 NEW INSTRUCTION IN THIS SECTION IS NEGB
gssgg ;‘-ttttttttttﬁttttttttttttttttﬁttttittttiitittttitttﬁ.tttttttttltt....tﬁttt!tt
2564 011676 NEGHT:
2565 011976 021527 000070 CMP (RS) ,#70
2566 011702 001027 BNE ENEGB1 : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
5567 011704 005215 1%: INC (RS)
568 011706 012700 000136 MOV #TEMP RO : LOAD ADDRESS
2569 011712 112710 900007 move  #1, (RO) > LOAD THE LOCATION
2570 011716 105410 NEGB (RO) : 2'S COMPLEMENT
%571 011750 004737 017256 JSR PC,a#$CC11 : CHECK FOR CC = 1N
5§72 011724 122710 000377 CMPB  #377.(RO) : CHECK IT
2573 011730 001404 BEQ 2% : CONTINUE IF OK
2574 011732 012745 000250 MOv #250,-(RS)
2575 011736 005245 INC -(RS)
2576 011740 000000 HALT : NEGB INSTRUCTION FAILED
2577 011742 012710 000200 2%: MOV #200, (RO)
2578 011746 105410 NEGB (RD) : 2'S COMPLEMENT
2579 011750 004737 017320 JSR PC.,a#$CC13 : CHECK FOR CC = 13
2580 011754 122710 000200 cmes #200, (RO) : CHECK IT
2581 011760 001404 BEQ ROLB1 : CONTINUE !F OK
2582 011762 ENEGR1:
2583 011762 012745 000251 MOV #251,-(RS)
2584 011766 005245 INC -(RS5)
5%%2 011770 000000 HALT : WRONG RESUL™ AT TEMP OR WRONG SEQUENCE
2587
2588
2589 ::tttttttttttttitttttttttt'ttttittttlttﬁtitttttttttitttttﬁ*ittttttttttt'itttt
2590 :*TEST: 71 NEW INSTRUCTION IN THIS SECTION IS ROLB
2591 :;ttttttttttttttttttttﬁt*tittt'tiitttttttttttttttttttttttttttt'tttttt'.tttt‘t
2592
2593 011772 ROLR1:
2594 011772 021527 000071 CMP (RS) ,#71
2595 011776 001030 BNE EROLR1 : IF IN WRONG SEQUENCE GO TO HLT ABOVE
2596 012000 005215 INC (RS)
2597 012002 012701 000140 MOV #TEMP1 R : LOAD ADDRESS
2598 012003 112711 000040 MOVR #40,(R1) : LOAD LOCATION
2599 012012 000257 ccC : CLEAR FLAGS
2600 012014 106111 ROLR (R1) : SHIFT
2601 012016 106111 ROLB (R1) .
sggi 012020 004737 017300 JSR PC,a#8CC12 : CHECK FOR (CC = 12
012024 122711 000200 cmes #200, (RT) : CHECK 1T
2604 0120 001404 BEQ 1% : CONTINUE IF OK
2605 012032 012745 000252 MoV #252,-(R5)
2606 012036 005245 INC -(R5)
2607 012040 000000 HAL T ; ROLB INSTRUCTION FAILED
5288 012042 10611i 1%: ROLB (R7) ; SHIFT
012044 004737 017274 JSR PC,a#8lC7 : CHEC% FOR CC = 7
2610 012050 106111 ROLB (R1) : SHIFT
2611 012052 122711 000001 (MPR #1,((R1) : CHECK IT
261§ 12056 001404 BFQ RORB1 : CONTINUE IF Ok
521 12060 EROLRT:
16 012060 012745 000253 MOV #253,=(R5)
2615 012064 005245 INC -(RS)
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CVKAAC,. P11 09-0(T=-78 08:58 71 NEW INSTRUCTION IN THIS SECTION IS ROLB SEQ 0068

2616 012066 CGOCO0 HALT : WRONG RESULT AT TEMP1 OR WRONG SEQUENCE
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LN 0y=-0CT~78 08:58 172 NEW INSTRUCTION IN THIS SECTION IS RORB SEQ 0069

"ttttt"ttitttttttt*ﬁt*tti.lttiitt‘ilt.iﬁﬂitiiit.tttttiﬁttﬁtt*i'.t".tit.t.t

SRTEST: 72 NEW INSTRUCTION IN THIS SECTION IS RORB

::tttttttttitttlittttﬁi*it't!ittltt*tﬁtt*tiitﬁ*ttitiitittti"ttt..tttlitt....

012070 RORB1 :

012076 021527 000072 CMP (RS) 472

015074 001030 BNE ERORB1 . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
012076 005215 INC (R5)

012100 012702 000140 MOV #TEMP1,R2 : LOAD ADDRESS

012104 112712 000004 MOVB  #4,(R2) * LOAD LCCATION

012110 000257 ¢CC * CLEAR FLAGS

012112 106012 RORB  (R2) * SHIFT

012114 106012 RORB  (R2) ;

012116 122712 000001 C(MPB  #1, (R2) * CHECK IT

012122 001404 BEQ 1% * CONTINUE IF OK

012124 012745 00254 MOV #254 ,-(RS)

012130 005245 INC -(R5)

012132 000000 HAL T : RORB INSTRUCTION FAILED
012134 106012 1%: RCRB  (R2) * SHIFT

012136 04737 017214 JSR PC,aW$CC7 * CHECK FOR CC = 7
012142 ‘06012 KORB  (R2) © SHIFT

012144 (04737 017300 JSR PC,aNs$CC12 * CHECK FOR CC = 12
012150 122712 000200 cmee #200, (R2) * CHECK IT

012154 001404 BEQ ASLB1 © CONTINUE IF OK

012156 ERORB1 :

012156 012745 000255 MOV #255,=(RS)

012162 005245 INC -(R5)

012164 000000 HALT . WRONG RESULT AT TEMP1 OR WRONG SEQUENCE

"*Q*ltt*tittttitit'ttﬁ*i'tt*tittti‘lﬁ‘*titttttttttttii&ii*itttiittttiitttttt

S*xTEST: 73 NEW INSTRUCTION IN THIS SECTION IS ASLB

::ittttttt**ti!ittittltttQttt*tttiitt*it.ttit*ﬁI‘iittttiititttt*t’t'i.tiitiit

012166 ASLB1:

012166 021527 000073 CMP (RS) ,#73

C12172 001404 BE 2 c$ . IF IN WRONG SEQUENCE GO TO HLT BELOW
012174 012745 000256 MOV #256,~(RS)

012200 005245 INC -(RS)

012202 000000 HAL T : PROGRAM IS IN WRONG SEQUENCE
012206 005215 2%: INC (R5)

012206 012703 000140 MOV #TEMP1,R3 . LOAD ADDRESS

012212 112713 000040 MOVB  #40,(R%) * LOAD LOCATION

012216 00V.57 cCC * CLEAR FLAGS

015220 06313 ASLR  (R3) L SHIFT

012222 106313 ASLB  (R3) ;

0122%8 004737 017300 JSR PC,aN8((12 * CHECK FOR CC = 12

012230 122713 000200 cme #2060, (R3) : CHECK IT

0122§2 001404 BEQ 4% * CONTINUE IF OK

0122 012745 000257 MOV #257,-(R5S)

012242 005245 INC -(RS)

012244 000000 HAL T . ASLB INSTRUCTION FAILED
012246 106313 u$: 4SLB  (R®) Y SHIFT

012250 004737 017214 ISR PCLad$CC7 * CHECK FOR (C = 7

012254 106313 AS|R (R%) L OSHIFT
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2673 012256 (04737 017150 JSR PC,a#$(C4 ; CHECK FOR CC = 4




CVEKAAC MACY11 30A(1052)

000074
000140
000142
0C0004

000001
000260

017214
017150
000202

017256
000340

000261

000075
000262

00014¢

017150

CVKAAC.P11  09=0CT-78 08:58
2674
2675
2676
5477
278 012262
2679 012960 021527
2680 012266 001040
2681 012270 005215
2682 Q12072 012704
2683 012076 012703
2684 012302 112714
2685 012306 000257
5686 012310 106214
2687 012312 106214
2688 012314 122714
2689 012320 001404
2690 012322 012745
2691 012326 005245
2692 012330 000000
2693 012332 106214
012334 004737
2695 012340 106214
269 012342 004737
2697 012346 112713
2698 012352 106213
2699 012354 106213
3700 Q1235 004737
701 012362 122713
2702 012366 001404
2703 012370
2704 012370 012745
9705 012374 005245
2706 012376 000000
2707
2708
2709
2710
2711
2712
2713
2714 012400
2715 012400 021527
2716 012404 001404
gi7 012606 Q12745
5718 012412 005245
2719 Q12412 000000
5720 012416 005215
5721 012420 012700
9722 Qlged¢ 105010
3723 Q12age 000237
5704 012430 105510
g7os Q12432 00737
2726 012436 000261
5-57 012440 105510
5728 012442 000261
5799 012444 105510

09-0CT=78 08:59 PAGE 72
: 174

G 6
NEW INSTRUCTION IN THIS SECTION IS ASRB

SEQ 2071

"ttttttttitttiﬁttttttttiti.l**t*t*ﬁ*itiiiﬁtttﬁttﬁﬁ*"ﬁlittitttt'ttttt!“"..

NEW INSTRUCTION IN THIS SECTION IS ASR8

::ttttttttttt***itttttlttittitii*tt*ttttttttttittﬁtﬁﬁ*‘*ﬁiiﬂtlittttttl"ﬁt"'

SxTEST: 74

ASRB1 :
CMP
BNE
1%: INC
MOV
MOV
MOVB
ccC
ASRB
ASRB
CMPB
BEQ
MOV
INC
HALT
2%: ASRB
JSR
ASRR
JSR
MOVB
ASRB
ASRB
JSR
CMPB
BEQ
EASRB1:
MOV
INC
HALT

(R5) A74
EASRB1
(RS)
#TEMP1 R4
#TEMP2 ,R3
#4,(R4G)

(R4)
(R4)
#1,(R4)

2%
#260,-(R5)
-(RS5)

(R&)
PC.aN$CC7
(R&)
PC,a#$CC4
#202, (R3)
(R3)

(R3)
PC,a#$CC11
#340, (R3.
ADCR1

#261,-(RS)
-(RS)

 TETEIE IR A R R T

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
LOAD ADDRESSES

LOAD LOCATION
CLEAR FLAGS
SHIFT

CHECK IT
CONTINUE IF OK

ASRB INSTRUCTION FAILED
SHIFT

CHECK FOR CC = 7

SHIFT

CHECK FOR CC = 4

LOAD LOCATION

SHIFT

CHECK FOR CC = 11
CHECK IT
CONTINUE IF OK

: WRONG RESULT AT TEMP2 OR WRONG SEQUENCE

"i*Q.‘Q"ttt'i.tﬁtﬁt'tﬁ"t.t"tiQ'tﬁ"Q'ttlt"ttttttt‘iﬁ.“t..l.titt.....‘.'

NEW INSTRUCTION IN THIS SECTION IS AD(CB

“xTEST: 75

AD(B1:
CMP
BEQ
MOV

2%: INC

(RS) 475

2%
#262,~(R5)
-(RS)

(R5)
(RU)

(RO)
PC,aas((4

{RO)
(RQ)

':ttitttt**t.t.tttit.i.t*t*'tt.tﬁ.it'tttt*.ttﬁ"Q..tt'tiitttt*it't“."“.t.t

: IF IN WRONG SEQUENCE GO TO HLT BELOW

FROGRAM IS IN WRONG SEQUENCE

LOAD ADDRESS

CLEAR THE LOCATION
CLEAR FLAGS

ADD C BIT = 0
CH%CK FOR (C = 4

(=
ApD C BIT=1
(=1

AGAIN
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75 NEW INSTRUCTION IN THIS SECTION IS AD(B SEQ 0077

CVKAAC.P11  06-0CT-78 08:58 T
57 012646 004737 017046 JSR PC,a#$CCo : CHECK FOR CC = 0
1 012452 12271G 000002 (MPB  #2.(RO) * CHECK IT
o7 g 012456 001404 BEQ 4$ * CONTINUE IF OK
2 0126460 012745 000263 MOV #263,-(R5)
7Y 81 464 005245 INC -(RS) :
5735 012466 000000 HALT : ADCB INSTRUCTION FAILED
573% 012470 112710 000177 4%: MOVB  #177.(R0O) * LOAD LARGEST POSITVE BYTE
2737 012474 000261 SEC 2 =1
2738 012476 105510 ADCB  (RO) > ADD C BIT=?
2739 012500 004737 917300 JSR PC,a#$CC12 * CHECK FOR CC = 12
2740 0125064 122710 000200 (P #200, (RO) * CHECK IT
2741 012510 001404 BEQ 6% * CONTINUE IF OK
2742 012512 012745 000264 MOV #264 ,~(R5)
2743 012516 005245 INC -(RS)
27644 012520 000000 HALT : ADCB INSTRUCTION FAILED
2745 012522 112710 000377 £$: MOVB  #377.,(R0O) : LOAD =1
2746 015526 000261 SEC ;=1
2747 012530 105510 _ ADCRB (RO) : ADD C BIT=1
2748 012532 004737 017177 JSR PC,a#8C(5 : CHECK FOR CC = 5




CVKAAC MACY11 30A(1052)

CYKAAC P11 09-0(1-78 0
2749
750
751
75
2753 012536
754 012536 021527
755 Q12542 001406
756 01g544 Q12745
757 012550 005245
758 012552 000000
2759 012556 005215
760 01255 012701
761 012562 112711
9762 012566 000257
2763 013570 105611
764 012572 004737
3765 012576 122711
766 012602 001404
767 012604 012745
2768 012610 005245
5769 012612 000000
o770 Q12614 Q0026
2771 012616 105611
2772 012620 000261
77% 0126¢2 105611
7% Q1260 004737
o775 012630 122711
2776 012634 001404
2777 012636 012745
2778 012642 005245
2779 012644 000000
2780 012646 000261
2781 012650 105611
2782 012652 004737
783 012656 000261
9784 012660 10561
2785 (012662 004737
2786 (Cleee 122711
5787 012672 001404
3’88 012674 012745
5786 012700 005245
5790 012702 000000
5761 012704 112711

000076
000265

000142
000003
017046

000003
000266

017046
000001

000267

017150
017256
000377
000270

000200

09-0CT-78 08:59 PAGE 74
8:58 176

I

NEW INSTRUCTION IN THIS SECTION IS SB(B

"t‘tt.tlitltttt*tittt*ﬁ"t*tt.ﬁﬁlt‘iitt*ittitt!.!lttttt'ttttittilttttt...l.t

NEW INSTRUCTION IN THIS SECTION IS SB(B

::ittlttiitit.ittttttiittittt**tﬁﬁ'*tlltitittﬁitt*'i‘...iittiQitttﬁitit.ttttt

S*TEST: 76

SB(CB1: ;
BEQ
MOV
INC
HALT
1%: INC
MOV
MOVB
(eC
SB(CB
JSR
CMPB
BEQ
MOV
INC
HALT
2%: SEC
SBCB
SEC
SBCB
JSR
CMPB
BEQ
MOV
INC
HALT
3%: SEC
SB(R
JSR
SEC
SB(B
JSR
CMPB
BEQ
MOy
INC
HALT
4%: MCVR

(RS) ,#76

1%
#265,-(R5)
-(RS)

(R5)
#TEMP2 ,R1
#3,(R1)

(R1)
PC,a#$CC0
43, (R1)

2%
#246,-(R5)
-(RS)

(R1)

(R1)
PC,a#$CCO
#1.(R1)

3%
#267 .- (RS)
-(RS)

(R1)
PC,a#$(Cs
(R1)
PC,aw$CC11
#377,(R1)

4%
#270,-(R5)
-(R5)

#200,(R1)

LA TR TR TR TR T N

[ TR TR TETEATEA A PR B 3

IF IN WRONG SEQUENCE GO TO HLT

TEST IS IN WRONG SFQUENCE

LOAD ADDRESS
LOAD LOCATION
CLEAR FLAGS
SUBTRACT C BIT=0
CHECK FOR CC = 0
CHECK IT
CONTINUE IF OK

S§CB INSTRUCT1ON FAILED

c=1
SUBTRACT ¢ BIT=1

CHECK FOR CC = 0
CHECK IT
CONTINUE IF OK

EBCB INSTRUCTION FAILED

=1

SUBTRACT C BIT=1
EHECK FOR CC = 4
SUBTRACT C BIT =
CHECK FOR CC = 11
CHECK IT

CONTINUE IF OK

1

SB(B INSTRUCTION FAILED
LOAD R1

SEQ 0073
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(yKAAC MACY11 30A(1052) 09-0CT-78 08:59 PAGE 75

C/KAAC P11 09=0( T=78 08:58 176 NEW INSTRUCTION IN THIS SECTION IS SB(B SEQ 0074
279¢ 012710 000261 SEC : (=1
793 (12712 105611 SB(B (R1) ; SUBTRACT C BIT =1
796 012716 006737 717106 JSR PC.a#8C(2 ; CHECK FOR (C = 2
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P11 09-0CT-78 08:58 CHECK WORD INSTRUCTIONS, NOT DESTINATION MODE 0 SEQ 0075

CHECK WORD INSTRUCTIONS, NOT DESTINATION MODE 0

'-t*ttitttttQ*QitiﬁttttttttQttitl‘lttttittlﬁ*ﬁ*ﬁﬁtttiiﬁ'.iil.i.tﬁ.ﬁﬁt.ﬁtltitt

S*TEST: 77 NEW INSTRUCTIONS USED IN THIS SECTION ARE TST, CLR, MOV

::tttttitﬁtltt*t.ﬁttiittiti*tt*tﬁtttiittﬁﬁﬁﬁttl‘..ttttﬁiitlttl'tﬁ'iﬁi't'tttii

012720 1ST1:

012720 021527 000077 CMP (RS) 477

012724 001404 BEQ 1% . IF IN WRONG SEQUENCE GO TO HLT

012726 012745 000271 MOV #271,-(RS)

012732 005245 INC -(RS)

815734 000000 HALT : TEST IS IN A WRONG SEQUENCE
1273 005215 1%: INC (RS)

015740 012701 000136 MOV #TEMP,R1 . LOAD ADDRESSES

012744 012700 000140 MOV #TEMPT,RO :

012750 000277 SCC

015752 005010 CLR (RO) : CLEAR THE LOCATION

012754 004737 017150 JSR PC,a#$CC4 * CHECK FOR CC = 4

012760 005720 ST (RO) + : CHECK IT

012762 004737 017150 JSR PC,a#$CC4 * CHECK FOR (C = &

012766 010040 MOV RO.=(R0)

012770 012730 177777 MOV #177777 .8(RO)+

012774 017011 177776 MOV a=2(RO).(R1)  ; LOAD THE LOCATION

013000 004737 017236 JSR PC,a#$CC10 * CHECK FOR CC = 10

013004 005711 8 TST (R1) ; CHECK [T

013006 004737 017236 JSR PC,a#$CC10 * CHECK FOR CC = 10
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CVKAAC MACY?1 30A(1052) 09-0CT-78 08:?? PAGE 77

CVKAAC.P11 09-0(T=78 08:58 00  NEW INSTRUCTIONS USED IN THIS SECTION ARE (MP, BIS SEQ 0076
2831 ;;tttt-ttttttttnttt-ttttttttttttttttt-tttttt-wttt-tttttttttt-net'nt----------
;sse “*TEST: 100 NEW INSTRUCTIONS USED IN THIS SECTION ARE CMP, BIS
833 .-:tttttttttttttttttttttttiQt*tttttttttttittttttt'ttttittttttttt..ttttttttttti
8

c 013012 CMP1:

283 013012 021527 000100 CMP (RS) ,#100

2337 013016 001113 BNE ECMPT : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE EST
2838 013020 005215 1$: INC (RS5)

2839 013022 012702 000140 MOV #TEMP1,R2 : LOAD ADDRESS

2840 mmg 012700 900136 MOV #TEMP RO * PLACE THE ADDRESS OF TEMP IN RO

R41 013032 012720 177777 MOV #177777.(RO)+ : PLACE #177777 IN LOCATION TEMP AND INC. RO BY 2
842 81§826 054012 BIS -(R0) , (R2) > LOAD LOCATION

843 013040 004737 017236 JSR PC,a#$CC10 * CHECK FOR CC = 10

gza 013044 022227 177777 CMP (R2)+,#177777 : CHECK COMPARE

2845 013050 001404 BEQ 2% * CONTINUE IF OK

2846 013052 012745 000272 MOV #272.,~(RS)

2847 013056 005245 INC -(RS)
2848 o1gggg 000000 HALT : CMP OR BIS INSTRUCTION FAILED

849 01 020227 000142 2%: CMP RZ HTEMP1+2 * CHECK R2 TO CONTAIN ADDRESS OF TEMP1+2

850 013066 001404 BEQ 3

851 013070 012745 000273 MOV #273,-(R5}

85; 013074 005245 INC -(R5)
2853 013076 000 HALT : NO AUTO INCREMENT
5854 81 100 022742 000077 3%: cMP #77 ,-(R2) * CHECK IT AGAIN

855 013106 004737 017066 JSR PC,a#$CC1 * CHECK FOR CC = 1
2856 013110 022722 077777 CMP #77777.(R2) +
2857 013114 004737 017320 JSR PC,a#$CC13 : CHECK FOR CC = 13
2858 013120 024227 077777 CMP -(R2) ,#477777  : ONCE MORE
2859 013124 004737 01723 JSR PC,a#$CC10 : CHECK FOR CC = 10

5860 013130 012767 052525 165004 MOV #55525 TEMP2  : SET EVERY OTHER BIT IN TEMP2

861 01313 012767 000142 164774 MOV ATEMP2, TEMP1 * PLACE THE ADDRESS OF TEMP2 IN LOCATION TEMP1
286% 013144 012704 000126 MOV #ADR , R4
2863 013150 012714 000130 MOV #ADR1, (R4) . PLACE THE ADDRESS OF ADR1 IN ADR POINTED BY R&
2864 013154 012734 125252 MOV #125252,3(R4)+ : PLACE THE #125252 IN LOCATION ADR1

2865 013160 057432 177776 BIS a=2(R4) .a(R2)+ : SET EVERY OTHER BIT AT LOCATION TEMP2

2866 - AND INCREMENT R2 BY 2

2867 013164 010200 MOV R2.RO : PLACE ADDRESS OF TEMP2 IN RO
2868 013166 025027 177777 CMP a-(RO) ,#177777 : TEMP2 SHOULD CONTAIN ALL 1°S

2869 013172 001404 BEQ 4%

870 013174 012745 000274 MOV #274,~(RS)

871 013200 005245 INC -(R5)
2872 013202 000000 HAL T : CMP OR BIS INSTUCTIONS FAILED IN MODES OTHER THAN 0
zg;‘ 013204 020227 000142 4%: CMP R2,ATEMP1+2 : ?ZESH?EhB1‘3"'“‘” THE ADDRESS FOR TEMP2

: - L ] "

875 013210 001404 BEO 5%
2876 013212 012745 000275 MOV #275,~(R5)
2877 013216 005245 INC -(R5}
2878 013220 000000 HAL T ; MODE 5 IS FAILING

2879 013222 005040 5%: CLR -(R0) * PLACE A O IN LOCATION TEMP

2880 0132§8 010067 164712 MOV RO, TEMP2 * PLACE ADDRESS OF TEMP IN LOCATION TEMP2

2881 0132 ozgo 0 CMP (RO)+, (RO)+ * BUMP RO BY 4

2882 013232 055070 000002 A BIS a-(ROS .@2(RO)  : PLACE THE CONTENTS OF LOCATION TEMP2 AT TEMP
2883 013236 022767 000136 164672 CMP #TEMP, TEMP * LOCATION TEMP SHOULD CONTAIN ITS OWN ADDRESS
2884 (13244 001404 BEC BIC1
2885 (013246 FCMPT
2886 (13246 012745 000276 MOV #276,=(RS)
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CVKAAC.P11  09-0CT=78 08:58 NEW INSTRUCTIONS USED IN THIS SECTION ARE (MP, BIS SEQ 0077

2887 013252 005245 INC -(RS)
2888 013254 000000 HAL T : CMP OR BIS INSTRUCTIONS FAILED OR WRONG
2889 * SEQUENCE COUNTER
2890
2802
589 .'.'tttttttt*tQtittttt**ttt*itttitttttttttt*itﬁlttitttttttttttttttttttttitttttt
894, TRTEST: 101 NEW INSTRUCTIONS USED IN THIS SECTION ARE BIC, BIT
2895 ;_'tttﬁttl.ltttttttt*ttttl’i*'ttttttttttt*l’t**tttttttttttttttt.'itttttttttttttt
2896
2897 013256 BICT:
5898 013256 021527 000101 CMP (RS) 4101

899 013262 001122 BNE ERICT . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
2900 013264 005215 INC (R5)
2901 013266 0372703 000136 MOV #TEMP ,R3 : LOAD ADDRESS
538% 013272 012713 177777 MOV #177777 . (R3) : LOAD LOCATION

013276 012704 000726 MOV #ADR R4 * PLACE THE ADDRESS OF ADR IN Ré4

2904 013302 012714 000130 MOV #ADR1, (R4) * PLACE THE ADDRESS OF ADR1 IN_ADR
2905 013306 011334 MOV (R3),a(R4)+ * LOAD LOCATION ADR1 WITH #177777
2906 013310 012700 000140 MOV #TEMP1,RO * PLACE THE ADDRESS OF TEMP1 IN RO
2907 013314 012710 125252 MOV #125255,(RO) - SET EVERY OTHER BIT AT LOCATION TEMP1
2908 013320 000277 SCC
2909 013322 042013 BIC (RO) +, (R3) : CLEAR EVERY OTHER BIT
2910 013324 004737 017066 JSR PC,a#$CC * CHECK FOR (C = 1
2911 013330 034013 BIT -(R0), (R3) \ CHECK IT
2912 013332 001404 BEQ 1% : CONTIWNUE IF OK
2913 013334 012745 000277 MOV #277 .- (R5) :
2914 013348 005245 INC -(RS)
2915 013342 000000 HAL T : BIC OR BIT INSTRUCTION FAILED
2916 013344 032713 052525 1%: BIT #52525,(R3) .+ CHECK IT
2917 013350 004737 017066 JSR PC.a#$CC) * CHE(K FOR CC = 1
2918 013354 056013 000000 BIS 0(R0) , (R3) * SET THE BITS THAT WERE CLEARED
2919 013360 100404 BMI 2% * CONTINUE IF OK
2920 013362 012745 000300 MOV #300,~(RS)

21 013366 005245 INC -(R5)

22 013370 000000 HAL T : BIT OR BIS INSTRUCTION FAILED
2923 013372 012720 077777 2%: MOV #77777.(RO)+ - SET ALL THE BITS AT LOCATION TEMP1 EXCEPT SIGN BIT
2924 013376 010002 MOV RO,R2
2925 013400 046213 177776 BIC -2(R2), (R3) . TRY CLEARING THE OTHER BITS
2926 013404 004737 017256 JSR PC,a#$CC1T * CHECK FOR CC = 11
2927 013410 85002? 000142 cMP RO.HTEMP1+2 RO SHKOULD CONTAIN THE ADDRESS OF TEMP1+2
2928 013414 001404 BEQ 3%
2929 013416 012745 000301 MOV #301,-(RS)

930 013422 005245 INC -(R5)

31 013424 000000 HALT
293 0134§B 010020 3$: MOV RC. (RO)+ . FLACE THE ADDRES OF LOCATiON TEMP2 IN TEMP2
2933 013430 000263 SEVC : SET v & C BITS
2934 813432 045 BIC a-(R0O) ,RO * CLEAR RO
2935 013434 004737 017172 JSR PC,a#$CC5 * CHECK FOR CC = §
293 013440 037413 177776 BIT a-2(R4),(R3)  : CHECX IT
2937 013444 004737 017256 JSR PC,as$CC11 * CHECK FOR CC = 11
2938 013450 012746 125252 MOV #155250 . -(SP)  : SET EVERY OTHER BIT ON THE STACK

390 013454 017423 177776 MOV 2-2(R4) - (R3)+ - SET ALL THE BITS AT LOCATION TEMP

0 013460 046643 000000 BIC 0(SP),=(R3) * CLEAR EVERY OTHER BIT AT LOCATION TEMP

2941 013464 022327 052525 CMP (RZ)+ 452525 - TEMP SHOULD CONTAIN # 52525
5642 013470 001406 BEQ L3




CVKAAC MACY11 30A(1052) 09-0
CVKAAC.P11 09-0CT-78 08:58
3 013472 012745 000302
& 013476 005245
2945 01%500 000000
2946 013502 012700 000144
2947 013506 010340
2948 013510 014330
2949 01;512 000263
2950 013514 0350%6
2951 013516 004737 017172
2952 013522 020627 200450
2955 013526 001404
2954 013530 L
2955 013530 012745 000303
6 013534 005245
57 01353 000000

(T-78 08:59 PAGE
110

4%:

EBICT:

N 6

79

NEW INSTRUCTIONS USED IN THIS SECTION ARE BIC, BIT SEQ 0078
Mov  #302,~(RS)

INC (R

HALT ; BIC FAILED IN MODE 6

MOV #TEMP2+2,RO : PLACE THE ADDRESS OF TEMP2+2 IN RO

MOV R3,=(RO) * PLACE THE ADDRESS OF TEMPT IN TEMP2

MOV -(R3),3(R0)+ - MOVE # 52525 IN LOCATION TEMP

SEVC : * SET v & C BITS

BIT 2-(RO).(SP)+ =+ BIT TEST TEMP1 WITH STACK AND RESTORE STACK POINTER
JSR PC,aWs((5 * CHECK FOR CC = 5

cMP SP.#START * MAKE SURE THAT THE SP IS OK

BEQ INC1

MOV #303,~(R5)

INC -(R5)

HAL T ; STACK POINTER FOULED UP OR SEQUENCE ERROR
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CVKAAC.P11  09=0CT-78 08:58 1102  NEW INSTRUCTIONS USED IN THIS SECTION ARE INC, DEC
. ;;.ttttt-tttttt-t-ttttt.t.ttttato-tttt--ttatnttttttttttatttttttttt-tttttt-ttt
9 ;*TEST: 102 NEW INSTRUCTIONS USED IN THIS SECTION ARE INC, DEC
;:t.ttttttttttttttttltttt.ttttttttttttl.tttt.tttttttltttitt..ittttttttﬁ'ttt!.
%1
01 INCT:
0 021527 000102 C (R5) ,#102
81 001404 BEG 2% : IF IN WRONG SEQUENCE GO TO HLT BELOW
5 O 01%765 000304 MOV #304 .- (R5)
01 005245 INC -{R5)
7 01 HALT : PROGRA™ IS IN WRONG SEQUENCE
1 005;1 2%: INC (RS)
9 01 012704 000140 MOV #TEMP1 R4 ; LOAD ADDRESS
1 012714 077777 MOV #77777,(R4) ; TEMP1 = 77777
2971 01 61 SEC
;% 1 005214 INC (R4) ; ADD ONES INTO LOCATION
1 004737 017320 JSR PC,a#$CC13 ; CHECK FOR CC = 13
74 01 012714 177776 MOV #177776,(R4)
75 01 012700 000136 MOV #TEMP RO ; RO IS POINTING TO LOCATION TEMP
;9 013610 012710 017256 MOV #scc1i, (RO) : PLACE THE ADDRESS OF SUBROUTINE TO CHECK CC = 11
; IN LOCATION TEMP
;g 81 14 005;14 INC (R4) :
13616 004730 JSR PC,a(RO)+ ; CHECK FOR CC = N
13620 005214 INC (R&) -
1 013622 004737 017172 JSR PC,a#$CC5 ; CHECK FOR (C = 5
1 005214 INC (R&)
136 004737 017066 JSR PC.a#$CCT : CHECK FOR CC =1
2984 01%224 026427 000000 000001 CMP 0(R4) A1 ; CHECK IT
2985 013642 001404 BEQ 4% ; CONTINUE IF OK
13644 012745 000305 MOV #305,-(R5)
7 013650 005245 INC -(R5)
13652 000000 HALT ; INC INSTRUCTION FAILED
013654 000%61 4%: SEC
013656 005314 , DEC (R4) : SUBTRACT ONES FROM LOCATION
1 01;222 884737 017172 JSR PC,a48CCS ; CHECK FOR CC = 5
g 01 5314 DEC (R&)
013666 004770 177776 JSR PC,a=2(R0) ; CHECK FOR CC = 1
013672 012714 100000 mov  #100000, (R&)
995 013676 005314 DEC (R&4) 2
1%700 004737 017126 JSR PC,a#8$C(3 ; CHECK FOR CC = 3
7 013704 005314 DEC (R4) :
013706 004737 017066 JSR PC,a#s$CCT ; CHECK FOR CC =1
300;
2 SIERRRARRRRARRRRARANRARARREEARRRRANRRANRARARERARERRRRCRRAR SRR R RR R TR TR RAS
3003 ;*TEST: 103 NEW INSTRUCTION IN THIS SECTION IS COM
3004 ::ttttﬁ*&ttttttttttttitttt*ttﬁttttattitttttﬁttiItttitttttttﬁt'ttttttttttt.'tt
3005
3006 013712 (OM1:
3007 013712 021527 0001C3 CMP (R5) ,#103
3008 013716 001404 BEQ 1% ; IF IN WRONG SEQUENCE GO TO HLT
3009 013720 012745 000306 MOV ¥206,=(R5)
3010 013724 005245 INC -(RS)
3011 013726 000000 HALT ; TEST IS IN WRONG SEQUENCE
;g1€ 013730 005215 %: INC (R%)
13 013732 012703 000140 MOV #TEMPT,R3 ; LOAD ADDRESS

SEQ 0079

—
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CVKAAC MACY!1 30A(1052) 09-0CT-78 08:59 PAGE 81
(VKAAC.P11  09-0CT-78 08:58 7103 NEW INSTRUCTION IN THIS SECTION IS COM SEQ 0080
3014 013736 012713 125252 MOV #125252,(R3)  : LOAD EVERY OTHER BIT
3015 013742 000277 SCC

;816 013744 005163 100000 COM 0(R3) : 1'S COMPLEMENT

17 013750 004737 017066 JSR PC,a¥$CC1 * CHECK FOR CC = 1

3018 013754 022713 052525 CMP #52525, (R3) Y CHECK IT

3019 013760 001404 BEQ 2% : CONTINUE IF OK

3020 013762 012745 000307 MOV #307,-(RS)

3021 013766 005245 INC -(RS)

3002 013770 000000 HALT : COM INSTRUCTION FAILED
3023 013772 000277 2%: SCC

3026 0137764 005123 (oM (R3)+ : COMPLEMENT BACK

2025 013776 004737 017256 JSR PC,a#$CC 11 * CHECK FOR CC = 11

3026 014002 022743 125252 CMP #125252,-(R3) : CHECK IT

3027 014006 001404 BEQ 3 * CONTINUE IF Ok

3028 014010 012745 000310 MOV #310,=(RS)

sogg 014014 005245 INC -(RS)

3030 014016 000000 HALT : COM INSTRUCTION FAILED
3031 014020 010300 2%: MOV RS‘RO : RO IS NOW PCINTING TO LOCATION TEMP1
3032 014022 012710 177777 MOV #1%7777. (RO)

3033 014026 000277 SCC

303, 014030 005110 c (RO)

3035 014032 004737 017172 JSR PC,aH$CC5 . (HECK FOR CC = 5
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CVKAAC MACY11 30A(1052) 09-0CT-78 08:59 PAGE 82
CVKAAC P11 09-0C7~78 08:58 T104  NEW INSTRUCTION IN THIS SECTION IS NEG SEQ 0081
m ‘-‘-ttttttttttttttttttttttttttltttttttiittttttt'ttttttttttﬁttttttttttttt"tt'tt
037 LATEST: 104 NEW INSTRUCTION IN THIS SECTION IS NEG
wss ‘-‘-tttttttttttttttittttttttttitttttttﬁtt‘ttttttltttttttttﬁttlttttttttltittt.tﬁ
3039
3040 014036 NEG1:
3041 014036 021527 000104 cMP (RS) ,#104
3042 014042 001033 BNE ENEGT - IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
043 014044 005215 1%: INC (RS)
3044 014046 012704 000140 MOV #TEMP1 R4 . LOAD ADDRESS
3045 014052 012724 000001 MOV #1, (R4S + : LOAD THE LOCATION
3046 014056 010402 MOV R4 .R2
3047 014060 mgrez 100000 000000 MOV #100000,0(R2)
3048 014066 005444 NEG - (R&) : 2'S COMPLEMENT
3049 014070 004737 017256 JSR PC,a#$CC11 * CHECK FOR CC = 11
2050 014074 022724 177777 cMP #177777.(R4)+ = CHECK IT
3051 014100 007404 BEQ 2% * CONTINUE IF OK
3052 014102 012745 000311 MOV #311,-(R5)
3053 014106 (005245 INC -(RS)
3054 014110 00CV00 HAL T - NEG INSTRUCTION FAILED
3055 014112 016444 000000 2%: MOV 0(R&) ,~(R&) * TEMP1 CONTAINS THE LARGEST NEGATIVE NUMBER
3056 014116 005414 NEG (R&4) . 2'S COMPLEMENT
3057 014120 737 017320 JSR PC,a#$CC13 - CHECK FOR CC = 13
3058 o1t.1§46 026214 000000 CMP 0(R2), (R4) - CHECK IT
3059 0141 001404 BEQ ROL1 : CONTINUE IF OK
3060 014132 ENEG1:
3061 014132 012745 000312 MOV #312,=(RS)
3062 014136 005245 INC -(R5)
3063 014140 000000 HALT : WRONG RESULT IN TEMPZ2 OR WRONG SEQUENCE
306”5
3%7 ;;tttt*ttttttttt*ttttttttitttttttttttttttttttltttttittttt*ttttttttttitttﬁtttt
3068 L*TEST: 105 NEW INSTRUCTION IN THIS SECTION IS ROL
3%9 '-:ttttttttttttttlttttttttttttttttttttttt*ttttit*ttttiittttittt**ttt*tttttittt
3070
3071 014142 ROL1:
3072 014142 021527 000105 CMP (R5) ,#105
3073 014146 001032 BNE EROL 1 - IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
3074 014150 005215 INC (R5)
3075 014152 012701 000142 MOV #TEMP2 ,R1 : LOAD ADDRESS
3076 014156 012711 020000 MOV #20000. (R1) > LOAD LOCATION
3077 014162 000257 cce * CLEAR FLAGS
3078 014164 006121 ROL (R1)+ . SHIFT
3079 014166 006141 ROL -(R1) :
3080 014170 004737 017300 JSR PC,aN$0C12 * CHECK FOR CC = 12
3081 014174 022711 100000 CMP #100000, (R1) . CHECK IT
soa§ 014200 001404 BEQ 1% * CONTINUE IF OK
3083 (014202 012745 000313 MOV #313,=(RS)
3084 014206 005245 INC -(RS)
3085 014210 000000 HALT : ROL INSTRUCTION FAJLED
3086 014212 006161 000000 1$: ROL 0(R1) L SHIFT
3087 014216 004737 017214 JSR PC,aNs((7 * CHECK FOR CC = 7 X
3088 014222 010102 , MOV R1°R2 * R2 IS NOW POINTING TO LOCATION TEMPZ
3089 014224 006112 ROL (R2) T SHIFT
3090 014226 02271 000001 CMP & ,(R1) : CHECK IT
3097 014232 007404 BEG ROR1 : CONTINUE IF Ok




S ———— s

CVKAAC MACYT] 30A(105 ) 09-0CT=78 08:59 PAGE 83 . Al

CUKAAC.P11  09-0(T=78 08:58 1105 “"NEW INSTRUCTION IN THIS SECTION IS ROL
ﬁf 016530 012745 000314 st - 314~ (RS
A v r ,~(RS)
01424C 00%2 INC -(R5)
3095 (014247 000000 HALT : WRONG RESULT AT TEMP2 OR WRONG SEQUENCE

SEQ 0087
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CVKAAC.P11  09-0CT-78 08:58 NEW INSTRUCTION IN THIS SECTION IS ROR SEQ 0083
3096 ::ttttt.tttttttttttttttttittttttttttittttttttttttttlttitttttttttttttttttttttt
3097 TRTEST: 106 NEW INSTRUCTION IN THIS SECTION IS ROR
3098 ::titttttttttt*tttttttt*ttttttlttttttttttttttttttt*tttttttttttttitttttttttt.t
3099
3100 014244 ROR1:

3101 014244 021527 000106 CMP (R5) ,#106
3102 014250 001030 BNE EROR1 : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
3103 014252 005215 INC (RS)
3104 014254 012702 000142 MOV #TEMP?2 ,R2 ; LOAD ADDRESS
3105 014260 012712 200004 MOV #4,(R2) : LOAD LCCATION
3106 014264 000257 (CC ; CLEAR FLAGS
3107 014266 006012 ROR (R2) : SHIFT
3108 014270 006012 ROR (R2) :
3109 014272 022712 000001 (MP #1,(R2) : CHECK IT
3110 014;58 001404 BEQ 1% : CONTINUE IF OK
3111 014 012745 000315 MOV #315,=(R5)
3112 014304 005245 INC -(RS)
3113 014306 000000 HALT : ROR INSTRUCTION FAILED
3114 014310 006012 1%: ROR (R2) ; SHIFT
3115 014312 004737 017214 JSR PC,a#8CC7 : CHECK FOR CC = 7
3116 014316 006012 ROR (R2) . SHIFT
3117 014320 737 017300 JSR PC,a#8CC12 : CHECK FOR CC = 12
3118 0143% 022712 100000 CMP #100000, (R2>  ; CHECK IT
3119 0143 001404 BEQ ASL1 : CONTINUE IF OK
3120 014332 EROR1:
3121 014332 012745 000316 MOV #316,-(RS)
3122 014336 005245 INC -(RS)
%}52 014340 HALT : WRONG RESULT AT TEMP2 OR WRONG SEQUENCE
3125
3126
3157 :;tt*ttttt*ttttttttttttt*tttttttuttttttttttttltttttttttttttttitttttttttittttt
3128 :«TEST: 107 NEW INSTRUCTION IN THIS SECTION IS ASL
31%8 ;;*'ttttttttttttt*ttttttttttttttttttttt*ttttttttltttittttttttttttttttttt'ttli
1
g131 014342 ASL1:
313% 014342 021527 000107 CMP (R5) 4107
3133 (014346 001404 BEQ 2% : IF IN WRONG SEQUENCE GO TO HLT BELOW
3134 014350 012745 000317 MOV #3i7,-(R5)
3135 014354 005245 INC -(RS5)
3136 014356 000000 HALT : PROGRAM IS IN WRONG SEQUENCE
3137 (014360 005215 2%: INC (RS)
3138 014362 012703 000142 MOV #TEMP2 ,R3 ; LOAD ADDRESS
§139 014366 012713 020000 MOV #20000, (R3) : LOAD LOCATION
140 014372 000257 CCC : CLEAR FLAGS
: 3141 014374 006313 ASL (R3) ; SHIFT
§14§ 014376 006313 ASL (R3) 3
143 014400 004737 017300 JSR cha#SCC12 ; CHECK FOR CC = 12
3144 014404 022713 100000 CMP #100000, (R3) ; CHECK IT
3145 014410 001404 BEQ 4% ; CONTINUE IF OK
3146 014412 012745 000320 MOV #320,-(R5S)
3147 014416 005245 INC -(R5)
3148 07+«20 000000 HALT : ASL INSTRUCTION FAILED
2149 014422 006313 4%: ASL (R3) : SHIFT
3150 0144246 004737 017214 JSR PC,a#8(C7 : CHECK FOR CC = 7
3151 014430 006313 ASL. (R%) : SHIFT




(' AAC

MACYT1 30A(1052) 09-0CT=-78 08:59 _PAGE
08:58 1107

CyxAAC P 09=0C 1=7

5152

0164632 006737 017150

85

G 7

NEW INSTRUCTION IN THIS SECTION IS ASL

JSR

PC,a#8CC4

; CHECK FOR CC = &

SEQ 0084
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(VKAAC MACY11 30A(1052) 09-0CT-78 08:59 PAGE 86 ‘
CVKAAC.P11 09-0CT=-78 08:58 T110 NEW INSTRUCTION IN THIS SECTION IS ASR SEQ 0085
31 53 .‘"0tittt.lttttﬁtl.tttti.t"t'ilﬁt'i'ii....t.l’ttt!t..tttiQtttl.ttttl"'tt.'..'
3154 :=TEST: 110 NEW INSTRUCTION IN THIS SECTION IS ASR
3155 ;;t-ttttttttttttnttnttttttttttttﬁttt-ttttttttttttﬁtn:twttttttttt-tt..nttﬁﬁttt
3156
3157 014436 ASR1:
3158 014436 021527 000110 C (RS5) ,#110
3159 014442 001040 BNE EASR1 : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
;160 014444 005215 15: INC (R5)
161 014446 012704 000142 MOV #TEMPZ R4 ; LOAD ADDRESSES
316% 014452 012703 200136 MOV #TEMP R3 :
3163 014456 012714 0C0004 MOV #4,(RG) 2 LOAD LOCATION
§16k 014462 000257 cCC ; CLEAR FLAGS
165 014464 006214 ASR (R4) ; SHIFT
3166 014466 006214 ASR (R4) 2
3167 014470 022714 (000001 CMP #1,(R4) : CHEC~ IT
3168 014474 001404 BEC 2% ; CONTINUE IF OK
3169 014476 012745 000321 MOV #321,-(RS)
3170 014502 005245 INC -(RS)
3171 014504 000000 HALT ; ASR INSTRUCTION FAILED
317¢ 014506 006214 2%: ASR (R&) s SHIFT
317% 014510 004737 017214 JSR PC,an$C(7 : CHECK FOR (CC = 7
3174 014514 006214 ASR (R&) ; SHIFT
3175 014516 004737 017150 JSR PC,a#$(C4 : CHECK FOR (C = 4
3176 Q14322 012713 100002 MOV #100002, (R3)  ; LOAD LOCATION
317 0145%6 006213 ASR (R3) ; SHIFT
2178 014530 006213 ASR (R3) :
3179 014532 004737 017256 JSR PC,a#8((11 : CHECK FOR (C = 17
3180 014536 022713 160000 (MP #160000, (R3) ; CHECK IT
3181 014542 001404 BEQ ADC1 ; CONTINUE IF Ok
318% 014544 EASRT:
3183 014544 012745 000322 MOV #322,-(R5)
3184 014550 005245 INC =(R5)
3}32 014552 000000 HALT : WRONG RESULT IN TEMP OR WRONG SEQUENCE
3187
3188
3189 ;:ttlttttttttttttittttlttﬁ.tttttitttttﬁtttttlt.ittttttttt'..l..‘ltt..tttttt't
3190 ;*TEST: 11 NEW INSTRUCTION IN THIS SECTION IS ADC
7191 ::tttttttttttttttttttﬁttt'ttttttttlQltttttttttttttt.ttoQQ.Q'tt'6!'...........
3192
31935 014554 ADC1:
3194 814554 021527 000111 (MP (RS) #7111
3195 014560 001404 BEQ 2% : IF IN WRONG SEQUENCE GO TO HLT BELOW
2196 014562 012745 000323 MOV #323,-(R5)
197 014566 005245 INC -(R5)
§198 014570 000000 HALT ; FROGRAM IS IN WRONG SEQUENCE
199 014572 005215 2%: INC (RS)
3200 014574 012700 000136 MoV #TEMP,RO ; LOAD ADDRESS
3581 014600 005010 (LR (RC) : CLEAR THE LOCATION
g 014602 000%57 CCC ; CLEAR FLAGS
3203 014604 005510 AD( (RO) : ADD C BIT = 0
%584 014606 004737 017150 JSR PC,a#$((4 : CHECK FOR (C = 4
5 014612 OOO€61 SEC : L~
ggb 014614 005510 ADC (RO) ; ADD C BIT=1
7 014616 000261 SEC ;s =1
3208 014620 005510 ADC (RO) . AGAIN
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(%:

($:

S
87
NEW INSTRUCTION IN THIS

JSR PC,a#$CCO
CMP #2,(RO)

BEQ 48

MOV #324 ,-(RS)
INC -(RS)

HALT

MOV #77777. (RO)
SEC

ADC (RO)

JSR PC,aNs$CC12
{MP #100000, (RO)

BEQ 6%

MOV #325,-(R5S)
INC -(RS)

HALT

MOV #=1,(R0O)
SEC

ADC (RO)

JSR PC,a#8C(5

SECTION IS ADC

Wy Wy e W N,

CHECK FOR CC = 0
CHECK IT
CONTINUE IF OK

ADC INSTRUCTION FAILED
LQ?D LARGEST POSITVE NUMBER

(=

ADD C BIT=1

CHECK FOR CC = 12
CHECK IT

CONTINUE IF OK

ADC INSTRUCTION AILED
LOAD -1

C=1

ADD C BIT=1

(HECK FOR CC = 5

SEQ 0086
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CUKAAC MACY1T 30A(1052) 09-0C7-78 08:59 PAGE 88
CVKAAC.P11  09-0CT=78 08:58 7112 NEW INSTRUCTION IN THIS SECTION IS SBC SEQ 0087
8 8 'tttttttttlttttttitttttttttﬁﬁttttttt*tl’t!titt*ttttt*'tittttttttttlttltititl
_ -resr 112 NEW INSTRUCTION IN THIS SECTION IS SBC
tlvtntttttttittttttt'tttttttttttIittﬁtitttttiitttltttll"tttittttttt..l.t..t.
!
§§ 014712 SBC1:
3333 014712 881527 000112 cMP (RS) A112
34 014716 001404 BEQ : IF IN WRONG SEQUENCE GO TO HLT
§ 014720 012745 000326 MOV xsza -(RS)
36 014726 005245 INC ~(RS)
3337 014726 000000 HALT : TEST IS IN WRONG SFQUENCE
.gs 014730 005215 1%: INC (RS)
9 014732 015 01 000136 MOV #TEMP,R1 : LOAD ADDRESS
40 01473 012711 000003 MOV #3.(R1) * LOAD LOCATION
41 014742 000257 cCc * CLEAR FLAGS
42 014744 005611 SAC (R1) * SUBTRACT C BIT=0
43 014746 004737 017046 JSR PC,a#$CCO * CHECK FOR CC = 0
4, 014752 022711 000003 CMP #3.(R1) L CHECK IT
2245 014756 001404 BEQ 2% * CONTINUE IF OK
gsae 014760 012745 000327 MOV #327,-(RS)
47 014764 005245 INC -(R5)
3248 014766 HALT : SBC INSTRUCTION FAILED
3249 014770 000261 2% : SEC ;=1
50 014772 005611 SAC (R1) . SUBTRACT ¢ BIT=1
51 014774 000261 SEC : =1
52 014776 005611 SA( (R1) :
53 (015000 004737 017046 JSR PC,a#$CCO * CHECK FOR CC = 0
54 015004 022711 0000C1 CMP #1.(R1) * CHECK IT
55 015010 001404 BEQ 33
3256 015012 012745 000330 MOV #330,-(RS)
3257 015016 005245 INC -(RS)
3258 015020 000000 HALT : sec INSTRUCTION FAILED
2250 015022 000261 3%: SEC ;
360 015024 005611 SRC (R1) : SUBTRACT ¢ BIT=1
267 015026 004737 017150 JSR PC,I4$CCL * CHECK FOR CC = 4
ggg§ 015032 000261 SEC : C=1
015034 005611 . SB( (R1) * SUBTRACT C BIT =
3064 015036 004737 017256 ISR PC,a¥$CC11 * CHECK FOR CC =
gggg 015042 022711 177777 cMP #-1,(R1) * CHECK IT
015046 001406 BEQ 4% * CONTINUE IF OK
3267 015050 012745 000331 MOV #331,-(RS)
3068 015054 005245 INC -(RS)
3269 015056 HALT : SBC INSTRUCTION FAILED
3270 015060 012711 100000 4$: MOV #100000, (R1) * LOAD R1
371 015064 000261 SEC L =1
2272 015066 005611 SR( (R1) * SUBTRACT € BIT =
32;2 015070 004737 017106 JSR PC,aN$C(2 * CHECK FOR CC = 2
75
3276
3277 FEP et 1 1112 022 At SRR A AR R SRS A A A A R A A L A A A R b b
3278 SATEST: 113 NEW INSTRUCTION IN THIS SECTION IS SXT
3279 : ttttt*tltttﬁttttttttittttttti*'titltttttt!‘!tttttttt‘lttt."tttttttttttt.'Q!.
3280
3281 015074 SXT1:
2282 0150764 021527 000113 CMP (RS) 4113
3283 015100 001026 ANE gsxTi : IF IN WRONG SEQUENCE GO TO HLT AT THE END OF TWE TEST
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MACY11 30A(1052) 09-0CT-78 08: 59 PAGE 89

P11 09-0CT-78 08:58 113 NEW INSTRUCTION IN THIS SECTION IS SXT SEQ 0088
015102 ; 1%: INC (RS)

015106 012702 000140 MOV #TEMP1,R2 : LOAD ADDRESS

015110 005012 CLR (R2) * CLEAR LOCATIONS

015112 0060277 SCC

015114 000254 CLNZ :

015116 006712 SXT (R2) : SIGN exreuo

015120 004737 017172 JSR PC,aN$CCS * CHECK FOR CC = 5

015124 005712 ST (R2) * LOCATION SHOULD STILL BE O
0151%8 001404 BEQ 2% * CONTINUE IF OK

015130 012745 000332 MOV #332,-(RS)

015134 005245 INC -(RS)

01513 000000 HAL T : SXT INSTRUCTION FAILED
015140 000273 2%: SENVC P SET N, V& C BITS

015142 006712 SXT (R2) * SIGN EXTEND

015144 737 017256 JSR PC,a#$CC11 * CHECK FOR CC =

015150 022712 177777 CMP #-1,(R2) * LOCATION SHOULD ~su HAVE -1
015154 007404 BED SWAB1 : CONTINUE IF OK

015156 ESXTT:

015156 012745 000333 MOV #333,=(RS)

015162 005245 INC -(R5)

015164 000000 HAL T : WRONG RESULT IN TEMP1 OR WRONG SEQUENCE
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(VKAAC MACY11 30A(1052) 09-0CT=-78 08:59 PAGE 90
CVKAAC.P11 09-0C T-78 08:58 1114 NEW INSTRUCTIOON IN THIS SECTION IS SWAB SEG 0089

"'t!tttt..tt.'ﬁ.ttt.t't.ti'tﬁﬁ...tt.'tt..lt....'ﬁtl.t.ttt..ttttttt.".!t".t

TRTEST: 114 NEW INSTRUCTIOON IN THIS SECTION IS SWAB

BegE

3 ::tt-tttttttttt.t.tttttlttttitttttttttttttttttitt.ttﬁltttttttttttttttt"itttt
3

3 015166 SWAR1:

32310 015166 021527 000114 cMP (RS) ,#114

3311 015172 001034 BNE ESWART . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
331; 015174 005215 INC (RS)

3313 015176 012703 000142 MOV #TEMP2 ,R3 : LOAD ADDRESS

3314 015202 012713 125125 Moy #125125,(R3)  : LOAD BIT PATTERN INTO LOCATION

3315 015206 000277 5CC

3316 015210 000250 CLN

%317 015212 000313 SWAB (R3) : SWAP BYTES OF LOCATIONS

3318 015214 004737 017236 JSR PC,a#$CC10 * CHECK FOR CC = 10

3319 015220 022713 052652 CMP #52652, (R3) * CHECK IT

3320 015224 001404 BEQ 1% . CONTINUE IF OK

3321 o152§6 012745 000334 MOV #334 ,-(RS)

3 § 015232 005245 INC -(RS)

3 015234 000000 HAL T : SWAB INSTRUCTION FAILED

3324 015236 012713 000377 1%: MOV #377,(R3)

3305 015242 000277 SCC

3326 015244 000244 Lz

3327 015246 000363 000000 SWAB  O(R3)

3328 015252 004737 017150 JSR PC,a#8CC4 : CHECK FOR ({ = &

33%3 015256 022713 177400 MP #177400, (R3)

3330 015262 001404 | BEQ XOR1

3331 015264 ESWART:

3332 (015264 012745 000335 MOV #335,=(RS)

3333 015270 005245 INC -(R5)

gsgg 015272 000C00 HAL T : WRONG RESULT IN: TEMP2 OR WRONG SEQUENCE

333

3337

3338 ::ntntttttttttttttttttttitttttttttlttiitttttttttttttttttiitttttittttttttttttt
2339 L*TEST: 115 NEW INSTRUCTION IN THIS SECTION IS XOR

35‘0 ::ti'ttttttttttt.Qttttttt"ttttttQ'ttt*ttlttitl.t*ttit*ttttttttt‘t.tittttlt.t
3341

334% 015274 XOR1:

333 015274 021527 000115 cMP (R5) ,#115

%344 015300 001041 BNE EXORT - IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
345 015302 005215 INC (RS)

U6 015304 012706 177777 MOV #-1,R4 . LOAD LOCATIONS

237 015310 012767 177777 162622 MOV #=-1.TEMP1 ;

%348 015316 000277 SCC

29 015320 074467 162614 XOR R4, TEMP1 : SHOULD PRODUCE 0°'S IN TEMP1

3350 015324 004737 017172 2 JSR PC,a#$CC5 * CHECK FOR CC = 5

3351 015330 012767 077777 162602 MOV 877777 . TEMP1

3355 01533 012700 000140 MCV #TEMP1.RO : PLACE THE ADDRESS OF TEMP1 IN RO

sgs 015342 000263 SEVC - SET v & C BITS

3354 015344 000244 Lz

3355 015346 074410 XOR R4, (RO)

3356 (015350 004737 017256 JSR PC,a#$( (1] : CHECK FOR CC = 11

3357 015354 012701 125252 MOV #125252 ,R1 : LOAD LOCATIONS

2358 015360 012720 052525 MOV #52525, (RO) + :

3350 (15364 000277 SCC

3360 015366 074140 XOR Ki,=(RO) ; SHOULD PRODUCE ALL 1'S IN TEMP?




M7

CUKAAC MACY11 30A(1052) 09-0CT=-78 08:59 PAGE 91
CVKAAC P11 06-0CT1-78 08:58 1115  NEW INSTRUCTION IN THIS SECTION IS XOR SEQ 0090

3;31 015370 004737 017256 JSR PC,aNsCC11 : CHECK FOR CC = 11

332 015374 022737 177777 000140 CMP #-1,4TEMP1 * CHECK IT

3363 015402 001404 BEQ ADD 1 > CONTINUE IF OK

gw. 015404 EXORT:

5 015404 0127645 000336 MOV #336,=(RS) .
7 015410 (05245 INC -(R5)
2267 015412 000000 HAL T . WRONG RESULT IN TEMP1 OR WRONG SEQUENCE
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MACY11 30A(1052) 09-0CT-78 08:59 PAGE 92
P11 C9=-0CT=-78 08:58 116 NEW INSTRUCTION IN THIS SECTION IS ADD SEQ 0091

"ttt*ttttttlttttttt*ltt*tttt.tttﬁil.ﬁtﬁﬁ*‘ﬁ*tittt*i.ittﬁtttttttttitttﬁitt'ﬁ.

S*TEST: 116 NEW INSTRUCTION IN THIS SECTION IS ADD

::ttttttttttitttttttﬁt'ttit'tttﬁttlii*tﬁ*tﬁ‘*i!.itiﬁttttﬁﬁttGt.tt'tt...itﬁt"

015414 ADD1: )
015414 021527 000116 CMP (RS) #4116
815420 001133 BNE EADD . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
15422 005215 INC (R5)
0154264 012700 000142 MOV #TEMP2 RO : LOAD ADDRESSES
015430 012701 000136 MOV #TEMP .R1 y
0156434 012767 0214217 162500 MOV #214271,TEMP2  : LOAD LOCATIONS
015442 011011 MOV (RO), (R1) :
015444 061011 ADD (RO) . (R1) * ADD
015446 004737 017046 JSR PC,a#$CCO * CHECK FOR CC = 0
015452 022767 043042 62456 CMP #45042, TEMP © CHECK IT
015460 001404 BEQ 1% * CONTINUE IF OK
015462 012745 000337 MOV #337,-(RS)
015466 005245 INC -(RS)
015470 000000 HALT : ADD INSTRUCTION FAILED
015472 005010 1%: CLR (RO) > CLEAR LOCATION TEMP?2
015474 060020 ADD RO, (RO) +  PLACE THE ADDRESS OF TEMP2 IN LOCATION TEMP2
815476 024027 000142 CMP -(R0O) ,#TEMP2 : CHECK IT
15502 001404 BEQ 2%
015504 012745 000340 MOV #340,=(RS)
015510 005245 INC -(RS)
015512 000000 HALT . ADD INSTRUCTION FAILED IN MODE 2
015514 012767 156357 162420 2%: MOV #-21421,TEMP2  : LOAD LOCATIONS
015522 012011 MOV (RO) +, (R1) :
0155.4 064011 ADD -(RO) . (R1) * ADD
o1ss§6 004737 017256 JSR PC,a#$CC11 * CHECK FOR CC = 11
015532 022767 134736 162376 CMP #-43042 . TEMP  : CHECK IT
015542 001404 BEQ 3$ SCONTINUE IF OK
015542 012745 000341 MOV #341,-(R5)
815546 005245 INC - (RS}
15550 000000 HALT : ADD INSTRUCTION FAILED
015552 012767 100000 162362 3%: MOV #100000, TEMP2  : LOAD LOCATIONS
815560 011061 000000 MOV (RO) ,0(R1) :
15564 066011 000000 ADD 0(ROJ , (R1) * ADD SHOULD RESULT AS 0'S
815570 004737 017214 JSR PC,a#$CC7 * CHECK FOR CC=7
15574 Q12767 021421 162336 MOV #21421,TEMP1  : LOAD LOCATION TEMPI
015602 012760 000140 000700 MOV #TEMP1 0(RO) - PLACE THE ADDRESS OF LOCATION TEMP1 IN TEMP2
815610 012711 156357 MOV #-216427.(R1)  : LOAD LOCATION TEMP
15614 010004 MOV RO,R4 * MAKE R4 POINT TO LOCATION TEMP?
015616 881411 000000 ADD a0(R4) , (R1) * ADD SHOULD RESULT AS 0'S
8156 2 737 017172 JSR PC,aH8CC5 * CHECK FOR CC=5
15626 005430 NEG a(R0)+ * NEGATE THE CONTENTS OF TEMP1
8156 o1§7a6 021421 MOV #21421,~(SP) * PLACE # 21421 ON THE STACK
15634 065066 000000 ADD a=(R0) .0 (SP) * ADD, SHOULD=0'S
815640 004737 017172 JSR PC,a#$CCS * CHECK FOR CC=5
15644 005726 ST (SP) + * CHECY THE STACK TO CONTAIN 0, ALSO
* RESTORE THE STACK POINTER
015646 001404 , BEG 4%
015650 012745 000342 MOV #342,=(R5) .
015654 005245 INC -(R5)
015656 880500 ) HAL T : ADD INSTRUCTION FAILED IN MODE 5
015660 012767 137777 162256 4%: MOV 8137777 ,TEMP?




CYKAAC MACYTT 30A(1052)

CVKAAC P11 09-0(T~78 08:58
4 015666 062767 137777
5 015674 004737 017126
0127 022767 977776
7 0157 001404
8 015710
s 015710 012745 000343
015714 005245
1 015714 000000
£
£
£
39 015720
0 015 021527
41 015 001100
i 015726 005215
3443 015730 012702
2224 15 012703
5 015740 015767
3446 015746 012767
3447 015754 161;13
3448 015756 004737
3449 015762 022767
3450 015770 001404
3451 015772 012745
3255 015776 005245
53 016000 000G00
3454 016002 012767 021421
3455 016010 161213
2256 016012 001404
57 016014 012745 000345
g258 016020 005245
59 016022 000000
5260 0160%4 012767
61 016032 012767
3462 016040 161312
3463 016042 004737
3664 016046 022767
3465 816054 001404
g:gb 16056 012745
7 016062 005245
3468 016064 000000
9 0 012712
70 8160 2 161312
71 016074 004737
3475 016100 012767
73 016106 162767
76 016114 004737
75 016120 005767
3476 01615& 001404
g:?? 016126
78 016126 012745
3479 016132 005245

021421
156357

017236
134736

000344

177777
077777

017320
100000

000346

177777

017150
Q77777
077777
017150
162012

000347

162246
162234

2170
2164

s i
oo~

162150

162130

162106
162076

162062

162030
162022

09-0CT-78 08:59 PAGE
116

T

EADD1:

"ttttttt.tt*t*ttttt*ﬁt*ttttitittttﬁ’*ﬁ**'tttﬁk‘tiiiiﬁtt*lﬁﬁtt"tt'itttitit'.

S*TEST:

::ttl*ttittttt'*t*ttﬁtt*ti**ttittitttttﬁ*ﬁtiﬁiﬁﬁtt*ttttttttttt!.tt.t..t.ti.'i

SUB1:

1%:

2$:

3%:

FSUBT:

B 8
93
NEW INSTRUCTION IN THIS SECTION IS ADD
ADD 8137777 ,TEMP?

JSR PC,a#$C(3 : CHECK (C=3

MP #77776.TEMP2

BEQ SuB1

MOV #343,-(RS)

INC -(RS)

HAL T : WRONG RESULT AT TEMP OR WRONG SEQUENCE

117 NEW INSTRUCTION IN THIS SECTION IS SUB

CMP (RZ) , 4117
BNE EsuBt

INC (R5)

MOV #TEMP ,R2

MOV #TEMPT,R3
MOV #21421 . TEMP
MOV #-21421, TEMP1
SUB (R2), (RS
JSR PC,a#$CC10

LOAD ADDRESSES
LOAD LOCATIONS

RESULT SHOULD=-43042
CHECK FOR CC = 10

(TR TR TEIE TR TR IR L]

CMP #-43042, TEMPT CHECK IT

BEQ 1% ;CONTINUE IF OK

MOV #344 ,~(RS)

INC -(R5)

HALT ; SUB INSTRUCTION FAILED
MOV #21421,TEMP] ; LOAD LOCATION

SuB (R2),(R3} ; RESULT SHOULD=0

BEQ 2%

MoV #345,=(R%)

INC -(R5)

HALT ; SUB INSTRUCTION FAILED

LOAD LOCATIONS
LOAD _OCATIONS

MOV #-1,TEMP1
MOV #77777 ., TEMP
SUB (R3), (R2)

JSR PC,a#8C(C13 CHECK FOR CC = 13

I TE TR TR TR N

cMP #100000, TEMP CHECK IT

BEQ 3% CONTINUE IF OK

MOV #346,~(RS)

INC -(RS)

HAL T : SUB INSTRUCTION FAILED

MOV #-1,(R2)
SUB (R3J, (R2)
JSR PC a#$(C4
MOV #7P777 . TEMP
SUB #77777 . TEMP
JSR PC,aNs$( (4

; CHECK FOR (C = &

; C(HECK FOR (C=4

TST TEMP

BEQ SOB ; TEMP SHOULD BE =0
MOV %' 7,-(RS)

INC -(RS)

RESULT SHOULD GIVE 100000 AND OVERFLOW

SEQ 0092

IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
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CUKAAC MACYTT 304(1052) 09-0(T1-78 08:59
CYKAAC P 09=0(T=7R OR:58 T

%80 01613« Q00000

7

PAGE 94
NEW INSTRUCTION IN THIS SECTION IS SUB

HAL T

c 8

: SUB INSTRUCTION FAILED OR SEQUENCE ERROR

SEQ 0093
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CUKAAC MACY11 30A4(1052) 09-0CT=-78 08:59 PAGE 95
CVKAAC.P11  09=-0CT=78 08:58 7120  NEW INSTRUCTION IN THIS SECTION IS SO8 SEQ 0094
%81 ::ttttttttt*tttt'tQttttit*ttlltttt*t‘iﬁﬁ.ﬁi'tliiitl"ttltﬁt.Qittttiit.itt't‘.'
248 TRTEST: 120 NEW INSTRUCTION IN THIS SECTION IS SOB
3"8 .'.-ttttttttttttttttt*'tt*i"ttttittttﬁttt.ittttitttttttttlt‘t.ttt'.ttttttt..t.
2484
485 016136 SOB: :
386 016136 021527 000120 CMP (RS) ,#120
387 016142 001042 BNE ESOB . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
%88 016146 005215 INC (R5)
2489 016146 012700 000072 MOV #10. RO : LOAD REGISTERS
390 016152 005001 CLR R1 :
3491 016154 005201 1%: INC R1 * KEEP COUNT
329 016156 0201SZ 000012 CMP R1.#10.
93 016162 0034 BLE 2%
9, 016164 012745 000350 MOV #350,=(RS)
95 016170 005245 INC -(RS)
249 016172 , HALT . SOB INSTRUCTION FAILED
397 016174 000277 2%: SCC
398 016176 0770°2 SOB RO,1% : SUB. 1 FROM REG. 0, GO BACK TO 1%
3499 016200 004757 017340 JSR PC.a#$CC17 * CHECK FOR CC = 17
3500 016204 005700 ST RO “REG. 0 =0 ?
3501 016206 001404 BEG 3% * NO, FAILED
350% 016210 012745 000351 MOV #351,-(RS)
2503 016214 005245 INC -(RS)
3504 016216 000000 HALT : SOB INSTRUCTION FAILED
3505 016220 022701 000012 3% CMP #10. R * DID IT GO THRU 10 TIMES ?
3509 016224 001404 BEQ 4% : CONTINUE IF OK
3507 016226 012745 000352 MOV #352,-(RS)
3508 016232 005245 INC -(RS5)
3509 016234 000000 HAL T . SOB INSTRUCTION FAILEL
3510 016236 012706 000010 4%: MOV #10,R4 * PLACE #10 IN R4
3511 016242 077401 5% SOB R4 .5$ * STAY HERE UNTILL R4 = 0
351% 016244 005704 ST R4
3513 016246 001404 BEQ PSWNO : CONTINUE IF OK
3514 016250 ESOB:
3515 016250 012745 000353 MOV #353,=(RS)
2516 016254 005245 INC -(R5)
gg;; 016256 000000 HAL T : SOB FAILED OR WRONG SEQUENCE
3519
3520
3521 ;;ttttt«tt'tttttwtttttttttttttt-vttttttttttttttttttttttttttttttttataa-ttttttt
352 TRTEST: 121 NEW INSTRUCTIONS IN THIS SECTION ARE MTPS & MFPS
352 .'.'Qtl’ttt.tttt**ttttﬁ*Q‘"ﬁ'*tit‘ﬁ'*ﬁl****.l*tittiﬁt'ttﬁtt*Q"tit‘ttiiiitt.tﬁ'it
524,
3254
3526 016260 PSWNO :
3527 016260 021527 000121 CMP (RS) 4121
508 016264 001042 BNF EPSWNO . IF IN WRONG SEQUENCE GO TO HLT AT THE END OF THE TEST
sgg 016266 005215 INC (R5)
§30 016270 012700 00017% MOV #TEMP RO : PUT THE ADDRESS OF TEMP IN RO
531 0162764 012707 00014 MOV #TEMPT  R1 " PUT THE ADDRESS OF TEMP1 IN R1
3532 016300 012711 177777 MOV 8177777, (R1) . TEMP1 = 177777
3533 (016304 005010 CLR (RO) CTEMP = 0
753, 016306 MTPS  (RO) P PSW =0
2535 016306 106410 JWORD  104400!..C
353 016310 004737 (017046 ISk PC,a#s(C0 : (WE(K FOR CC = 0
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MACY11 30A(1052) 09=-0CT=78 08:59 PAGE 96
P11 09-0C7-78 08:58 7121 NEW INSTRUCTIONS IN THIS SECTION ARE MTPS & MFPS SEQ 0095
016314 MFPS (R1) : MOVE PSW TO TEMP1
016314 106711 LWORD 106700!..C
016316 004737 217150 JSR PC,aNsCC4 : CHECK FOR CC = 4
016322 022711 177400 cMP l177400.(R1) : CHECK TEMP1 TO MAKE SURE THAT ONLY
* THE LOWER BYTE WAS AFFECTED BY MFPS
owsgg 001404 BEQ 1%
016330 012745 000354 MOV #3564 ,=(RS)
01633, 005245 INC -(RS)
01633 000000 : HALT : MTPS OR MFPS INSTRUCTION FAILED
016340 005011 i$: CLR (R1)
016342 MTPS #377 : SET PSW = 357 SINCE T BIT CAN NOT BE SET BY MIPS
016342 106427 JWORD  106400:..C
016346 0064737 017340 JSR PC,a$CC17 . CHECK FOR CC = 17
016352 MFPS TEMP : MOVE PSW TO TEMP1
016352 106767 JWORD  106700!..C
016356 004737 017256 JSR PC,a#8CC11 : CHECK FOR CC = 11 [C BIT SHOULD NOT BF EFFECTED BY MFP
016362 022767 000357 161550 CMP #357 , TEMP1
016370 001404 BEQ BTWRD
016372 EPSWNO :
016372 012745 000355 MOV #355,=(RS)
016376 005245 INC -(R5}
016400 000000 HAL T . MFPS INSTRUCTION FAILED IN MODE 6

© OR SEQUENCE ERROR
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CVKAAC.P11 09-0CT-78 08:58 7122  BYTE INSTRUCTIONS REQUIRING WORD INST. TO CHECK SEQ 0096
3560 :.‘ttttttttttlttttttttttttttttttttttttttﬁtttttttttltltltlQtltttttttt.ttttttt.'
3561 SATEST: 122 BYTE INSTRUCTIONS REQUIRING WORD INST. TO CHECK
3552% :;ttttt*t*tittttttttttittttittttttttttttttt!tttttttttttltttlttttttttttttttt.n
3
3664 016402 BTWRD :
3665 016402 021527 000122 CMP (RS) ,#122
366 016406 001124 BNE EBTWRD . IF IN WRONG SEQUNCE GO TO HALT AT THE END OF THE TEST
3567 016410 005215 INC (RS)
3668 016412 005000 CLR RO
3569 016414 000277 SCC
3570 016416 112700 000200 MOVB  #200,RO : SET THE HIGHEST BIT OF THE
3571 * LOWER BYTE
§72 016422 004737 017256 JSR PC,aNsCCN " CHECK FOR CC=11
3573 016426 022700 177600 CMP #177600,R0 : CHECK FOR SIGN EXTENSION IN RO
3574 016452 001404 BEQ 1%
3575 016436 012745 000356 MOV #356,~(R5)
3576 016440 005245 INC -(R5)
3577 016442 000000 HALT : SIGN WAS NOT EXTENDED IN RO
3578 016444 000277 1%: SCC
3579 016446 012700 177777 MOV #177777 .RO
3580 016452 112700 000000 MOVB #0,R0 :CLEAR THE LOWER BYTE OF RO.
3581 016456 004737 017172 JSR PC.aNs$CCS * CHECK FOR CC=5
3582 016462 005700 ST RO * CHECK RO FOR SIGN EXTENTION
3583 016464 001404 BEQ 2%
2584 016466 012745 000357 MOV #357,=(R5)
3585 016472 005245 INC -(RS)
2586 016474 000000 HALT : SIGN W'~ NOT EXTENDED IN RO.
3587 016476 012704 000142 2% : MOV #TEMP2 R4 * R4 IS POINTING TO TEMP2
3588 016502 012714 000377 MOV - #377.(R4) * PLACE #377 IN LOCATION TEMPZ
2580 016506 012706 000446 MOV #START=2,R6
2600 016512 116426 000000 MOVB  O(R4),(R6)+ : PUSH # 377 ON STACK
5§91 016516 022706 000450 CMP #START ,R6
592 016522 001404 BEQ 3%
2503 (016524 012745 000360 MOV #360,=(RS)
3504 016530 005245 INC -(R5)
2505 (016532 000000 HAL T : R6 DID NOT GET INCREMENTED
3596 : BY 2 BY A BYTE INSTRUCTION
3597 (016534 124627 000377 3$: (MPB  =(R6) 4377 * CHECK LOCATION START=2 TO
3598 * CONTAIN PROPER DATA
3599 016540 001404 BEQ 4%
3600 016542 012745 000361 MOV #361,=(R5)
2601 016546 005245 INC -(RS)
2602 016550 000000 HALT : BYTE INSTRUCTION IS FAILING WITH R6
360 016552 022706 000446 4%: CMP #START=2 .R6 : CHECK THAT R6 WAS DECREMENTED
3604 : BY 2 BY A BYTE INSTRUCTION
3605 016556 001404 ) BEQ 5%
ggge 016560 012745 00036 MOV #362,~(RS)
7 016564 005245 INC -(RS)
3608 016566 HAL T : R6 WAS NOT DECREMENTED
3609 016570 016467 007000 161340 5%: MOV 0(R&) , TEMP * SET THE LOWER BYTE OF LOCATION TEMP
2610 016576 005726 ST (R6) + * RESTORE STACK POINTER
3611 016600 000277 SCe
2612 016602 114667 161331 MOVE  =(SP),TEMP+1 . SET THE HIGHER BYTE OF LOCATION TEMP
%13 016606 004737 017256 JSR pCaa$(1] Y CHECK FOR CC=11
3614 016612 022767 177777 161316 CMP 8- %7777 ,TEMP . (HECK TEMP FOR THE CORRECT VALUE
15 016620 001404 BEQ 6%

——————
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CVKAAC.P11  09-CCT-78 08:58 7122  BYTE INSTRUCTIONS REQUIRING WORD INST. TO CHECK SEQ 0097
3616 016622 012745 000363 MOV #363%,~(RS)
2617 016626 005245 INC -(R5)
618 0166 000000 HALT : TEMP FOULED UP
2619 0166;2 005067 161300 6% : CLR TEMP
016636 000241 : CLC :
1 016640 105167 161273 COMB  TEMP+1 : WRITE 1'S IN THE HIGHER BYTE OF TEMP
% 016644 004737 017256 JSR PC,a$CC11 * CHECK FOR CC=11
016650 022767 1776400 161260 (MP #177400, TEMP
4 016656 001404 BEQ NEXT
5 016660 ERTWRD :
3606 016660 012745 000364 MOV #364 ,-(R5)
3627 016664 005245 INC -(R5)
%28 016666 000000 HALT : WRONG VALUE IN TEMP OR WRONG SEQUEMNCE
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END OF PASS ROUTINE

016764

000450
016754
000166

000001

000024

000024

NEXT:

2%: INC

BNE
.TYPE
GFT42: MOV
BEQ
$ENDAD: JSR
NOP
NOP
NOP
DOAGN: CLR

END OF PASS
(23333228 2 44
(RS) 4123
2% ; IF IN WRONG SEQUENCE GO TO HLT BELOW
#365 ,-(R5)
-(R5)
; PROGRAM IS IN WRONG SEQUENCE
$PASS
$PASS , 41 ; ALLOW THE TYPE OUT OF END OF
: PASS EVERY 377 PASSES
DOAGN
.ENDPAS ; TYPE END OF PASS MESSAGE
a4l RO
DOAGN
PC. (RO)
$TESTN ; PREPARE 10 START FROM TEST 0
START : START TEST OVER AT BEGINNING

RETURN: JMP

::t'tﬁbttttttti*t*ﬁ*i.t.Qtttt'tittﬁﬁil.t..iQtititttt**tﬁ*t*.tilttltt'*tti'tt'

.SBTTL POWER FAIL ROUTINE

PWRDN: MOV
HALT

MOV
MOV

1 ¥PE
BR

#PWRUP , a# 24

#START ,SP
#PWRDN , @# 24

. POWER
DOAGN

SEQ 0098

: GO TO POWER UP ROUTINE AFTER THE POWER COMES BACK




CVKAAC MACYT] 30A(105 ) 09-0CT-78 08:59 PAGE 100

CVKAAC.PTT 09-0C7-78 (08:58 POWER FAIL ROUTINE SEQ 0099
3670
36?1
i .SBTTL TYPE ROUTINE
7
75 017004 132737 000040 000117 TYPE: BIIB #40 ,a#SENVM ; HAS THE CONSOLE OUTPUTS BEEN SUPPRESSED?
76 017012 001012 BNE 4% ; IF SO THEN GO TO 4%
78 0170 « 017603 (00000 MOV a(SP) ,R3 ; GET ADDRESS OF MESSAGE
%279 017020 105713 1$: TSTB (R3) : END OF MESSAGE
3081 017022 001406 BEQ 4% : YES, GO WRAP IT UP
%gg% 017024 105777 161114 3%: TSTB aTPS ; READY FOR NEXT CHARACTER ?
017030 100375 BPL 3% : NO, WAIT
36846 017032 112377 161110 MOvR (R3)+,aTF3 : LOAD AND TYPE THE CHARACTER
3685 017036 000770 BR 1% ; YES GET THE NEXT THARACTER
3687 017040 062716 000002 6%: ADD #2,(SP) ; ADJUST THE RETURN PC
36836889 017044 000006 RTT : RETURN
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CVKAAC P11 09-0CT=-78 08:58 ROUTINES TO CHECK CONDITION CODES SEQ 0100
3690 017046 003402 $CCO0: BLE 1%
91 017050 10%381 BM] 1%
9% 017052 10 BCC 2%
017054 1%:
94 817054 01%745 000366 MOV #366,-(RS)
3695 017060 005245 INC -(RS)
36 017062 000000 HALT :WRONG CC, IT SHOULD HAVE BEEN = 0
gggs 017064 000207 2%: RTS PC
;&99 017066 003402 $CC1: BLE 1%
;80 017070 100401 BM] 1%
g 1 817072 103404 BCS 2%
70 17074 1%:
3703 017074 012745 000367 MoV #367,-(RS)
704 017100 005245 INC -(RS)
705 017102 000000 HALT :WRONG CC, IT SHOULD HAVE BEEN = 1
3;89 017104 0002C7 ’%: RTS nC
3708 017106 100402 $CC2: EBM! 3
709 017710 101401 BLOS '$
710 017112 102404 BVS 2%
711 017114 1%:
;71 817114 012745 000370 MOV #370,=-(RS)
371 17120 005245 INC -(RS)
| 3714 017122 000000 HALT :WRONG C(, IT SHOULD HAVE BEEN = 2
%;}2 017124 000207 2%: RTS PC
3717 017126 100403 $CC3: B8M] 1%
3718 017130 001402 BEQ 1%
3719 017132 102001 BvC 1%
37 017134 103404 BCS 2%
721 017136 1%:
7 § 817136 012745 000371 MOV #371,=-(R5)
37 17142 005245 INC -(R5)
724 017144 000000 HALT :WRONG CC, IT SHOULD HAVE BEEN = 3
;ﬂg 017146 000207 2%: RTS PC
[
727 017150 100403 $CC4: BMI 1%
728 817152 001002 BNE 1%
7e? 017154 102401 BvVS 1%
7 017156 103004 BCC 2%
731 017160 1%:
7 017160 012745 000372 MOV #372,-(RS)
;7 017164 005245 INC -(RS)
73 017166 HALT ;WRONG CC, IT SHOULD HAVE BEEN = 4
%735 017170 000207 2%: RTS PC
;;9 017172 100403 $CCS5: BM] 1%
738 017174 001002 BNE 1%
739 017176 10§2C1 BvVS 1%
740 817200 103404 B(CS 2%
37241 (017202 1%:
Sfai 817%8% 1??45 000377 MOV #373%,-(RS)
74 17 245 INC =(R5)
766 017210 HALT ;WRONG CC, IT SHOULD HAVE BEEN = 5
2765 Q01721¢ 000207 3 3 RTS PC
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CvkaaC . P 09=0.T=7 ROUTINES TO CHECK CONDITION CODES SEQ 0101
3;2#
748 017214 100403 $CC7: BM| 1%
749 813 16 001002 BNE 1%
750 17220 10;201 Bv( 1%
751 017222 103404 BCS 2%
752 017224 1%:
375% 0172264 012745 000374 MOV 374 ,-(R5)
3754 0175 005245 INC -(RS)
3755 017232 000000 HALT . :WRONG CC, IT SHOULD HAVE BEEN = 7
3;?9 017234 000207 2%: RTS PC
758 01723 100002 $C710: BPL 1%
3759 017240 101401 BLOS 1%
3760 017242 102004 BVC 2%
3761 017244 1%:
27 017244 012745 000375 MOV #375,=(R5)
3763 017250 005245 INC -(RS)
3764 017252 000000 HALT sWRONG CC, IT SHOULD HAVE BEEN = 10
};22 017254 000207 2%: RTS PC
2
3767 017256 100003 $CC11: BPL 1%
3768 017260 001402 BEQ 1%
769 017262 102401 BVS 1%
770 017§6k 103404 BCS 2%
3771 017266 1%:
3772 017266 012745 000376 MOV #376,=(RS)
3773 017272 005245 INC -(R5)
3774 017574 000000 HALT WRONG CC, IT SHOULD HAVE BEEN = 11
%;;2 017276 000207 2%: RTS PC
3777 017300 100002 $CC12: BPL 1%
3778 017302 101401 BLOS 1%
3779 017304 102404 BVS 2%
3780 017306 1%:
3781 017306 012745 000377 MOV #377,=(R5)
3782 017312 005245 INC -(RS)
3783 (17314 000000 HALT :WRONG CC, IT SHOULD HAVE BEEN = 12
g;gg 017316 000207 2%: RTS PC
3;36 017320 100002 $C(13: BPL 1%
3787 017322 003401 BLE 1%
3788 017324 103404 B(S 2%
3786 017326 1%:
3790 017326 012745 000400 MOV #400,-7R5)
3791 017332 005245 INC -(RS)
3792 01733 000000 HALT ;WRONG ((, I7 SHOULD HAVE BEEN = 13
g;gz 017336 000207 2%: RTS PC
3795 (017340 100003 $CC17: BPL 1%
796 (017342 001002 BNE 1%
3797 (01734 102001 BV( 1%
3708 01736 103404 B(CS 2%
2796 (017350 i$:
3800 017350 012745 000407 MOV #:71,=(RS)
3801 017354 005245 INC ~(R5)
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CVKAAC.P1Y 09-0( =78 08:58 ROUTINES TO CHECK CONDITION CODES SEQ 0102
% 01735¢ 200000 HALT :WRONG CC, IT SHOULD HAVE BEEN = 17
017%C 000207 2%: RTS PC

3804
3805 D0000* END
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CVKAAC P11 09-0r1-78 (0B:58 CROSS REFERENCE TABLE =-- USER SYMBOLS SEQ 0103
ABASE = 000000 339
ACDW1 = 00000C 329
ACDWZ = 335
ACPUOP= 339 354
ADCBO 126 1293 13028
ADCB1 012400 2702 27144
ADCQ 005720 1700 1709
ADC1 014554 7181 31934
ADDWO = 000000 339
ADDW1 = 000000 239
- .
ADDW13= 000000 339
ADDW14= 000000 339
ADDW15= 000000 339
ADDWZ = 000000 339
ADDW3 = 000000 339
ADDW4 = 000000 239
ADDWS = 000000 339
ADDWE = 000000 339
ADDW?7 = 000000 239
ADDW8 = 000000 339
ADDW9 = 000000 339
ADDO 006524 1875 18374
ADD1 015414 3363 33724
ADEVCT= 000000 339 345
ADEW = 000000 230
ADR 000126 2864 387 2104 2107 2124 2219~ 2222 2248 2313 2316 2862 2903
ADR1 000130 3884 389 2105« 2108 2125 2220% 2223 2249 2314 2317 2863 2904
ADR?2 000132 390# 391 2106 2221+ 2224 2250 2315 2318
AENV = 000000 339 350 ;
AENWM = 000000 339 351 o
AFATAL= 000000 339 242 '
AMADR1= 000000 339
AMADRZ2= 000000 339
AMADR 3= 000000 339
Mgf 888%8 230
AMAMS 3= 000000 339
MSGAD; ggg 347
AMSGL G= 899“888 339 348
AMSGTY= 000000 339 341
AMTYP1= 000000 3329
AMTYP2= 000000 339
AMTYP3= 000000 339
AMTYP4= (000000 339
APASS = 000000 339 344
APRIOR= 000000 330
ASLBO 003726 1236 1245%
ASLBY 012166 2640 26524
ASLO 00552¢ 1643 16524
ASL1 014342 3116 21314
ASRBO 004016 12714
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CVKAAC.P11  09-0CT-78 08:58 CROSS REFERENCE TABLE -- USER SYMBOLS

ASKB1 0122 26784

ASRO 00561 16784

ASR1 014436 31574

ATESTNS 000000 B wus

AT = 000000 3 3¢

AVECT1= 000000 335

AVECT2= 000000 339

BICBO 003060 1048 10574

BICBT 011122 2402 24144

BICO 004630 1446 14554

BICT 13256 288, 28574

BRANCH 001110 614 6224

BTWRD 016402 3554 35644

BIT 000660 516 5234

€O 000532 448 451 «52 453 456 456 457 4S8
€1 000576 477 480 481 482  4B3  4B4 485 486
ccz 00064 499 503 504 505 506 507 508 509
cC 000714 s8¢ 5% 9 . S 19 5374
€Ca 000764 548 554 555 556 557 558 559 540
€C5 001076 508 602 604 606 608  610M

€C6 001032 575 578 579 580 581 583 S84 585
CLNZ = 000g5¢ 304 1801 3288

CMPBO 002720 1017#

cHPaT 011020 2369 23814

C 0045 14284

cMP1 013012 28354

COMBO 003336 11208

coMB1 011544 2509 25274

COMO 005132 15354

coMi 013712 30064

DOAGN 016744 3646 3649  3654# 3669

DUMMY 134 3004 393 885 886

EADDQ 1889 19214

EADDT 015710 3374 34084

EASRBO 004114 1273 12944

EASRB1 012370 2680 27034

EASR 710 1680 17014

EASR1 014544 3159 31824

EB1CO 764 1457  1487#

EBICT 013530 2899  2954#

EBTURD 016660 3566 36254

£ CMPBO 0 1019  1049#

EcupaT 011112 2383  2403#

EC 00462 1430 14474

ECMP 3246 2837  2885#

EINCBT 011334 2472 25104

EMODEQ 007316 2010 20464

EMODES 00745 2060 2088 20914

EMODE 7646 2102 2130 2133

EMODEZ 010124 2146 2202 2205

EMODES 010354 2216 2260 2263

EMODES 010524 2276 2299

EMODE7 010666 2310 2330#

459 460 461 462
4884

510 512#

5624

586 588#

SEQ 0104

LoLn
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CVKAAC.P11  09-0CT-78 08:58 CROSS REFERENCE TABLE -- USER SYMBOLS SEQ 0105
ENDCC1 000606 487 492
ENDCC 56 511 5164
ENDCC 1106 609  6la
ENDJPT 001276 652 6764
ENDP3 001502 688 734
ENDJPS 00171 740 786M
ENDJP? 002112 797 8354
ENDJSR 002526 85 9514
ENDPAS 0001 4034 3647
ENEGBO 003532 1166 11814
ENEGBT 011762 2566 25824
ENEGO gossgs 1572 15874
ENEGT 014132 3040 30604
EPSW 007132 1972 19954
EPSWNO 016372 3508 35554
EREGS 00263 96 9824
EROLBO 003624 1191 12084
EROLBT 012060 2595 26134
EROLO 005420 1597 16144
EROL1 0142 3073 30924
ERORBO 003716 1220 12374
ERORBT 012156 2623 26414
ERORO 005512 1627  1644#
ERORT 014332 3102 31204
ERRNM = 000402 3308 465  L6BA 489 4924 513 5164 538 541# 563  S66# 589 5924

611 g;g# 625 628# 630 6334 634 6374 638 6414 642 6454 657

705#
752

7604 762 7654 770 7734 774 777k 779 7824 787 7904 801 8044
806 80954 811 8144 816 8194 823 8264 829 8324 836 8394 851
8544 856 8594 865 8684 870 8734 875 8784 881 8844 871 8944
900 9034 905 9084 910 9134 916 9194 9224 925 928# 931 934n
939 9424 946 9494 952 9554 983 9864 997 10004 1026 1029# 1032
1035# 1037 10404 1043 1046# 1050 10534 1060 10634 1071 10744 1078 1081#
1095 10984 1112 11154 1132 1135 1142 11454 1150 1153 1173 11764 1182
1185# 1200 12034 1209 1212# 1228 12314 1238 12414 1248 12514 1259 12624
1281 12848 1295 1298# 1305 13084 1320 13234 1329 12324 1346 1349# 1356
1359 1366 1369 1377 13804 1399 16402# 1415 1418% 1437 14404 1442 14454
1448 14514 1467 14708 1474 14778 1488 16914 1501 1504# 1518 15214 1538
15414 1548 15514 1556 15594 1579 1582# 1588 1591# 1606 1609% 1615 16184
1635 1638# 1645 16484 1655 16584 1666 1669%# 1688 1691 1702 17054 1712
17154 1727 17304 1736 17394 1753 17564 1763 17664 1773 17768 1784 1787#
1806 1809# 1815 18184 1836 18394 1847 18504 1877 18804 1896 18994 1904
1907# 1914 19174 1922 19254 1932 19354 1942 19454 1949 1952# 1958 19614
1982 19854 1996 1999% 2017 20204 2025 2028+ 2038 20414 2047 20504 2077
20804 2092 20954 2119 2l22a 2134 21378 2155 2158% 2168 21714 2178 21814
2188 21914 2206 22094 2234 2237/ 2244 2247k 2264 22674 2291 2294 2300
23034 2323 23264 2331 2334k 2365 23684 2371 2374n 2393 23964 2398 24014
2404 24078 2417 26208 2431 2434 2438 24418 2455 24588 2460 26634 2495
2498% 2511 25144 2530 25334 2543 25468 2552 25554 2574 2577» 2583 25864
2605 2608% 2614 26174 2632 26354 2642 26458 2655 20584 2667 2670% 90
26934 2704 27078 2717 27208 2733 27368 2742 27458 2756 27598 2767 27704
2777 27804 2788 2791% 2811 28144 2846 28494 2851 28544 2870 28734 2876
2879% 2886 288%% 2913 20164 2920 29234 2929 29324 29464 955 29584
2965 2968# 2986 298% 2709 3012¢ 3020 3023¢ 3028 30314 3052 554 3061
30644 3083 30864 3093 3096# 3111 Ner 3127 3124 3134 21378 3146 31454
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CVKAAC.P11  09=0CT=78 08:58 CROSS REFERENCE TABLE == USER SYMBOLS SEQ 0106
3169  3172# 3183 31864 319 31994 3212 32154 3221 3224w 3235 32384 324
3408 3256 32508 3267 3270 3293 32964 330 ¥t 351 30 ész 35
3%65  3%¢8s 338, 33874 3391 33944 3400 34034 3420 o 329 o0 351
3454w 3457 34608 3466  346ow 3478 3481w 3494 3497 3502 35054 3507 35104
3315 3518# 3543 35464 3556 35594 3575 35784 3584 35874 3593 3596
3203% 3606  3609¢ 3616  3619% 3626 3620 3640 36434 3694 36974 3703 37
3315 37154 3722  3725# 3732 37358 3742 3745w 3753 3756w 3762 37654 377
3775¢ 3781 3784w 3790 3793 3800 38034

ESOB 016250 3,87 35144

ESUBT 016126 361 3T77H

£ SWABO 06 1827 184

ESWAB1 015264 3311 33314

ESXTO 006 1797 18144

ESXT1 015156 3283 33014

ETSTBT 011010 23,7 23704

EXORO 006514 185¢ 18764

EXORT 015404 334, 33644

GET42 016726 36488

INCBO 003200 10924

INCBT 011350 24708

INCO 004774 1486 14984

INCT 013540 2953 29624

JMP1 001202 645 6504

JmP2 001306 67  686H

JMP3 001412 710 7168

PG 001512 729 7408

JMPS 001610 760 7668

JMPA 001722 78, 7954

JMP7 002024 814 8204

SRM 002264 855  884#

JSRTST 002122 832 843

MARK 150 L0o#  BB7

MODEO 007142 1954 20084

MODE1 007226 2024 20294

MODE2 007326 2045 20584

MODE3 007464 2090 21004

MODEG 007656 2132 2144M

MODES 010134 2204  2214m

MODE6 010364 2062 2274k

MODE7 010534 2298 23084

NBIT 000544 468 4758

NEGBO 003452 11644

NEGB1 011676 2564

NEGO 005246 15708

NEG! 014036 30404

NEXT 016670 3626 36374

NOBIT 000466 437 Lase

NOP1 = 000260 334 455
587  S96a

3667
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CVKAAC.P11  09=0CT=78 08:58 CROSS REFERENCE TABLE == USER SYMBOLS SEQ 0107

ROLBO 003542 1180 11894

ROLB1 01177 2581 2593

ROLO 005336 1586 15954

ROL1 014142 3059 30714

RORBO 003634 1207 12184

RORB1 012070 2612 26214

RORO 005430 1613 16254

ROR1 014244 3091 31004

SBCBO 004256 13430

SBCB1 012536 27538

SBCO 006052 17508

SBC1 014712 2208

SENVC = 000273 333 1809 329

SEVC = 000263 3Ie 1418 1482 1865 2449 2933 2949 3353

S0B 016136 %76 34854

START 000450 L598  i34w 847 B854 868 908 923 2952 3589 3591 3603 3655 3666

SUB0 006674 1920 19294

sl 015720 427 34394

SWABO 006316 1813 18254

SwAB1 015166 3300 33094

SXT0 006230 17954

Sx11 015074 32814

TEMP 000136 4 395  716x 717« 718 729+« 730 820 827 832+ 833 96k 979
981 1460 2029 2062 2069+ 2074 2085+ 2089 2104 2110+ 2112+ 2116  2123e
2197+ 2131  D14Bx 2149 2166 2173 2181 2182 2201 2218« 2219 2239  Q2247s
5260 5279 5284, 3313 2349 2386 o421 o474 2534 2568 2815 2840 2883
5601 5675 3162 3200 3239 3377 3382 3398 3443 3445+ 3461+ 3464 3472+
$473x 3475 3530 3609+ 3612% 3614 3619+ 3621« 3623

TEMP1 000140 3068 397 766~ 767 768+ 777 782« 783 784+ 2030 2063 2105 2150
5183 2320 2280  229%% 2297 2312« 2314 2321 2328 235 2423 2447 2453
5535 5567 5625 2659 0682 2816  0B39 2849 2861+ 2873 2906 2927 2969
5013 S0446 3085 3347+ 3349 3351x 3352 3362 3407+ 3408 3444 3kk6e 3449
354« 3460+ 3531 3551+ 3553

TEMP2 000142 3084 399 2031 2032+ 2036 2044 2066 2106 2109+ 2114 2122+ 2129 2151
2153 2175 2184 2186 2203 2221 2241 2261 2278+ 2281 2288 2315 2385
5683 5721 9760 2860 2861 0880~ 296 3075 3104 3138 3161 3313 3376
3378« 3389 3394+ 3403+  3423x  342kx 3426 3587

2774 2006 247

.-"“g'e ..‘-?: ¢ Ls,
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IR 017256 1023 1082 1084 1105 1119 1147 1170 1297 1374 1478 1481 1511 1525
1553 1576 1698 1781 1811 1868 1873 1901 1992 2443 445 480 505
2548 2571 2700 2785 2926 2937 2976 3025 3049 3179 264 298 756
3361 3397 3552 3572 3613 3622 37674
$CC12 017300 1:97 1234 1256 1326 1603 1641 1663 1733 2602 2638 2664 27%9 3080
3117 3143 3218 37774
$CCi3  01732C 1102 1178 1508 1584 1955 2478 2579 2857 2973 3057 3463 37864
$CC17 01730 1989 3499 3549 37954
SCC% 017106 1383 1790 2794 3273 3708#
$CC 017126 1122 1528 2505 2996 3425 37174
$.C4 01715C 1003 1005 1265 1287 1312 1371 1405 1407 1672 1694 1719 1778 18472
1963 1985 2353 2355 2465 2488 2673 2696 2725 2782 2819 2821 3152
3175 3204 3261 7328 3471 3474 3539 37274
$CC5 017172 1107 1117 1156 1335 1420 1484 1513 1523 1562 1742 1803 186¢ 4
%gg? %;gg' 2748 2935 2951 2981 2991 3035 3227 3290 3350 3412 3416
$CC7 017214 1204 1232 1263 1285 1610 1639 1670 1692 1909 2609 2636 2671 2694
5087 3115 3150 2173 3406 274,84
$CPUOP 000124 3544
$DEVCT 000106 3454
$ENDAD 016734 302 3650%
SENV 000116 3504
$ENWM 000117 3514 3675
$ETABL 000116 3494 424
$ETEND 000126 3614 384
$FATAL 000100 3428
$4D = 000003 282 283
$HIBTS 000126 3794
$MAIL 000076 3404 380 384 426
000130 3804
$MSGAD 000112 3474
MSGLG 000114 3484
$MSGTY 000076 3414
$PASS 000104 L4 3643« 3644
$PASTM 000134 3824
$SvPC = 001000 3004 305
$SWR = 16 282 2834
$SWREG 000120 3524
$TESTN 000102 3434 435 903 977 3654
$IN = 000124 282# 3344 442 447 L4LBY 47 476 L4774 493 498 4994 519 524
525# 542 547 5484 569 574 5754 592 597 598# 618 623 624N
646 651 6524 68¢ 687 6884 736 741 7424 791 796 797# 839
844 8454 956 961 9624 990 995 996# 1013 1018 10194 1053 1058
10594 1088 1093 10942 1125 1130 11312 1160 1165 1166# 1185 1190 1191#
1214 1219 12208 1241 1246 12478 1267 1272 12732 1298 1303 13044 1339
1344 13454 1392 1397 1398#4 1424 1429 14304 1451 1456 1457# 1494 1499
15004 1531 1536 1537# 1566 1571 15724 1591 1596 15974 1621 1626 16274
1648 1653 16548 1674 1679 16804 1705 1710 17118 1746 1751 17528 1791
1796 1797# 1821 1826 1027# 850 1855 18564 1883 1888 18894 1925 1930
19314 1966 1971 19724 2004 2009 20104 2054 2059 20604 2096 2101 21024
2140 2145 21468 2210 2215 22164 2270 2275 22764 2304 2309 23104 2341
2346 23478 2377 2382 2383# 2410 2415 241648 2466 2471 24728 2523 2528
25294 2560 2565 25664 2589 2594 25954 2617 622 26234 2648 2653 26544
2674 2679 26808 2710 2715 27164 2749 2754 27554 2804 2809 2B10# 2831
283%¢ 28378 2893 2898 29994 2958 2963 2964# 3002 2007 3 3036 3041
0628 3067 3072 30734 3096 101 21028 3127 3132 2133 3153 2158 3159#




CVKAAC MACY11 30A(1052)
09-0C7~-78 08:58

CVKAAC.P1T
$TSTM 000132
SUNIT 000110
$SUNITM 000136
| sSUSWR 000122
. = 017362
i
.YVPE = 00000"
Lx = 000126
A = 016352
..B = 01635
..C = 0000e7

09-0CT=78 08:59 PAGE 111
CROSS REFERENCE TABLE == USER SYMBOLS

3194
33444
3560

296

2914
19814
3647

373
19804
1978
35514
19804

31954
32

3228
3373
35664

3233
33744
3638

3034
3974
1991#

35354
19884

35354

F 9

3234M
3435
36354

305#
19924

35384
1689

35384

3277
3440

3194
4094
35354

35484
19914

I548#

368
4114

35364

35514
1992

35514

35354

3536

35384

3539

SEQ 0109

NN

I87#
1978#
3551#

35484
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CVKAAC MACY11 30A(1052)

CYKAAC.P11

COMMEN 1»
ENDCOM L
ERROR 3}3!
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=288
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£

WNNENM—' —_ =l
EATRIERR
VION NN NI WD

SEL3
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OW
On =00

W
o
NYOO0D ~—
o

NN
E Y]
A
~Nw

3626

wWhon)— =

WOOPROON =\
OO =Ny
O HO—=N0

523

-0 00 ~W
NN =R = (N —=—=On
COON =N

M) = = =D =d b
oo~

G 9

2= 0NN =000~~~
ONAN) =N = (NN =
CONY~N0OMN) =00~

646
1267
1791
2410
3036

686

PN = b wd d b
I I T T

3

740

795

843

SEQ 0110

N
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996 1017 1057 1092 1129 1164 1189 1218 1245 1271 1302 1343 1396 1428 1433
1298 1535 1570 1595 1625 1652 1678 1709 1750 1795 1825 1856 1887 1929 1970
058 2100 2144 2214 2274 2308 2345 2381 2414 470 5527 564 593 1
652 678 714 2753 2808 2835 2897 2962 3006 3040 071 100 131 157 193
§32 3281 309 3342 3372 39 3485 3526 3564 3637
SEQUEN 160 447 476 498 524 547 574 597 623 651 87 741 796 844 92;
595 1018 1058 1093 1130 1165 1190 1219 126 1272 1303 1344 1397 1428 14
1499 1% 1571 159% 1626 1653 1679 1710 1751 1796 1826 1835 1888 1930 1971
2009 2 2 2101 Z145 2215 2275 2309 2346 2382 2413 2471 2328 565  25% 622
5653 2.5 2715 2756 2809 2836 2898 2963 3007 3041 3072 3101 132 3158 194
3233 382 310 333 3373 3440 3486 3527 3565 3638
SETPRI 4
SE TUP 4
SKIP 14
i SLASH 4
STARS 1w 2724 292 298 3164 338 365 367 374 442 444 471 473 493 495
519 521 542 544 569 571 592 59 618 620 646 648 682 684 736
738 791 793 839 841 956 958 990 992 1013 1015 1053 1055 1088 1090
1125 1127 1160 1162 1185 1187 1214 1216 1241 1243 1267 1269 1298 1300 1339
1321 1392 1394 1424 1426 1451 1453 149 1496 1531 1533 1566 1568 1591 1593
1621 1623 1648 1650 1674 1676 1705 1707 1746 1748 1791 1793 1821 1823 1850
1852 1883 1885 1925 1927 1966 1968 2004 2006 2054 2056 2096 2098 2140  214¢
2210 2212 2270 2272 2304 2306 2341 2363 2377 2379 2410 2412 2466 2468 2523
5625 5560 2562 2589 2591 2617 2619 2648 2650 2674 2676 2710 2712 2749 2731
580c o806 2831  oB33  2B93 2895 2958 2960 3002 3004 3036 3038 3067 3069 309
S098 3127 3129 3153 3155 3189 3191 3228 3230 3277 3279 3305 3307 3338 3340
338 3370 3435  3%37 3481 3483 3521 3523 3560 3562 3658
SWRSU 14
TYPBIN 1
TYPDEC 4
TYPNAM 4
TYPNUM #
| TYPOCS 14
TYPOCT #
TYPTXT 1
$C17 3078 660 696 859 894
SNWTST 3154 442 471 493 519 542 569 618 646 682 736 791 839 956
990 1013 1053 1088 1125 1160 1185 1241 1267 1298 1339 1392 1426 1451
! 149 1531 1566 1591 1621 1648 1674 1746 1791 1821 1850 1883 1925 1966
2004 205 209 2140 2210 2270 2304 2341 2377 2410 2466 2525  2x60 2383 2017
5648 o674 2710 2749 0804 2831  0B93 2958 3002 3036 3067 309 3127 3153 3189
3228 3277 3305 3338 3368 3435 3481 3521 3560
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CVKAAC.P 09-0CT=78 08:58 (ROSS REFERENCE TABLE == MACRO NAMES
SIMTA %

.$0B2D 1%

.$0820 14

301V .

.SEOP 1%

.$ERRO 1%

LSERRT 14

LMULT o ]

. SPOWE %

. SRAND o

. SRDDE i

. SRDOC 1%

.SREAD 1%

.SR2AZ ]

. $SAVE %

.$SB82D 1%

.$S820 1%

.$5COP il
.8SIZE #

- m 1’

.STRAP 14

L$TYPB 1%

LETYPD 14

.STYPE 4

JSTYPO il
.$40CA 1%

L1170 1»

. ABS., 017362 00
ERRORS DETECTED: C
CVKAAC.BIN,CVKAAC .LST/CRF/SOL/NL :TOC=CVK
T I 1% AR A C(VKAAC.SML,CVKAAC.P11
RUN-TIME RATIO: 103/33=3.0
(ORE USED: 32k (63 PAGES)

SEQ 0112




